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1999 4
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6-1

6-4

6-3

1996 3

6-2
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6.2 e
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1998

1998

1994 1998

1994 1998

QUESTIONNAIRE TO GOVERNMENT OFFICE FOR HEAVY INDUSTRY
QUESTIONNAIRE TO GOVERNMENT OFFICE FOR HEAVY INDUSTRY
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JICA
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JICA

JICA



* O ®

€Y)

@
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1994 1998
19
19
1.1
19
Questionnaire for Future Programmes
1.2
19
1.2.1
(€)) 19
19 11



1-1 19
No /
1 1980 132 9
: R
3 1986 145 7
4 1987 119 8
5 1989 125 9
6 1989 147 6
7 1990 140 9
; SR
: R
10 igg(z) 176 7
11 132(5) 127 7
12 1981 85 8
; AR
14 1974 180 8
15 1996 41 10
16 1987 137 8
17 |TQC iggg TIC 73 10
18 1981 133 5
19 1988 63 10
1990 2
4
9

19

15

16




@

1-2 1-3
1-4

1 2

No
1 g 132 1980
5 1987
7 153 1996
3| 145 1986
4 8 119 1987

CBM
No2

5 9 125 1989
6 6 147 1989
7 g 140 1990
8 1983
148 1995




No

o 1993

8 126 1998

1962

007 17 1990

1965

Wg 1990

12 8 85 1981

1972

Bl 6 169 1992

14 8 180 1974

15 1996
10 41

16 o o 1987

L7 |Tec 1968

10 73 1990

TQC




No

18 . 133 1981
19 10 63 1988
No
! 9 132
2 7 153 CAD
PLC
3 7 145
CBM

A CBM

8 119
5 9 125
6 6 147




No

! 9 140
8 7 148
9 8 126
10 7 176
1 7 127
12 85
13 6 169
14 180
)
15

10

41




No

16 8 137
practical concepts techniques
TQC
17 10 73 TQC
TQC
18 5 133
58
19 10 63
4
No
1
9 132
5
37
2 15
7 153
40
4
3 7 145 40
5
4 8 119 40
5 9 125 3
40
6
6 147
35




No

! 9 140
40
8 148
45
9 8 126
40
10 7 176 40
11
7 127 35
12 85 38
13 6 169 40
14 180
35
15
10 41 50
16
8 137 40
TQC
17 10 73
40
18
5 133 45
5
19 10 63
40

10




®

19 5 63
1-5
50
1
No
1 1980
) 1987
1996
3 1986
4 8 1987
5 1989
6 1989
7 1990
1983
8 1995
95
9 1993
1998
1962
10 1990
1965
1 1990
12 8 1981
1972
13 1992
14 8 1974
15 10 1996 3
16 1987

11




No

1968
17 |TQC 10 | 1000
18 5 |1981 — 1089
19 10 |1988
O]

19 1-6
No
g 13
TPM
2| 7 153
3| 7 s
4 FFT
8 119 -
5 9 125
6l ¢ 147
19 10
8 148
AE

%l & 12

12




No

10 7 176
1 7 127
12 85
13 6 169
14 180
15

10 41

QC
16 8 137
TQC
17 10 73 T
18 5 133 QC TPM JIT
TPM TQM IE

19 10 63 HRD

13
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®

19

1-7

1 7 19

No

10

11

14

12

13
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1.2.2

19

36

36

1-8

10

10

154
116
95
80
70
64
63
45

40
39

10

€Y)

()

37

28
TPM

26

TPM

25

16
19
18
19

15



@
@

40
1-10

40%

10

14

15

19

(b)

1-11

11

20

1.3

16

20



1.3.1

1.3.2

11 22
8
1-12 1998
1 12
1 87.8 15
2 85.2 13 11
3 85.0 10 11
4 83.1 14 11
5 82.7 19
6 82.4 17 |TQC 11
7 82.0
8 81.3
9 80.2
10 79.6 11 11
11 79.4 7
12 78.6 1
13 78.0
14 75.5 18
15 74.4 16
16 69.1 12
17 68.7 9 11
18 68.5 4
19 63.0

17




1.4

@)
1-9 1  No.3 No.6 2  No.16 No.19 3
No.18 No.19 4  No.7 No.8 1

@
1-10 No.3 4 14 15 19 5 2

1-11 No.1 2 8 9 11 5

® 6

“) 6

G.1. 5

@

OHP

(b)

OHP

() G.1. G.I. 1-4 G.1.

(D

18



0B

@ (@
®) 1-12
11 22 3 No.6 4 9
1 4
19 4
1-13 25 4 8
No.7 No.8 19 12 12
2 2 11 15 11 25
1 13 20
TPM
3 45 4
37
6 35 S
1 1 11 2
6 5 (28)
19 27 52 6
18 24 2 26
19 27 6
7 19 8 11
2
8 12 2 15 (25)
2 5 40
3 5 20

19




5 6
2
2.1
19
2.2
(€H)
@)
(€))
“) 0B
2.2.1 KITA
KITA 1980 JICA
1992
1992
JICA 22
19
JICA

20



KITA

KITA

21

0B



2.2.2

11 11 12
4
9
14
2.2.3
KITA
75
2.2.4
OB
OB
KITA

0B
0B

22

17 TQC

220

19



2.3

2.3.1

€Y)

KITA
1982

@

19

21

10

23



2.3.2

@)
KITA 19 11
1989 JICA
1999
@)
®)
2.4
@)

PPP(Polluter Pays Principle)

24



JICA ODA

@
®
0B
Q)
®
19

Plan-Do-See

25



©)

Q)

©))

©))

19

19

19

0B

26



3.1

3.2

3.2.1

27

19

3-1

3-1



3.2.2 19 2
3-2

No >
1 9 1980 181 43
2 7 1987 96 41
3 7 1986 99 37
4 8 1987 98 42
5 9 1989 90 44
6 6 1989 74 36
7 9 1990 74 43
8 7 1983 145 38
9 I 8 1993 51 41
10 I 7 1962 287 30
11 7 1965 211 30
12 8 1981 161 43
13 I 6 1972 238 35
14 I 8 1974 244 45
15 10 1996 24 24
16 8 1987 79 38
17 |TQC 11 10 1968 468 60
18 5 1981 62 26
19 10 1988 118 51
2800 747

28




1960

1970 10 o1
I 13 1 14 I 17 TQC
I 200
3.2.3
5
3-3
3-3 200

No 3
1 33

10 11 1962 287 2 31
3 30
1 27

11 11 1965 211 2 19
3 18
1 23

13 11 1972 238 2 20
3 18
1 18
2 16

14 11 1974 244 5 16
2 16
1 20
2 19

17 |TQC 11 1968 468 3 18
3 18

1997  DAC

29



3.3

3.3.1

€Y)

@

®

*

®

3.3.2

€Y)

@

30



®

@

(b)

©

(D

©

3.4

3.3.1
3.3.2

31



10 11 14

No.10 No.14
3 9
3
3 3-4
3-4
No 3
1 13
3 1986 99 2 12
3 9
1 13
4 1987 98 2 11
3 9
1 6
1 6
9 11 1993 51 3 5
3 5
3
19

32



27
11 8 18
67
4.1
2
Q) 19
) 19
4.1.1
19
10
1 19 2 18 . 10 10 11 19
9 1 11
1
19
12
4 5
4.1.2
1-8 5
/
13

33



4.2

4.2.1

14

19
82

17

47

51

15

34

19

4-1

69

4-2

79

15

49



4-1 18
No.
1 | 8 | 17 |TQC o
2 79 15 o
3 69 8 o
4 67 18 o
5 65 4 o
5 65 16 o
5 65 19 o
8 63 5 o
9 62 13 o
10 | 61 12 o
11 | 60 9 o
12 | 58 7 o
12 | 58 10 11 o
12 | 58 11 o
15 | 57 3 o
15 | 57 6 o
17 | 51 2 o
18 | 49 14 o
19 47 1 o
4-2 3

an @1s) @16) [3] [8] @1s) [6]

15 an an [8] <10> an [3]

[8] (16)/(19) | (18)/(19) an 15 [21/141/(19)| [4]1/<13>

) [ 1] < >
3

35




4.2.2

@
5
10

1 3.0

2 3.5

3 4.0

4 4.5
@

E
A 0
10

1

2

3

4.3
(€)) 19
4-1 1 17 TQC
15
2
4
19 1

36

18

F/W



14 17
3
4-2
2
6
1998
@
4-3
4.2.2
4-3
No.
45 4
3 51 2 3.0 EF/WOA
4 62 49 13 3.5 EEM A -0
33 10
> 50 7 3.0 EF/WOA
6 47 35 12 3.0 EEM O A
10 11 53 50 3 3.0 E E/W A-O
14 11 55 55 4.0 E/NE O A
19 79 52 27 4.5 EAF/W -0
19

37




5.1

€Y)
@

®

*

19

1.4(5)

1.4(4)

1992

1-9 1.4(2)  1-10

1-12 8
2.4
3.4

4.3(1)

38

JICA

4-1

4-2

5.3.6



5.3

5.3.1
() 3 6
37
3.3 3.4
6 1998
(b) 16 19
TPM
5
19
c
(©) 18 19
TPM
4
19
5
No.16  No.18
() 7 8
8
7
7
11
21

39

4 1-9
1-13 1
1999
28 16
26 18
5
No.19 No.16 No.18
25 1-13
3
12

14

15



2.4 9

5.3.2
1-12
No.15 No.13 No.10 3 No.6 No.4
No.9 3
6
1998
2 4 5
3.3 3.4
3 9 11
No.4
5.3.3
5.3.4
19
10 11 14 11
5.3.5
6 18 19
18 6 5-1

40



5-1

No.
1 17 |TQC 82 2 2 2 17 2 6
2 | 15 79 1 5 16 3 1 6
3 8 69 14 11 2 1 7 6
4 | 18 67 9 3 9 8 14 3
5 4 65 5 18 8 15 3 3
5 | 16 65 3 1 13 14 7 9
5 | 19 65 3 3 16 4 3 18
8 5 63 12 8 6 7 6 18
9 13 62 14 8 11 4 7 3
10 12 61 11 5 11 8 7 12
11 9 60 6 18 4 15 14 9
12 7 58 9 11 6 15 14 9
12 10 11 58 8 11 16 1 12 15
12 | 11 58 6 8 15 10 7 15
15 3 57 16 11 1 15 14 2
15 6 57 16 11 4 15 14 1
17 2 51 16 11 10 11 3 15
18 14 49 16 7 13 4 19 12
19 1 47 12 11 16 11 12 12

41




5.3.6

19

18

17

3.4

14

17

42

5-2
11 10

11 14

3.3



5-2

No.

3 15 13 37 3

6 15 19 37 6

16 5 15 28 16 19
19 5 5 28 | 26 19 16 18
18 4 14 26 18 19
7 12 11 25 |7

8 3 7 25| 8

17 |TQC 1 6 17

15 2 1 15

4 5 18 4

5 8 9 5

13 9 2 13

12 10 16 12

9 11 17 9

10 12 3 10

11 12 10 11

2 17 8 2

14 18 4 14

1 19 12 1
5.4

10 20
JICA

43




5.4.1

5.4.2

5.4.3

LCA

44



6.1

6.1.1

€Y)

@

6.1.2

€Y)

19
JICA
5 6-1 6-2
19
18
3 3 1
5-1 6-1 6-2 6-4 11
4-1 5-1
1-8 5
1996 3
4

45

6-4

18

12

4-3

1-9



@
(b)
©
)

@

6.2

€Y)

@

6.3

6.4

16
18

6-1 6-2 6-4

6
19
19
8
11 22
1-12
3 3 6
11
6-1 6-2 6-4 11

5.4 6-1 6-2

46

6-4

6-1

3.3 3.4

6-2

6-4



6-1

2000 3
)
6-1
Ne ( ) ( )
1 1980| 181 | 19 | 12 c
(€))
2 1987| 9 | 17 8 c
©)
3 C ) |186| 99 15 13 1 (3.0
% 3.0)
4 8 |1987| 98 5 18 B(3.0)
5 ) 1989| 90 8 9 B(3.5)
6 1989 74 | 15 | 19 1 B(3.0
) 3.0)
7 1990| 74 | 12 | 11 4 B
(€))
8 1083 145 | 3 7 4 c
©)
9 1993 51 | 11 | 17 c
(8)
10 1962| 287 | 12 3 B(3.0
% 3.0)
11 1965 211 | 12 | 10 B
©)
12 @ |1981] 161 | 10 | 16 B
13 1972| 238 | o 2 B
(6)
14 ©® |1974] 244 | 18 4 C(4.5)
15 10y | 1096| 24 2 1 B
16 1087 79 5 15 2 c 19
(8
TQC
17 10 1068| 468 | 1 6 c )
19
18 1981| 62 4 14 3 BC
®)
16 18
19 10 1088| 118 | 5 5 | 2/3 A(4.5)

47




4-3

1)
2)
3)
)
1) 4
2) |
1)
2) 2)
1)
)
3) 2) 3
1) |
)
2 2)
3)
3) |
2)
1)
2)
3) |
1)
2)
2)
3)
3)
1) |
4)
2)
5)
3)
4)
5)

48




6-2 5
1st 2nd 3rd 4th 5th
year year year year year
6-3
1st 2nd 3rd 4th 5th
year year year year year
6-4 5
1st 2nd 3rd 4th 5th
year year year year year

49




18

€Y)

@

(@) 11 22

(b)

©

EAF/WO

®

50

JICA






10

1-8
5 /
13
1
€Y)
5 1
5 100
13 5 11 4 6 3 12 2 9
1 3 5 27 4 15 3 29 2 22 1
7 35241 53241
3 29 5 21 2 22 4 15 1 7
3 31 54 28 2 11 1 2 5 4
8 10
45 40 35 3.0 4
5
@
E F/W A
0
13
E 60 F/W 27 0 9 A 4 E 5 FW 30 0 9 A
6
8

51



€Y)

(a) 53421 53412
534 5 4 60 5
2
10 4
4.5
5 3 4 2 1
10 41 24 21 8 6
a 5 3 4 1 2
4 44 24 22 6 4
(b) 54321 53421 53412
543 50 5 30 +1 3 25
3 6
4.0
5 4 3 2 1
9 29 26 25 11 9
5 3 4 2 1
b 3 38 32 16 9 5
5 3 4 1 2
6 37 33 15 10 5
(c) 534-2-1
534 45 +1 30 30

52



3.5

5 3 4 2 1
c 5 31 30 13 13 13
(d) 354-21 35-412 3-5241
3 29 5 4 40 4 15
8 2 1 7
3.0
3 5 4 2 1
8 41 27 15 15 2
2 31 28 28 11 2
3 5 2 4 1
d 1 29 27 22 15 7
3 4 5 2 1
7 36 25 20 14 5
@)
4.1.2 b
E F/W
0
(a) EF/WOA EF/WA-O
E F/W
EF/WOA 1
9 EF/WA-0O 5

53




(b) EAF/WO EAF/W-O EAOF/W

E

(c) F/W-EOA
F/W

€Y)

EAF/WO

EAOF/W

EF/WOA EF/WO-A  EF/WAO
E F/W 0 A
9 63 30 2 0
1 60 27 9 4
8 56 42 2 0
2 55 30 9 6
E F/W A 0
5 57 35 4 4
7 52 40 4 4
4
EAF/W-0 10
EAF/W-0 EAOF/W
E A F/W 0
4 50 19 17 14
10 46 28 13 13
E A 0 F/W
6 56 22 12 10
8
F/W-EOQA
F/W E 0
3 47 47 6

54



(a) 53421 53412

10 4
4.5 5
2 4 1 3 1 11
(b) 54321 53421 53412
9 3 6
5
5 1 4 2 3 1 11
(c) 534-2-1
5 3.5
5 5 1 4
3 1 11
(d) 354-21 35-421 35241 34521
8 2 1
7 3
5 1 4 1 3 2 1
@)
2 2
(a) EF/WOA EF/WA-O
1 2 8 9
5 7
(b) EAF/WO EAF/W-O EAOF/W
4 10
6
(c) F/W-EOA

F/W 47 E 47
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®

10

1 1 3
o o TQC
NC
10 i TOM
2 0.5
1.0 1.5 2.0
2.5 3.0 3.5
4.0 4.5 5.0
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1980

132

19

1992

57




1987 1996

153

58




1986

145

C(3.0)

35

59




1987

119

3.0

18

60




1989

125

(3-5)

61




1998
1999
1989 147
B(3.0)
15 19 3
35 1998 1999
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1990

140

63




1983 1995

91

64




1993 1998

75

UT,MT,PT,RT

NDT JIS

ET,SM,AE

11

18

65




10

1962 1990

84

B(3.0)

66




11

1965 1990

63

12

67




12

1981

48

12

68




13

1972 1982

78

69




14

1974

101

4.5

1974

244

70




15

10

1996

41

71




16

1987

80

19

15

26

72




17

TQC

13

1968 1990

47

17

73




18 5
19
1981 133
B C ,
14
19 24
19

74




19

1988

36

19

16

A(4.5)

19

16
16

75
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12
13
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10

1998
1998

1
1998

2

19
2

1998

76



1998

19

1994 1998
JICA

JICA

(very good, good, fair, poor, very poor)

(A/ (axb))x100
(A/ (axb))x75
(A/ (axb))x50

77



(A/ (axb))x25
(A/ (axb))x0
B
2 4 (fully met, mostly met, somewhat met, no met)
C

(C/(cxd))x100
(C/(cxd))x66
(C/(cxd))x33
(C/(cxd))x0

D

3 3 (too long, leisurely, too broad, too advance, too deep,

too short, too hard, too narrow, too elementary, not deep enough, about

right)

E
3 f e
(about right) (E/ (exf))x100
(too long, too short (E/ (exf))x0
F
(good, fair, poor)
G
3 h g
(G/(gxh))x100
(G/ (gxh))x50
(G/(gxh))x0
H

(BXb+Dxd+FxF+Hxh)/ (b+d+F+h)
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KIC

KIC

KIC

KIC

KIC
KIC

KIC

KIC
KIC

KIC

KIC

KIC
KIC

KIC
KIC

KIC
KIC

KIC

KIC

PMD

2|KITA

2|KITA
2|KITA
2|KITA
2|KITA
2|KITA

2|JIPM

HKITA

HKITA

4|KITA

2|KITA

2|KITA

2|KITA

(Zinc)
(Zinc)

(Tin)

(Tin)

TPM

PC

QC

New QC 7 Tools

TPM
TPM

TPM

No.
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KIC

KIC

KIC
KIC
KIC
KIC
KIC
KIC
KIC

KIC

KIC
KIC

KIC
KIC
KIC

KIC

KIC

KIC

KIC

KIC
KIC

KIC

KIC
KIC
KIC

KIC

2|KITA

2|KITA

4|KITA
2|KITA
2|KITA

1jJR

HKITA

2|KITA

HKITA

HKITA

2|KITA

TPM

KMOS

JR

HIP

SEM

(NC
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KIC

KIC

KIC

KIC

KIC

KIC
KIC
KIC
KIC

KIC

KIC
KIC

KIC

KIC
KIC
KIC
KIC
KIC

KIC

KIC

KIC

KIC

PMD

PMD

PMD

2|KITA

3|KITA

1jTHK

1 KTA

2|KITA

4lKITA
2|KITA

2|KITA
4|KITA

5|ASA

16

THK

CAD

(FEM)

BASIC

CAD

CAD/CAM

PID

DC

No.
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KIC
KIC

KIC

KIC
KIC

KIC

KIC

KIC
KIC

KIC
KIC

KIC

KIC
KIC
KIC

KIC
KIC
KIC
KIC
KIC

KIC

S|KITA

19

IR

DCS
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KIC
KIC
KIC
KIC
KIC
KIC
KIC
KIC
KIC
KIC
KIC
KIC
KIC
KIC

KIC
KIC
KIC
KIC
KIC

KIC
KIC

KIC

KIC

KIC

2|KITA
2|KITA

2|KITA

4|KITA

10

4lKITA

10

2|JR

HKITA

HKITA

4lKITA

CBM

CDT

TPM
TPM

No.
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No.

7 2|KITA KIC
7 14 KIC
7 4(KITA KIC
7 6 KIC
7 4 KIC
7 12 KIC
7 6|KITA KIC
7 8IKITA KIC
7 2

7 2

7 6 KIC
7 6|KITA KIC
7 2|KITA KIC
7 2

7 SEM 2

7 8

7 2

7 2|KITA KIC
7 2 KIC
7 2 KIC
7 2 KIC
7 5|KITA KIC
7 4(KITA KIC
7 4|KITA KIC
7 2|KITA KIC
7 6 KIC
7 2 KIC
7 4 KIC
7 CAD 6|ASA KIC

No.

8 16 KIC
8 12 KIC
8 6|KITA KIC
8 2 KIC
8 2|KITA KIC
8 2|KITA KIC
8 2|KITA KIC
8 2|KITA KIC
8 4|KITA KIC
8 4

8 2 KIC
8 QC 2|KITA KIC
8 QC 7 Tools 5|KITA KIC
8 2|KITA KIC
8 TPM 41JIPM KIC
8 TPM 1

8 TPM 1

8 2|KITA KIC
8 2 KIC

88
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KIC
KIC
KIC
KIC
KIC
KIC

KIC

KIC
KIC
KIC
KIC

KIC

KIC
KIC
KIC

KIC
KIC

KIC

PMD

14

7IKITA

1jJR

2|KITA

4lKITA

1{JSNDI

1jJR

uT
uT
RT
MT

AE

PT
PT
MT

AE

SM
SM
ET
ET

RT
RT

NDT

DT NDT

DT

JIS

No.

10
10
10
10

90



AL

SCS

AL

Cu, Ni

Cr

10
10
10
10

11
11

11
11
11
11
11

91

11
11
11
11
11
11

10
10
10
10
11
11
11
11
11

No.

10
10
10
10
10
10
10
10
10
10

10
10
10
10
10
10
10

10
10
10
10
10

10




10

(CVD)

PVD

JIS

CVD

TD

CvD PVD

CAD/CAM

11
11
11
11
11

11
11
11
11

No.

12
12
12
12
12
12
12
12
12
12
12
12
12
12
12
12
12
12
12
12
12
12
12
12
12
12
12
12
12

No.

13
13
13
13
13
13
13
13
13

92



10

12

15

16

13
13
13
13
13
13
13
13
13
13
13
13
13
13
13
13
13
13
13
13
13
13
13
13

No.

14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14

93



No.

15 2 KIC
15 1

15 1

15 2|KITA KIC
15 1

15 1

15 2

15 1

15 1

15 2

15 2|KITA KIC
15 1

15 2

15 2|KITA KIC
15 (TQM 2

15 1

15 1

15 1

15 1

15 2

15 1

15 2

No.

16 2

16 2

16 4{KITA KIC
16 2 KIC

94




16

KITA

KIC

16

KITA

KIC

16

QC 7 Tools

KITA

KIC

16

KITA

KIC

16

KITA

KIC

16

KITA

KIC

16

16

KITA

KIC

16

TQM

16

16

KIC

16

16

JK

16

VE

16

Sl IN]IooIN]|IoO|IBMIDMIDINIOIN]|O

KITA

KIC

16

[EN
o

KITA

KIC

16

KITA

KIC

16

TPM

16

KIC

16

16

16

New QC 7 Tools

KIC

16

16

16

KITA

KIC

16

16

16

16

16

CAD

ASA

KIC

16

QCAS

NIDIN|IPIPIRPIOINIPIOINIPIOIN]DS

KITA

KIC

No.

17

TQC

17

TQC

17

TQC

17

TQC

17

TQC

TQC

FININININ

17

TQC

17

TQC

QC

17

TQC

17

TQC

N

17

TQC

17

TQC

TPM

17

TQC

17

TQC

17

TQC

QC

17

TQC

17

TQC

HININIFPIFPININ

95




17

TQC

New QC 7 Tools

17

TQC

QC

17

TQC

17

TQC

17

TQC

17

TQC

TQC

17

TQC

TQC

17

TQC

TQC

17

TQC

NININININDINDIDIO|D

No.

18

18

18

18

DININ |

18

[EEN
\S]

18

N

18

QC

N

18

iy

18

18

18

18

18

QC

18

18

18

18

NT

NIBDINININDIDIOINIDN

18

N

18

18

18

18

TPM

18

JIT

18

JIT

18

18

HlIDIDIDINIDIDIN

No.

19

19

19

19

JIT

19

TPM

19

19

96




14

TQM

IE

HRD

TPM

19
19
19
19
19
19
19
19

19

19

19

19
19
19

97



CAD

No.
2 CAD 1
2 CAD 5|ASA KIC
2 CAD/CAM 6
12
7 CAD 6|ASA KIC
8 CAD/CAM 4|ASA KIC
13 CAD/CAM 10
16 CAD 4|ASA KIC
36
JIS
No.
10 Il JIS 2
12 JIS 2
4
JIT
No.
18 JIT 4
18 JIT 4
8
19 JIT 1
9
QC
No.
1 QC 7 Tools 6|KITA KIC
1 QCAS 2|KITA KIC
1 New QC 7 Tools 2 KIC
1 TQC 1SO 9000 1 KIC
1 TQC I1SO 9001 1
12
2 QC 2|KITA KIC
2 New QC 7 Tools 4 KIC
6
5 QC 7 Tools 4 KIC
5 QC 7 Tools 6 KIC
5 New QC 7 Tools 6 KIC
16
8 QC 2|KITA KIC
8 QC 7 Tools 5|KITA KIC
7
16 QC 7 Tools 6|KITA KIC
16 New QC 7 Tools 6 KIC
16 QCAS 2|KITA KIC
14

98




171TQC TQC 1
17|TQC QC 2
171TQC QC 2
17(TQC New QC 7 Tools 4
171TQC QC 6
17|TQC TQC 2
171TQC TQC 2
17|TQC TQC 2
21
18 QC 2
18 QC 2
4
80
SEM
No.
2 SEM 1
7 SEM 2
3
TPM
No.
1 TPM 2|KITA KIC
2 TPM 2|JIPM KIC
2 TPM 2
2 TPM 1
2 TPM 1
6
4 TPM 1KITA KIC
4 TPM 1
2
6 TPM 4|KITA KIC
8 TPM 41JIPM KIC
8 TPM 1
8 TPM 1
6
16 TPM 2
17]TQC TPM 2
18 TPM 2
19 TPM 1
19 TPM 5
3
29
TQM
No.
15 (TQM ) 2
16 TQM 2
19 TQM 2
6

99




KIC
KIC
KIC
KIC

KIC

KIC
KIC

KIC

KITA

PMD

2|KITA

34

AL

No.

10
10
10
10
10
10
10
10
10
10
10
10
10
10
10
10

11
12
12
12

14

61

KIC
KIC

KIC

KIC

No.

No.

100



KIC

KIC
KIC

KIC

KIC

KIC

KIC

KIC

KIC
KIC

KIC
KIC

KIC
KIC

KIC
KIC

KIC
KIC

KIC
KIC

KIC

KIC

KIC
KIC

KIC

KIC
KIC

2|KITA
6|KITA

4|KITA

2|KITA

4lKITA

4|KITA

HKITA

2|KITA

2|KITA

10

16
12

22

14
64

10

46

QC

IE

12

No.

16
16
16

18
18
18
18

19

No.

70

101



KIC
KIC
KIC

KIC

KIC

KIC
KIC

KIC

2|KITA
4|KITA

2|KITA

3|KITA

PMD

2|KITA

12

12

15
60
95

No.

12
14
14
14
14
14
14
14
14
14
14
14
14
14

No.

13
13

10
11

KIC
KIC

2|KITA

No.

16

17|TQC

10

102



KIC

KIC

KIC
KIC

KIC
KIC

KIC
KIC

KIC
KIC

KIC

1KTA

2|KITA

PMD

4|KITA
2|KITA
4lKITA

2|KITA

16

17

BASIC

No.

10

45

KIC
KIC
KIC

No.

15

KIC

KIC

KIC

2|CKD

10

No.

No.

14
14
14

17
19

103



KIC

KIC
KIC
KIC
KIC

KITA

1jTHK

QC

THK

No.

12

No.

17[TQC

15
18

No.

14

KIC
KIC
KIC
KIC

KIC

KIC
KIC
KIC
KIC
KIC
KIC
KIC

KIC
KIC

19

PID
DC

No.

104



3 1
3 2
3 2 KIC
3 2 KIC
3 2 KIC
54
5 12 KIC
6 6|KITA KIC
6 8
6 12 KIC
6 4 KIC
6 2|MHI KIC
6 2 KIC
6 10 KIC
6 4 KIC
48
7 6 KIC
7 12 KIC
7 6 KIC
24
8 12 KIC
8 2 KIC
14
13 2
154
No.
5 2|KITA KIC
5 2|KITA KIC
4
8 2|KITA KIC
8 2|KITA KIC
4
8
No.
2 1
4 2
3
No.
16 10[KITA KIC
18 2
12
No.
1 3IKITA KIC

105




1 1
4
2 1KITA KIC
2 1
2
3 2 KIC
8 1KITA KIC
8 1
2
12 2
12 4
12 2
12 2
12 4
12 2
12 2
18
13 8
13 4
12
40
No.
16 4|KITA KIC
16 6|KITA KIC
16 2
12
19 1
19 2
19 JIT 1
19 TQM 2
19 IE 6
19 6
19 1
19 1
19 1
19 2
19 TPM 5
19 2
27
39
No.
2 2|KITA KIC
2 2|KITA KIC

106




2 2
2 2|KITA KIC
2 2|KITA KIC
2 2
2 2 KIC
2 4|KITA KIC
2 2|KITA KIC
2 1
21
3 5|KITA KIC
4 2|KITA KIC
4 2|KITA KIC
4 2 KIC
4 1KITA KIC
4 1
4 4KITA KIC
12
5 6|KITA KIC
5 2 KIC
5 6
5 1
5 1
5 3
5 2
5 4
5 4
5 2
5 2|KITA KIC
5 2 KIC
5 2|KITA KIC
5 2|KITA KIC
39
6 3
7 6|KITA KIC
7 8|KITA KIC
14
8 6|KITA KIC
8 2 KIC
8 2|KITA KIC
8 2 KIC
8 2 KIC
8 2 KIC
8 2 KIC
18
112
No.
1 4KITA KIC
2 2|KITA KIC
2 1

107




KIC

KIC

KITA

2|KITA

13
13
13

20

KIC

KIC

KIC
KIC

KIC

KIC

KIC

2|KITA

2|KITA
2|KITA
2|KITA

4|KITA
HKITA

4lKITA

No.

14
16

23

KIC

KIC

KIC
KIC

KIC
KIC

KIC

4|R&D

No.

14
14

31

KIC

KIC
KIC

10

No.

108



KIC

KIC

37

KIC
KIC

KIC

2|KITA
4lKITA

2|KITA

No.

11
14

14

KIC
KIC
KIC
KIC

KIC

24

No.

30

109



07T

QC CAD TPM JIT TQM JIS | SEM

No. /
2 21 |12 |6 |8 7 |16 2 1 12 |7 2 6 6 5 4 2 1 2 4 1 131 22
5 12 ] 39 4 116 | 4 8 8 4 2 2 2 4 105 12
6 48 | 3 17 24 | 4 2 4 104 8
8 14 ] 18 3 |716 2 2 6 4 2 4 6 1 4 6 2 4 4 96 19
14 60 4 8 5 17 2 96 6
4 12 46 2 10 4 2 1 6 4 2 89 10
7 24 |14 2 6 |10 8 6 2 2 74 9
16 14 16 12 4 2 4 10 6 2 70 9
3 54 5 2 ] 67 5
1 8 |12 6 4 4 6 2 4 2 4 4 56 11
19 14 27 3 1 2 47 5
13 2 12 10 5 6 10 45 6
10 11 36 | 2 2 2 42 4
18 4 22 2 2 8 2 40 6
12 2 6 18 2 2 34 7
17 |TQC 21 2 2 4 29 4
11 11 2 12 2 16 3
9 4 2 5 2 |12 15 5

15
1 2 3 2
154 1112 | 95 (80 | 70 [ 64 | 63 | 45 40 1 39| 37|36 31130 ] 29| 26| 23[20]19 15 14 14121 11]10][ 10 9 8] 7 7 6 41 3 1159 153
6 7 8171 5 5 7 5 6 2 6 5 6 3 9 6 71 5] 2 3 4 6 2 2 3 3 2 2] 2 3 3 2] 2
TPM QC CAD TQM JIT JIS | SEM

No. /
2 6 12 121 |6 |7 2 1 7 2 8 16 |12 |6 [4 |2 5 2 4 2 1 1 131 22
8 6 B8] 18 |7 4 |14 |2 6 2 1 2 6 2 4 4 6 4 1 4 96 19
5 4 39 |16 2 |12 8 4 2 4 8 2 4 105 12
1 2 8 12 |1 6 2 4 4 6 4 4 4 56 11
4 2 12 1 10 4 4 |46 2 6 2 89 10
7 2 14 24 8 6 |10 6 2 2 74 9
16 2 14 4 16 4 6 2 12 10 70 9
6 4 ] 48 17 2 24 104 8
12 2 6 18 2 2 2 34 7
13 2 |12 5 10 | 6 10 45 6
14 60 4 5 8 2 17 96 6
18 2 4 22 2 2 8 40 6
3 5 54 | 2 67 5
9 4 2 5 2 2 15 5
19 3 14 2 27 1 47 5
10 11 36 2 2 2 42 4
17 |TQC 2 21 2 4 29 4
11 11 2 12 | 2 16 3

15
1 2 3 2
29 | 95 ] 112 |80 [ 63 | 23 [154 | 40 37 [ 31 ] 26 14] 70 [64] 45136 ] 20| 14130 15 10 | 10 7 6 5] 39]19] 12]11 9 8 41 3 1159 153
9 8 7171 7 7 6 6 6 6 6 6 5 5 5 5 5] 4] 3 3 3 3 3 3 3 2 2 2] 2 2 2 2] 2




177

No. QC TPM
1 110 56 54 12 8 6 6 4 4 4 4 2
(%) || 100 51 49 11 7 5 5 4 4 4 4 2
No. CAD QC TPM SEM
2 164 131 33 21 16 12 12 8 7 6 6 6 1
(%) || 200 80 20 13 10 7 7 5 4 4 4 4 1
No.
3 120 67 53 54 5 3 3 2
@) || 100 56 44 45 4 3 3 2
No. TPM
4 93 89 4 46 12 10 6 4 2 2 2 1
(%) |{ 200 96 4 49 13 11 6 4 2 2 2 1
No. QC
5 118 105 13 39 16 12 8 8 4 4 4 2
(%) || 100 89 11 33 14 10 7 7 3 3 3 2
No. TPM
6 138 104 34 48 24 17 4 4 2 2
(%) |{ 200 75 25 35 17 12 3 3 1 1
No. CAD SEM
7 129 74 55 24 14 10 8 6 2 2 2
@) || 100 57 43 19 1 8 6 5 2 2 2
No. QC TPM CAD
8 118 96 22 18 14 7 6 6 6 4 4 4
(%) |{ 200 81 19 15 12 6 5 5 5 3 3 3
No.
9 110 15 95 5 4 2 2 2
@) || 100 14 86 5 4 2 2 2
No. JIs
10 Il 72 42 30 36 2 2 2
(%) || 200 58 42 50 3 3 3




44"

No. /
11 Il 66 16 50 12 2 2
(%) || 100 24 76 18 3 3
No. / JIs
12 74 34 40 18 6 2 2 2 2
(%) || 100 46 54 24 8 3 3 3 3
No. / CAD
13 97 45 52 12 10 10 6 5 2
(%) || 100 46 54 12 10 10 6 5 2
No. /
14 109 96 13 60 17 8 5 4 2
(%) || 100 88 12 55 16 7 5 4 2
No. / TQM
15 9 3 6 2 1
(%) || 100 33 67 22 11
No. / QC CAD TPM TQM
16 106 70 36 16 14 12 10 6 4 2 2
(%) || 100 66 34 15 13 11 9 6 4 2 2
No. / QC TPM
17 [TQC 56 29 27 21 4 2 2
(%) || 100 52 48 38 7 4 4
No. / JIT QC TPM
18 90 36 54 22 8 4 2 2 2
(%) || 100 40 60 24 9 4 2 2 2
No. / TPM TQM AT
19 52 47 5 27 14 3 2 1
(%) || 100 90 10 52 27 6 4 2




100

90

80

70

No.1

100

90

80

70

60

50

No.2

113




100

90

80

70

60

50

40

30

20

10

No.3

53

54

44

100

90

80

70

60

50

40

30

20

10

No.4

44

1213

1011

114




No.5

1311

100

90

80

70

60

50

40

30

20

10

No.6

.

35

24

_|17

12

34

25

100
90
80
70
60

50

40

30

20

10
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100

90

80

70

60

50

40

30

20

10

No.7

55

24

14

10

o x>0

100

90

80

70

60

50

40

No.8

116




No.9

100 95

90 —

[ee]
D

80 —

70 — 2]

60 —

50 —

40

30 —

20 —

No.

100

90

80 -

70

60

50
50

42

40 36
30

30

20

10

117




100

No.11

90

80

70

60

50

50

40

30

20

10

18

I

100

90

80

70

60

50

40

30

20

10

No.12

54

40

118




No.13

100

90

80

70

60

50 —

40 —

30 —

20 —

10 —

50 54

12 12

10 10

O >0

10 10

D

100

90

80

70

60

50

40

30

20

10

No.14

60

55

13 1o

119




100

90

80

70

60

50

40

30

20

10

No.15

67

11

100

90

80

70

60

50

40

30

20

10

No.16

34

1615

14 13

12 11

10 9

120




100

90

80

70

60

50

40

30

20

10

No.17 TQC

48

38

100

90

80

70

60

50

40

30

20

10

No.18

60

54

121




100

90

80

70

60

50

40

30

20

10

No.19

52

n
~

14
10
i ‘-
—i @ .
T T
P Q
M M
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1A

No.1

1994

1995

1996

1997

1998

1994, 6/6-10/9

1995, 6/7--10/7

1996, 6/3--10/5

1997, 6/2--10/9

1998, 6/1--10/10

(%)

40/77 (52% )

30/71 (42%)

35/73 (148%)

29/76 (1 38% )

26/77 (33h)

33/39 (185% )

42/47 (89%)

48/50 (196% )

43/47 (91%)

42/39 (85% )

12/28 ( 43%)

8/22 (36%)

13/21 (62%)

12/28 ( 43% )

13/26 ( 50% )

0/0 (0% ) 1/1 ( 100% ) 3/3 (1100% ) 4/4 (1100% ) 6/6 (100% )
2/2 (100%) 2/2 (100 %) 2/2 (100%) 2/2 (100%) 2/2 (100%)
87/146 (61%) 82/143 (57%) 101/149 ( 68% ) 90/157 (57%) 897160 ( 56% )
48% 33 67%
11
850, 15% 895 ' o6 % 91% 850 6%
9%
0% 50%
57% o
PC

Qc

PC




144"

No.2

1994

1995

1996

1997

1998

1994, 5/30--10/28

1995, 5/29--10/26

1996, 5/27--10/25

1997, 5/26--10/26

1998, 5/25--10/24

(%)

38/81 (47%)

32/82 (38%)

26/75 (36% )

31/79 (39%%)

39/91 (43%)

31/38 (81%)

34/43 (79%)

36/41 (8% )

32/38 (84%)

32/38 (84%)

32/68 (47%)

28/55 (51% )

38/61 (63%)

34/60 (57%)

24/47 (51%)

0/1 (0%)

0/1 ( O%)

0/1 (0%)

0/1 (O%)

0/1 (0%)

2/2 (100%)

2/2 (100%)

2/2 (100%)

2/2 (100% )

2/2 (100%)

103/190 ( 58% )

96/183 ( 56% )

102/180 ( 62% )

100/178 ( 56%)

97/179 (54% )

- @E‘S%

38%

79%

51%

62%

49%

36% 64%
89% 11%
63% 37%

840/® 16%

43%
57%

43%

84%

51%

57%

16%

49%

Qc

OHP




G¢T

No.3

1998

1994

1995

1996

1997

1998, 7/6--11/27

1994, 7/4--11/24

1995, 7/3--11/22

1996, 7/1--11/21

1997, 7/7--11/29

(%)

11741 ( 26.8% )

14729 ( 48.3% )

7/37 (19% )

7/38 (18.4% )

6/31 (19.4%)

37/45 (82%)

34/40 (85% )

36/47 (76.6%)

36/47 (76.6%)

33/42 (78.6%)

18/66 ( 27% )

7/67 (10.4%)

12/67 (17.9%)

11/60 ( 18.3%)

20/72 (27.8%)

474 (100%)

5/5 ( 100% )

6/6 (100%)

5/5 ( 100% )

6/6 (100%)

2/2 (100%)

2/2 (100%)

2/2 (100%)

2/2 (100% )

2/2 (100%)

65/155 ( 41.9%)

75/151 (49.7%)

68/154 ( 44% ) 55/152 ( 36.2% ) 62/153 ( 40.5%)
82% 18% 85% 15% 77% 23% 23% 7% 21%
7%
27% 73% 10% 18% 820 28%
@ 90% b 18% @2% 72%
Gl
PLC

Gl




9¢T

No.4

1994

1995

1994, 6/27--10/23

1995, 6/26--10/21

1996

1997

1998

1996, 6/24--10/20

1997, 6/23--10/22

1998, 6/22--10/18

()

67/74 (90% )

75/80 ((94% )

62/62 ( 100% )

51/68 (75%) 39/63 (62% )
25/26 (96% ) 18/19 ( 95%) 35/35 (100%) 20/21 ( 95% ) 33/36 (92% )
31/31 (100%) 25/30 (83%) 28/32 (88% ) 27/52 (52%) 25/25 (100% )
0/0 (0%) 0/0 (0% ) 4/4 (100%) 0/0 (0% ) 0/0 (0% )
2/2/ ( 100% ) 2/2 ( 100% ) 2/2 (100%) 1/2 (50%) 1/2 (50%)
125/133 (94% ) 120/131 ( 92%) 131/135 (97% ) 99/143 ( 69% ) 98/126 ( 77%)
90% @ - 94%@% - o o 2 < o
o6k 5% 954 100% 0% o5 92% 8%
5% 5%
17% "
0% 83% 88% 524 1004 %
100@ 12% 48%
MS-DOS

PC

KIC




LT

No.5

1994

1995

1996

1997

1998

1995, 1/16--5/18

1996, 1/15--5/19

1997, 1/13--5/19

1998, 1/12--5/20

1999, 1/11--5/15

(%)

66/71 (93%)

77/77 (100% )

57/64 (87.7%)

68/71 (96% )

159/180h ( 88.3%)

24/27 (89%)

22/23 (96%)

11714 ( 78.6% )

22/24 (92% )

63/66h ( 95.5% )

20/32 (63%)

23/32 (69%)

21/38 (55.3%)

22/35 (63%)

0/0 (0%)

0/0 ( 0%)

1/1 ( 100% )

0/0 ( O%)

2/2 (100%)

2/2 (100% )

15/2 (75%)

2/2 (100% )

96/135h ( 71.1% )

112/132 ( 85% )

124/134 (93%)

91.5/119 ( 76.9% )

114/132 ( 86%)

318/381h ( 83.5% )

11% 4%
89% 96% 799 21% 92% 8% 95% 5%
63% 37% 699 31% 55% 63% 37% 1% 29%
45%
QC-
Gl QC VE




8¢T

No.6

1994

1995

1996

1997

1998

1994, 10/31--1995, 3/24

1995, 10/30--1996,3/21

1996, 10/28--1997, 3/28

1997, 10/27-- 1998, 3/27

1998, 10/26--1999, 3/21

(%)

17/97 (17.5%)

11786 ( 13% )

12/100 ( 12% )

18/93 (19% )

13.5/102.5 ( 13%)

15/25 ( 60% ) 11722 (50% ) 12/20 (60% ) 11721 (52% ) 7/15 (4T%)
1/35 (2.9%) 3/37 (8%) 1/30 ( 3.3%) 6/45 (13% ) 05/475 (1%)
0/0 (0%) 0/0 (0% ) 0/0 (0%) 0/2 (0% ) 0/0 (0%)
1/2 (50% ) 1/2 (50% ) 1/2 (50%) 1/2 (50%) 2/2 (100%)

34/159 ( 21.4%)

26/147 (18%)

26/152 (17%)

26/163 ( 16% )

23/167 (14% )

18% 82%
60% 40%
3% 97%

13% 87%
50 50%
8% 92%

12% 88%
60% 40%
3%
97%

19%

52%

13%

81%

48%

87%

13%® B

47% 53%

1% 99%




6¢T

No.7

1994 1995 1996 1997 1998
1995, 2/20--7/15 1996, 2/19--7/13 1997, 2/17--7/11 1998, 2/16--7/10 1999, 2/15--7/2
9
(%)

84/105 (80% ) 84/105 ( 80% ) 55/66 (83% ) 57/72 (79%) 163/222(hrs)(73%)
14/15 (93%) 14/15 (93% ) 25/25 ( 100% ) 20/20 ( 100% ) 68/81(hrs)(84%)
52/56 (93% ) 52/56 (93% ) 21/67 (31%) 25/66 (37%) 56/168(hrs)(33%)

0/0 (0% ) 0/0 ( O%) 3/3 (100%) 2/2 (100% )

2/2 (100%) 2/2 (100% ) 2/2 (100%) 2/2 (100 %)
152/178 ( 85% ) 152/178 ( 85h) 106/163 ( 65% ) 106/162 ( 65%) 287/471(hrs)(61%)

80%e 20%
93%@ 7%
93@ 7%

93% e

) @ 7%

100%; ; 0%

1k 69%

100%@ i
37%@ N

73% e 27%

16%
84%
33%@ "




0€T

No.8

1994

1995

1996

1997

1998

1994, 5/9--9/30

1995, 5/8--9/29

1996, 5/6--9/29

1997, 5/5--10/1

1998, 5/6--9/30

(%)

53/93 (57%)

59/99 ( 60% )

59/96 (61% )

60/95 ( 63% )

57/89 (64% )

27/30 (90% )

29/30 (97%)

24/34 (T1%)

27/35 (TT%)

32/34 (94% )

12/46 ( 26% ) 10/42 ( 24% ) 8/45 ( 18%) 13/38 (34% ) 11744 ( 25% )
0/0 (0% ) 3/3 (100% ) 2/2 (100%) 2/3 (67h) 3/3 (100%)
0/2 ( O%) 1/2 (50%) 2/4 (50h) 1/2 (50%) 1/2 (50%)

92/171 ( 54% )

102/176 ( 58%)

95/181 ( 52% )

103/173 (60%)

1047172 ( 60% )

57%

90%,

26%

43%

10%

74%

60% 40%

97%
3%

) @ N

61% 39%
20%
71%
18% 82%

63% 37%
23%
7%
34%, 6%

64%

36%
94%® )
25%

75%

KIC

OHP




TET

No.9

1994 1995 1996 1997 1998
1995, 2/27--7/2 1996, 2/26--7/6 1997, 2/24--7/4 1998, 2/23--7/3 1999, 2/22--6/27
8
(%)
42/63 (67%) 47/71 (66%) 49/70 ( 70%) 49/71 (69%) 119/192(hrs)(62%)
20/23 (87%) 24727 (89%) 22/24 (92%) 20726 (77%) 56/75(hrs)(75%)
38/42 (90%) 40742 (95%) 39743 (91%) 40744 (91%) 75/102(hrs)(73%)
6/6 (100% ) 474 (100% ) 474 (100% ) 2/2 (100% )
2/2 (100%) 2/2 (100% ) 2/2 (100% ) 2/2 (100% )
1087136 ( 89% ) 117/146 ( 90%) 116/143 (91% ) 113/145 ( 78%) 250/369(hrs)(68%)
67% 33 66% 34% 70% 30% 69% 31% 62% 38%
254
0% 10% 959 50 91% 9% 91% 9% 7a% 26%
1l 1] Gl NDI

NDT




¢eT

No.10

1994 1995 1996 1997 1998
1996, 9/2--1997, 2/28 1997,9/1--1998,2/27 1998,8/31--1999, 2/22
6 6 7
(%)
78/111(70%) 81/111(73%) 87/111(78%)
186/195(95%) 180/189(95%) 162/186(88%)
84/84(100%) 84/84(100%) 84/84(100%)
39/90(43%) 42/90(47%) 42/84(50%)
3/3(100%) 3/3(100%) 3/3(100%)
390/483(81%) 390/477(83%) 378/468(80%)
70 30% 73% 27% 78% 2%

95% 5%

100%; i 0%

95% 56

lo@ ’

87 13%

loo@ ’




€eT

No.11 I
1994 1995 1996 1997 1998
1994, 5/9--9/15 1995, 5/8--9/14 1996, 5/13--9/16 1997, 5/12--9/15 1998, 5/11--9/14
6 7 6 5 7
(%)
15/31(48%) 60/114(53%) 60/108(56%) 51/105(49%) 57/111(51%)
57/59(97%) 168/168(100%) 93/99(94%) 117/123(95%) 93/102(91%)
10/16(63%) 24/48(50%) 48/54(89%) 48/54(89%) 54/54(100%)
0 90/90(100%) 54/54(100%) 102/102(100%) 96/96(100%)
1/1(100%) 3/3(100%) 3/3(100%) 3/3(100%) 3/3(100%)
83/107(78%) 345/423(81%) 258/318(81%) 321/387(83%) 303/366(83%)
48 - 53% 51% 51 49%
) % 100% 0% 95% 5% 919 9%
50% 50% 89% 11% 100% 0%

63%®37%




VET

No.12

1994 1995 1996 1997 1998
1994, 9/12--12/8 1995, 9/11--12/7 1996, 9/6--12/5 1997, 4/14--7/7 1998, 4/13--7/6
8 11 9 8 8
(%)
10/22(45%) 12/22(55%) 30/66(45%) 72/108(67%) 30/66(45%)
46/47(98%) 48/49(98%) 132/156(85%) 18/18(100%) 132/156(85%)
6/6(100%) 8/8(100%) 24/24(100%) 69/72(96%) 24/24(100%)
1/1(100%) 1/1(100%9 3/3(100%) 48/60(80%) 3/3(100%)
1/1(100%) 1/1(100%) 3/3(100%) 3/3(100%) 3/3(100%)
64/77(83%) 81/70(86%) 192/252(76%) 210/261(80%) 192/252(76%)
45@% 559 45% 45% 55% 67% 33% 45% 55%
98% 2% 98¢ 2% 85% 15% 100% 0% 85% 15%
1004 0% 100% o% 100% % 96% 4 100% 0%




GeT

No.13

1994 1995 1996 1997 1998
1994, 9/12--1995, 3/3 1995, 9/11--1996, 3/1 1996, 9/9--1997, 2/28 1997, 9/8--2/27 1998, 9/7--1999, 2/22
6 7 8 7 7
(%)
16/28(57%) 42/90(47%) 60/105(57%) 54/105(51%) 72/117(62%)
52/66(79%) 105/138(76%) 105/147(71%) 96/147(65%) 105/135(78%)
38/50(76%) 78/96(81%) 78/90(87%) 78/84(93%) 78/84(93%)
102/138(74%) 102/144(71%) 102/144(71%) 102/138(74%)
1/1(100%) 3/3(100%) 3/3(100%) 3/3(100%) 3/3(100%)
107/145(74%) 330,465(71%) 348/489(71%) 333/483(69%) 360/477(75%)
57 43 a7 535 57% 43 51% 49% 62% 8%
214
200 ' 76% 24% 710 29% 65 @35% 78% 22%
243
76%, 13% 93% 7%
81% 19% 87% 93% -
3 3
2
CAE
JICA

Jis




9eT

No.14

1994 1995 1996 1997 1998
1994, 5/9--10/27 1995, 5/8--10/26 1996, 5/13--10/31 1997, 4/7--10/2 1998, 4/6--10/2
10 9 8 10 9
(%)
7/105(7%) 45/300(15%) 60/324(19%) 38/340(11%) 52/303(17%)
35/43(81%) 51/57(89%) 51/57(89%) 40/51(78%) 57/57(100%)
20/42(48%) 90/117(77%) 78/87(90%) 109/132(83%) 102/150(68%)
42/48(88%) 42/48(88%) 32/66(49%) 42/78(54%)
0.5/1(50%) 0/15(0%) 3/18(17%) 3/6(50%) 1/6(17%)
62.5/191(33%) 228/537(42%) 234/534(44%) 222/595(37%) 254/594(43%)
0)
48% 2%

" @23%

90%@ "

17%
83%

68%®32%




No.15
1994 1995 1996 1997 1998
1996, 10/21--11/27 1997, 10/20--11/29 1998, 10/19--11/28
(%)
75/14.5 (52% ) 18/22 (82% ) 16/23 (69% )
13/155 ( 84% ) 8/10 (1 80% ) 6/7 (85%)
0/0 ( 0%) 0/0 (0% ) 0/0 ( 0%)
1/1 (100% ) 1/2 (50% ) 2/4 (50%)
2/2 (1100% ) 2/2 (1100% ) 2/2 (1100% )
235/33 (71%) 29/36 ( 80% ) 26/36 ( 76% )
520 48% 18% 30%
824, 70
-
w
~
84% 16% 20% 14%
80% 86%
JICA
JICA




8T

No.16

1996

1997

1998

1994

1995

1996, 10/15--1997, 3/1

1997, 10/13--1998, 3/3

1998, 10/12--1999, 2/25

1994, 10/17--1995, 3/4

1995, 10/16--1996, 3/2

61/68 (90% )

72/77 (94% )

74/80 (93%)

67/74 (91% )

68/73 (93%)
18/22 (82%)

16/19 ( 84% )

13/13 (100% )

21/21 ( 100% )

20722 (91% )

40/44 (91% )

54/59 (92% )

44/44 ( 100% )

41/41 ( 100% )

47/47 ( 100% )

7/7 (100% )

474 (100%)

6/6 ( 100%)

7/8 (88%)

474 (100%)

2/2 (100%)

2/2 (100% )

2/2 (100% )

2/2 (100%)

2/2 (100% )

135/148 ( 91% )

137/152 ( 90%)

137/142 ( 96%) 145/152 ( 95%) 140/149 ( 94%)
94%@ o 93%@ 7 ors @ o 93%@ 7 90@ 10%
100%@ 0% 100@ 0% 91% @ % 82% 18% 84y 16%
100 % 100% 0% 100% ) 1% o% 2% o

1S09000




6€T

No.17 TQC

1994 1995 1996 1997 1998
1998,6/20--9/1 1997, 6/17--8/29 1998, 6/23--9/3
14 13 10
(%)
30/141(21%) 42/156(27%) 36/255(14%)
30/30(100%) 9/9(100%) 12/12(100%)
21/54(39%) 21/51(41%) 12/45(27%)
9/9(100%) 24/24(100%)
0/18(0%) 0/12(0%) 0/12(0%)
81/243(33%) 81/237(34%) 84/348(24%)
21%@ 79% 2n 73% 14% 86%
1003 0% 100% 0% 100% %
304 61 41% 504 27% 3%
2




ovT

No.18
1994 1995 1996 1997 1998
1994, 5/9--9/15 1995, 5/8--9/14 1996, 5/13--9/22 1997, 5/12--9/21 1998, 5/11--9/20
4 5 5 6 6
(%) ( (
0/68(0%) 0/42(0%) 0/205.5(0%) 0/197(0%) 20/175(11%)
2/22(9%) 1/17(6%) 6/48(13%) 3/53(5%) 55/55(100%)
0/32(0%) 0/55(0%) 0/42.5(0%) 0/35(0%) 20/55(36%)
0/2(0%) 4/20(20%) 18/60(3%) 8/60(13%) 21/78(27%)
2/2(100%) 1/1(100%) 0/4(0%) 0/4(0%) 0/3(0%)
4/126(3%) 6/135(4%) 24/360(7%) 11/349(3%) 116/366(32%)
% 100% 0% 100% % 100% 0% 100% 11% 89%
o% @ 91% 6% 94% 13% 87% 5% 95% 100% 0%
0% 100% % 100% 0% 100% 0% 100% 36 64%
oc E

OHP




4

No.19

1994 1995 1996 1997 1998
1998, 4/8--6/8 1997,4/7--6/8 1998, 4/6--6/7
10 12 12
(%)
0/24(0%) 1/27(4%) 12/93(13%)
19/21(90%) 9/9(100%) 9/9(100%)
14/18(78%) 7/22(32%) 60/63(95%)
0/2(0%) 7/16(43%) 30/30(100%)
0/1(0%) 0/2(0%) 0/3(0%)
33/66(50%) 24/76(32%) 111/198(56%)

’ @00%
go@ B
" @ B

96%
a5 '

100©0%
0,
) @ 68%

130/@87%
loov@ i

95%@ .




(44"

1994

(A/a
0 0 0
No. % / % / % / % % % % % X b)
1 6 very good | 1]16.7|very good| 1]16.7|very good|1]16.7] very good [O| O ([very good| 2 [33.3|very good| 1 [16.7|very good 3| 50 | very good | 6| 100 |very good| 1 {16.7 16 0.3 | 29.6
good 5183.3 good 5183.3 good 4166.7 good 5183.3] good 2133.3] good 4166.7] good 3| 50 good 0] O good 5(83.3 33 0.6 | 45.8
fair 0] 0 fair 0] 0 fair 1116.7| fair 1]16.7] fair 2133.3] fair 0] 0 fair 01 O fair 0] O fair o O 0.1 | 3.7
poor 0] 0 poor 0| 0 poor o o poor 0] 0 poor 0] 0 poor 1(16.7|] poor of o poor 0l O poor 0] 0 0.0 | 0.5
very poor | 0| O |very poor|0f O |very poor{0| O |very poor{O0| O [very poor|]Of O |very poor] 0| O |very poor] 0| 0O very poor | 0| O |very poor|0] O 0.0 ] 0.0
6] 100 6] 100 6| 100 6] 100 6199.9) 6 | 100 6 | 100 6] 100 6] 100 54 1.0 | 79.6
(A/a
0 0 0 0 0
No | % / % / % / % % % % % X b)
2 8 very good | 1]12.5|very good| 1|12.5|very good|1]12.5| very good | 1 [12.5(very good| 3 |37.5|very good| 4 [ 50 |very good| 6 | 75 | very good | 4| 50 |very good| 3 (37.5 24 0.3 | 33.3
good 5162.5| good 5162.5| good 5162.5 good 41 50 good 3137.5] good 2] 25 good 2] 25 good 41 50 good 41 50 34 0.5 | 35.4
fair 2| 25 fair 1]12.5] fair o o fair 1]12.5] fair 1(12.5] fair of o fair of o fair 1|12.5| fair 1(12.5 7 0.1 | 4.9
poor 1112.5 poor 1112.5 poor 1(12.5 poor 1]12.5 poor of 0 poor 0] O poor 0l O poor 0] O poor o O 4 0.1 | 1.4
very poor | 0] O |very poor{0| O [very poor{Of O | very poor|O] O |very poor]O| O |very poor] 0| O |very pooj 0] O very poor |0] O |very poor|]O| O 0 0.0 | 0.0
9113 8] 100 7187.5 7187.5 7187.5] 6| 75 8 | 100 9113 8] 100 69 1.0 | 75.0
(A/a
0 0 0
No. % / % / % / % % % % % X b)
3 8 very good | 2| 25 |very good|1]|12.5|very good| 0| O | very good| 2| 25 |very good| 3 [37.5|very good| 5 [62.5|very good 4| 50 | very good | 4| 50 |very good| 3 (37.5 24 0.3 | 33.3
good 4 50 good 5162.5 good 5162.5 good 4 50 good 3137.5 good 1]12.5 good 21 25 good 3|37.5] good 4| 50 31 0.4 | 32.3
fair 1]12.5 fair 1]12.5 fair 2| 25 fair 1]12.5| fair 1]12.5| fair 1(12.5| fair 1112.5 fair 0] O fair 1]12.5 9 0.1 | 6.3
poor 0| 0 poor 0] 0 poor 2| 25 poor 0] 0 poor 0] 0 poor of o poor of o poor 0l O poor 0] 0 2 0.0 | 0.7
very poor | 0| O |very poor|0f O |very poor{0| O |very poor{O| O [very poor|]Of O |very poor] 0| O |very poor] 0| O very poor |0]| O |very poor|0] O 0 0.0 ] 0.0
7187.5 7187.5 9113 7187.5 7187.5] 7 {87.5 7(87.5 7187.5 8] 100 66 0.9 | 72.6
(A/a
0 0 0 0 0
No | % / % / % / % % % % % X b)
4 10 very good | 1] 10 |very good| 1| 10 |very good|1| 10 | very good [O| O ([very good| 6| 60 |very good| 6 | 60 |very good 3| 30 | very good | 3| 30 |very good| 2| 20 23 0.3 | 25.6
good 6] 60 good 7170 good 71 70 good 8] 80 good 41 40 good 3] 30 good 6] 60 good 7| 70 good 71 70 55 0.6 | 45.8
fair 1] 10 fair 2| 20 fair 2| 20 fair 2| 20 fair 0] 0 fair of o fair 1| 10 fair 0l O fair 1| 10 0.1 | 5.0
poor o[ O poor o[ O poor 0] O poor o[ O poor o 0 poor 1110 poor 0l O poor 0] O poor o O 0.0 | 0.3
very poor | 0| O |very poor{0| O [very poor{Of O | very poor|O] O |very poor]O| O |very poorf 0| O |very pooj 0] O very poor |0] O |very poor|]0]| O 0.0 | 0.0
8] 80 10] 100 10{ 100 10] 100 10| 100 10| 100 10| 100 10{ 100 10| 100 88 1.0 | 76.7
(A/a
0 0 0
No. % / % / % / % % % % % X b)
5 8 very good | 0| O |very good|2]| 25 |very good| 0| O | very good | 1[12.5(very good| 5[62.5|very good| 5 [62.5|very good 7 |87.5| very good | 4| 50 |very good| 1{12.5 25 0.3 | 34.7
good 4 50 good 5162.5 good 41 50 good 3137.5] good 2| 25 good 3137.5 good 01 O good 3|37.5] good 4| 50 28 0.4 | 29.2
fair 41 50 fair 2] 25 fair 2| 25 fair 3137.5| fair 1]12.5| fair 0] 0 fair 1112.5 fair 1(12.5| fair 3|37.5 17 0.2 | 11.8
poor 0| 0 poor 0] 0 poor 1]12.5 poor 0| 0 poor 0] 0 poor of o poor of o poor 0l O poor 0] 0 0.0 | 0.3
very poor | 0| O |very poor|0f O |very poor{0| O |very poor[O| O [very poor]Of O |very poor] 0| O |very poorf 0| O very poor | 0| O |very poor|0] O 0.0 ] 0.0
81100 9113 7187.5 7187.5 8] 100 8 | 100 8 | 100 8] 100 8] 100 71 1.0 | 76.0




eVl

1994

(C/c|4 0 0 0 (E/e
No. % x d) % % % % X ) )
1 6 fully met [0] O 0 0.0 | 0.0 too long |1/16.7| leisurely |O| O | too broad |2]33.3| too advanced | 0| O too deep 1]16.7 4 0.1 0.0
mostly met | 6| 100 6 1.0 |66.0 ||about right| 3| 50 |about right| 5|83.3|about right| 4|66.7| about right | 6|100| about right |5(83.3 23 0.8 | 76.7
somewhat met | 0| O 0 0.0 | 0.0 too short |2]33.3| too hard |1]16.7| too narrow|[O| O |too elementary| 0| O |not deep enough| 0| O 8 0.1 0.0
no met of O 0 0.0 | 0.0
6] 100 6 1.0 |166.0 6] 100 6] 100 6] 100 6| 100 6] 100 30 1.0 | 76.7
(C/c|4 . (C/c
No | % x d) % % % % x d) )
2 8 fully met |1]12.§ 1 0.1 |12.5 too long |3(37.5 leisurely [0] O | too broad | 1[12.5| too advanced [ 0| O too deep o O 4 0.1 0.0
mostly met | 6| 75 6 0.8 |49.5 |labout right|5]62.5|about right] 8 100 |about right| 7|87.5| about right | 8|100| about right | 8] 100 36 0.9 | 90.0
somewhat met | 1{12.5 1 0.1 4.1 too short |O| O | too hard |O| O | too narrow|O| O |too elementary| 0| O |not deep enough| 0| O 0 0.0 0.0
no met o O 0 0.0 ] 0.0
0
8] 100 8 1.0 |66.1 8] 100 8] 100 8] 100 8] 100 8] 100 40 1.0 [ 90.0
(C/c|4 (C/c
No. % x d) % % % % x d) )
3 8 fully met |[2] 25 2 0.3 |25.0 too long |1|12.5] leisurely |O| O | too broad | 1]12.5| too advanced | 0| O too deep of o0 2 0.1 0.0
mostly met |5(62.9 5 0.6 |41.3 ||about right] 7 |87.5)about right] 7 [87.5about right| 7|87.5( about right | 8100 about right | 8] 100 37 0.9 | 92.5
somewhat met | 1[12.5 1 0.1 |4.1 too short (0] O too hard |0| O | too narrow|[O| O |too elementary| 0| O [not deep enough| 0| O 0 0.0 0.0
no met o O 0 0.0 | 0.0
81100 8 1.0 |70.4 8] 100 7187.5 8] 100 8] 100 81100 39 1.0 | 92.5
(C/c|4 (C/c
0 0
No | % x d) % % % % x d) )
4 10 fully met | 1] 10 1 0.1 |10.0 too long |4 40 | leisurely | 1] 10 | too broad (0| O | too advanced | 1| 10 too deep o O 6 0.1 0.0
mostly met | 7] 70 7 0.7 |46.2 |labout right|5]| 50 |about right] 9| 90 |about right|10] 100 | about right | 9| 90 about right [10] 100 43 0.9 | 86.0
somewhat met | 1| 10 1 0.1 ]3.3 too short | 1| 10 | too hard |O| O | too narrow|[O| O |too elementary| 0| O |not deep enough| 0| O 1 0.0 0.0
no met o O 0 0.0 ] 0.0
9] 90 9 0.9 |59.5 10{ 100 10{ 100 10] 100 10] 100 10] 100 50 1.0 | 86.0
(C/c|4 (C/c
No. % x d) % % % % x d) )
5 8 fully met |[2] 25 2 0.3 |25.0 too long |O| O | leisurely |O| O | too broad [2]| 25 | too advanced | 0| O too deep 1[12.§ 8 0.1 0.0
mostly met |5](62.§ 5 0.6 |41.3 ||about right]| 8| 100 |about right] 8| 100 |about right| 6| 75 | about right | 7|87.5 about right |7 (87.5 36 0.9 | 90.0
somewhat met | 1[12.5 1 0.1 | 4.1 too short (0| O too hard |0| O | too narrow |[O| O |too elementary| 1 |12.5|not deep enough| 0| O 1 0.0 0.0
no met o O 0 0.0 | 0.0
81100 8 1.0 |70.4 8] 100 81100 8] 100 8] 100 81100 40 1.0 [ 90.0




124"

1994

(G/g
No.
x| )
1 6 || good | 4]66.7 good 4|67 good 3|50 11 0.6 61.1
fair|2(33.3 fair 2133 fair 3150 7 0.4 19.4 A
poor | 0| O poor 0| o poor |0| O 0 0.0 0.0 a
(A/(axb))x100
(A/(axb))x75
(A/(axb))x50
6| 100 61100 61100 18 1.0 | 80.6 78.2 (A/(axb))x25
\o (E/e (A/(axb))x0
’ x f B
)| ) ) 4
2 8 |l good | 3]37.5 good 5]63| good 1|13 9 0.4 | 37.5 C
fair [ 5(62.5 fair 3|38| fair |6]|75 14 0.6 | 29.2 4 ?C/(cxd))xloo ¢
poor (0| O poor 0[O poor 1]13 1 0.0 0.0 (C/(cxd))x66
(C/(cxd))x33
(C/(cxd))x0
8] 100 8 {100 8100} 24 1.0 66.7 77.3 3 3 D
(E/e E
No. x ) ) 3 f €
(about right) (E/(exf))x100
3 8 good [ 6] 75 good 6|75 good 4150 16 0.7 66.7 (too |ong‘ too short (E/(EXf))XO
fair (2] 25 fair 2|25 fair |4(50 8 0.3 | 16.7 F
poor (0| O poor 0| o0 poor 0] o 0 0.0 0.0 G
3 h g
(G/(gxh))x100
8] 100 8 |100 8l100] 24 1.0 | 83.3 |f 79.8 (G/(gxh))x50
(G/(gxh))x0
(E/e
No.
xH| )
(Bxb+Dxd+Fxf+Hxh)/(b+d+f+h)
4 10 |[ good | 8| 80 good 8180| good 6| 60 22 0.7 | 73.3
fair| 2| 20 fair 2120 fair 3|30 7 0.2 11.7
poor (0| O poor 0[O0 poor 1]10 1 0.0 0.0
10{ 100 10100 10{100} 30 1.0 | 85.0 79.7
(E/e
No.
xB )
5 8 || good|6]| 75 good 4|50 good 2|25 12 0.5 50.0
fair| 2| 25 fair 450 fair 5|63 11 0.5 22.9
poor (0| O poor 0[O0 poor 0] o 0 0.0 0.0
8| 100 81100 7]88 23 1.0 | 72.9 79.1




1994

Sv1

(A/a

No. % / % / % / % % % % % Alx by
6 8 very good | 1]12.5|very good| 0| O |very good|0O| O | very good|[O| O [very goodl 0| O |very good| 2 | 25 |very good 4| 50 | very good |1[12.5|very good| 2| 25 10 0.1 | 13.9
good 6] 75 good 6] 75 good 2] 25 good 4 50 good 7187.5 good 41 50 good 21 25 good 5(62.5 good 2| 25 38 0.5 | 39.6
fair 1]12.5 fair 2] 25 fair 5162.5 fair 3137.5] fair 1]12.5| fair 1]12.5] fair 21 25 fair 2| 25 fair 3|37.5 20 0.3 | 13.9
poor 0| 0 poor 0] 0 poor 1]12.5 poor 1]12.5 poor |O] O poor 1[12.5 poor of o poor 0l O poor 1(12.5 4 0.1 ] 1.4
very poor [ 0| O |very poor|Of O |very poor{0| O |very poor{O| O |very poor|]O| O |very poor] 0| O |very poor] 0| O [ very poor [0]| O [very poor[O]| O 0 0.0 ] 0.0
81100 8] 100 8| 100 81100 8] 100 8 | 100 8 | 100 81100 8] 100 72 1.0 | 68.8

(A/a

0 0 0 0 0

No | % / % / % / % % % % % A|x b)
7 9 very good |0]| O |very good|0| O |very good|0O| O | very good|O| O [very good| 1[11.1|very good| 2 (22.2|very good| 4 |44.4| very good |0| O |very good| 1 (11.1 8 0.11] 9.9
good 1]11.1] good 3133.3] good 3133.3 good 3133.3] good 5155.6] good 6166.7| good 5155.6 good 7(77.8] good 3133.3 36 0.4 | 33.3
fair 6166.7] fair 3133.3] fair 3133.3 fair 4144.4 fair 3133.3] fair 1[11.1] fair of o fair 2122.2| fair 3133.3 25 0.3 | 15.4
poor 2122.2 poor 3133.3 poor 3133.3 poor 2122.2] poor of 0 poor 0] O poor 0l O poor 0] O poor 222.2 12 0.1 | 3.7
very poor | 0] O |very poor{0| O [very poor{Of O | very poor|O] O |very poor]O| O |very poor] 0| O |very pooj 0] O very poor |0] O |very poor|]O| O 0 0.0 | 0.0
9 [ 100 9{99.9 9199.9 9{99.9 91100 9 |100 9 | 100 9] 100 9199.9 81 1.0 | 62.3

(A/a

No. % / % / % / % % % % % Alx by
8 7 very good | 0| O |very good|1]|14.3|very good| 0| O | very good | 1|14.3[very good| 2 |[28_6|very good| 1 (14.3|very good 2 |28.6( very good |4|57.1|very good| 4 [57.1 15 0.2 | 23.8
good 6(85.7 good 5171.4] good 5171.4 good 5171.4] good 4157.1 good 5171.4] good 4 (57.1 good 3(42.9| good 342.9 40 0.6 | 47.6
fair 1]14.3 fair 1]14.3 fair 2128.6 fair 1114.3| fair 1]14.3] fair 1(14.3] fair 1]14.3 fair 0] O fair o O 8 0.1 | 6.3
poor 0] 0 poor 0| 0 poor o o poor 0] 0 poor |0] O poor of o poor of o poor 0l O poor 0| O 0 0.0 | 0.0
very poor [ 0| O |very poor|Of O |very poor{0| O |very poor[O| O |very poor]O| O |very poor] 0| O |very poor] 0| O [ very poor [0]| O [very poor[O]| O 0 0.0 ] 0.0
71100 71100 7100 71100 71100 7 | 100 7 | 100 71100 71100 63 1.0 | 77.8

(A/a

0 0 0 0 0

No | % / % / % / % % % % % A|x b)
9 8 very good | 0| O |very good|0| O |very good|0| O | very good| 2| 25 [very good| 0| O |very good| 1 [12.5|very good 3 |37.5| very good |1|12.5|very good| O O 7 0.1 ] 9.7
good 5162.5| good 3137.5] good 2| 25 good 2] 25 good 3137.5 good 3137.5| good 41 50 good 3|37.5 good 6| 75 31 0.4 ]32.3
fair 1]12.5] fair 3137.5] fair 41 50 fair 2| 25 fair 2|25 fair 3(37.5] fair 1(12.5 fair 3|37.5| fair 2|25 21 0.3 | 14.6
poor 2] 25 poor 2] 25 poor 2] 25 poor 2] 25 poor 3|37.5] poor 1[12.5 poor 0l O poor 1]12.5 poor o O 13 0.2 | 4.5
very poor | 0] O |very poor{0| O [very poor{Of O | very poor|Of O |very poor]O| O |very poor] 0| O |very pooj 0] O very poor |0] O |very poor|]0]| O 0 0.0 | 0.0
8 | 100 8 | 100 81100 8 | 100 8] 100 8 | 100 8 | 100 8] 100 8] 100 72 1.0 | 61.1

(A/a

0 0 0
No. % / % / % / % % % % % Alx by
10
11




vl

1994

(C/c|4 0 0 0 (C/c| 3
No. % x d) % % % % ¢ |x d )
6 fully met |1]12.5 1 0.1 |12.5 too long 25 | leisurely | 2] 25 | too broad 25 | too advanced 12.5 too deep 1[12.§ 8 0.2 0.0
mostly met | 3(37.§ 3 0.4 |24.8 ||about right 50 [about right| 3|37.5(about right| 6| 75 | about right 75 about right |5(62.5 24 0.6 | 60.0
somewhat met | 3 |37.5 3 0.4 |12.4 || too short 25 | too hard | 3]37.5| too narrow 0 |too elementary 12.5|not deep enough 25 8 0.2 0.0
no met 1(12.§ 1 0.1 0.0
8] 100 8 1.0 149.6 100 8] 100 100 100 100 40 1.0 | 60.0
(C/c|4 0 (C/c|3
No | % x d) % % % % clx dy )
7 fully met |0] O 0 0.0 | 0.0 too long 55.6] leisurely | 3(33.3] too broad 11.1| too advanced 0 too deep 0 9 0.2 0.0
mostly met | 2[22.2 2 0.2 |14.7 ||about right| 4 ]44.4]about right] 6 |66.7|about right| 6|66.7| about right | 2[22.2| about right |1]11.9 19 0.4 | 42.2
somewhat met | 6 [66.7 6 0.7 |22.0 || too short 0 | too hard |0| O | too narrow 22.2|too elementary 77.8|not deep enough| 8(88.9 17 0.4 0.0
no met 1]11.9 1 0.1 ]0.0
9] 100 9 1.0 |36.7 100 9| 100 100 100 100 45 1.0 | 42.2
(C/c|4 (C/c| 3
No. % x d) % % % % ¢|x d )
8 fully met |1]14.3 1 0.1 |14.3 too long 42.9| leisurely (0| O | too broad 14.3| too advanced 0 too deep 0 4 0.1 0.0
mostly met |5(71.4 5 0.7 |47.1 ||about right 57.1|about right{ 7| 100 |about right 85.7| about right 100| about right |6(85.7 30 0.9 | 85.7
somewhat met | 1{14.3 1 0.1 | 4.7 too short 0 too hard |[0| O | too narrow 0 |too elementary 0 |not deep enough 14.3 1 0.0 0.0
no met o O 0 0.0 | 0.0
71100 7 1.0 166.1 100 71100 100 100 100 35 1.0 | 85.7
(C/c|4 (C/c|3
0 0
No | % x d) % % % % clx dy )
9 fully met |0] O 0 0.0 | 0.0 too long 12.5| leisurely |0| O | too broad 25 | too advanced 12.5 too deep 0 4 0.1 0.0
mostly met |5]62.5 5 0.6 |41.3 |labout right| 7|87.5|about right| 7 |87.5|about right|5]62.5| about right 87.5| about right 62.9 31 0.8 | 77.5
somewhat met | 3137.5 3 0.4 |12.4 || too short 0 | too hard |1[12.5| too narrow 12.5|too elementary 0 [not deep enough| 3]37.§ 5 0.1 0.0
no met o O 0 0.0 | 0.0
8] 100 8 1.0 |53.6 100 8] 100 100 100 100 40 1.0 | 77.5
(C/c|4 (C/c| 3
No. % x d) % % % % ¢|x d )

10




1994

YT

(E/e|3
L2k ElxH| ()
6 8 || good| 4| 50 good 450 good 1]13 9 0.4 37.5
fair | 3|37.5 fair 4150 fair 5]63 12 0.5 25.0 A
poor | 1{12.5|  poor 0| 0| poor |2|25 3 0.1 | 0.0 a
(A/(axb))x100
(A/(axb))x75
(A/(axb))x50
8| 100 81100 81100 24 1.0 | 62.5 64.2 (A/(axb))x25
(E/e|3 (A/(axb))x0
No. Elx B ) B
2 4
7 9 |lgood|1]11.1] good 2122 good 1f11 4 0.1 14.8 C
fair [ 7(77.8 fair 6|67| fair |4|44 17 0.6 | 31.5 4 ?C/(cxd))xloo ¢
poor | 1]11.1 poor 1111 poor 4144 6 0.2 0.0 (C/(cxd))x66
(C/(cxd))x33
(C/(cxd))x0
9] 100 9 {100 9]100) 27 1.0 46.3 52.7 3 3 D
(E/e |3 E
No. Elx F) ) 3 f €
(about right) (E/(exf))x100
8 7 good | 2 128.6 good 3143 good 4|57 9 0.4 42.9 (too |ong‘ too short (E/(EXf))XO
fair | 4]57.1 fair 4157 fair 3|43 11 0.5 26.2 F
poor | 1]14.3 poor 0[O0 poor 0] o 1 0.0 0.0 G
3 h g
(G/(gxh))x100
7] 100 7 |100 7]100] 21 1.0 | 69.0 |f 77.9 (G/(gxh))x50
(G/(gxh))x0
No (E/e|3
] ElxH| )
(Bxb+Dxd+Fxf+Hxh)/(b+d+f+h)
9 8 |lgood|2]| 25 good 7188| good 2|25 11 0.5 | 45.8
fair | 3[37.5 fair 4150| fair |3]38 10 0.4 | 20.8
poor | 3137.5 poor 1113 poor 3|38 7 0.3 0.0
8| 100 12]150 81100 28 1.2 | 66.7 66.2
(E/e|3
L2k ElxH| ()
10
11




8v1

1994

(A/a
0 0 0
No. % % % % 0 0% % 0 X b)
11 T
No. % % % % % % % % G
x b)
12
(A/a
0 0 0
No. % % % % 0 0% % 0 X b)
13
No. % % % % % % % % G
x b)
14
(A/a
0 0 0
No. % % % % 0 0% % 0 X b)
15




6v1

1994

(C/c (C/c| 3
No | % x dy % % % % clx | ¢ )
11 11
(C/c (C/c|3
0 0
No. % X d) % % % % clx a )
12
(C/c (C/c| 3
No | % x dy % % % % clxal )
13
(C/c (C/c|3
0 0
No. % X d) % % % % ¢ lx a ()
14
(C/c (C/c| 3
No. % x d) % % % % ¢|x o )
15




0ST

1994

(E/e
No | % )
11 11
A
a
(A/(axb))x100
(A/(axb))x75
(A/(axb))x50
(A/(axb))x25
No (E/e (A/(axb))x0
] x ) B
2 4
12 C
4 d c
(C/(cxd))x100
(C/(cxd))x66
(C/(cxd))x33
(C/(cxd))x0
D
3 3
(E/e E
o, x ) 3 f e
(about right) (E/(exf))x100
13 (too long, too short (E/(exf))x0
F
G
3 h g
(G/(gxh))x100
(G/(gxh))x50
@ (G/(gxh))x0
e
No. x )
14 (Bxb+Dxd+Fxf+Hxh)/(b+d+f+h)
(E/e
No | % )
15




TGT

1994

(A/a
0 0 0
No. % / % / % / % % % % % X b)
16 8 very good | 0] O |very good| 0| O |very good|1]|12.5| very good | 2| 25 [very good| 1 [12.5|very good| 1 [12.5|very good 3 |37.5( very good |1|12.5|very good| 2| 25 11 0.2 | 15.3
good 5162.5 good 4 50 good 2| 25 good 4 50 good 6| 75 good 5162.5 good 4 50 good 5(62.5 good 5(62.9 40 0.6 | 41.7
fair 0] 0 fair 2] 25 fair 5162.5 fair 2] 25 fair 1]12.5| fair 2125 fair 1112.5 fair 2| 25 fair 1]12.5 16 0.2 | 11.1
poor 1]12.5/ poor 2| 25 poor o o poor 0| 0 poor |0] O poor of o poor of o poor 0l O poor 0] 0 0.0 | 1.0
very poor | 1]12.5|very poor|O0f O |very poor{0| O |very poor[O| O |very poor]O| O |very poor] 0| O |very poor] 0| O [ very poor [0]| O [very poor[0O]| O 0.0 | 0.0
7187.5 81100 8| 100 8] 100 8] 100 8 | 100 8 | 100 81100 8] 100 71 1.0 | 69.1
(A/a
0 0 0 0 0
No | % / % / % / % % % % % X b)
17(TQC
(A/a
0 0 0
No. % / % / % / % % % % % X b)
18
(A/a
0 0 0 0 0
No | % / % / % / % % % % % X b)
19 11 very good | 4]36.4]| very good| 3]27.3| very good| 3]27.3| very good | 5 |45.5|very good| 9 [81.8|very good| 8 72.7|very good 8 |72.7| very good |11| 100 |very good| 8 [72.7 59 0.6 | 59.6
good 6154.5| good 6154.5| good 7163.6 good 6154.5] good 2118.2] good 3127.3] good 3127.3 good of o good 31273 36 0.4 ]| 27.3
fair 1]19.1 fair 2118.2] fair 119.1 fair 0] 0 fair 0] 0 fair of o0 fair of o fair 0l O fair 0] 0 4 0.0 | 2.0
poor o[ O poor o[ O poor 0] O poor o[ O poor o O poor 0] O poor 0l O poor 0] O poor of O 0 0.0 | 0.0
very poor | 0] O |very poor{0| O [very poor{Of O | very poor|Of O |very poor]O| O |very poor] 0| O |very pooj 0] O very poor |0] O |very poor|]0]| O 0 0.0 | 0.0
11] 100 11] 100 11f 100 0 11] 100 0 11} 100 0 11] 100 0 11] 100 0 11f 100 0 11} 100 99 1.0 | 88.9




¢St

1994

(C/c|4 0 0 0 (C/c
No. % x d) % % % % x d) )
16 8 fully met [0] O 0 0.0 | 0.0 too long |3|37.5| leisurely | 1|12.5| too broad [0] O | too advanced | 0| O too deep 1(12.§ 5 0.1 0.0
mostly met | 6| 75 6 0.8 |49.5 ||about right|5|62.5)about right] 7 [87.5|about right| 8| 100 | about right | 7]87.5| about right |6| 75 38} 0.8 | 82.5
somewhat met | 1(12.5 1 0.1 |4.1 too short (0| O too hard |0 O | too narrow|[O| O |too elementary| 1|12.5/not deep enough| 1|12.§ 2 0.1 0.0
no met 1(12.§ 1 0.1 0.0
8] 100 8 1.0 |53.6 81100 8] 100 8] 100 8] 100 8] 100 40 1.0 | 82.5
(C/c|4 0 (C/c
No | % x d) % % % % x d) )
17(T1QC
(C/c|4 0 0 0 (C/c
No. % x d) % % % % x d) )
18
(C/c|4 (C/c|3
0 0
No | % x d) % % % % x d) )
19 11 fully met |4]36.4 4 0.4 |36.4 too long |[Of O | leisurely |[0] O | too broad [1]9.1| too advanced | 2 |18.2] too deep 119.1 4 0.1 0.0
mostly met | 7]63.6 7 0.6 |42.0 ||about right| 9]81.8labout right]10[90.9|about right| 981.8| about right | 8(72.7| about right |981.§ 45 0.8 | 81.8
somewhat met 0| O 0 0.0 | 0.0 too short | 2|18.2| too hard |1|9.1| too narrow| 1| 9.1|too elementary] 0| O |not deep enough| 1]9.1 5 0.1 0.0
no met o O 0 0.0 | 0.0
11{ 100 11 1.0 |78.4 11} 100 11} 100 11{ 100 10]90.9 11{ 100 54 1.0 81.8




€aT

1994

(E/e
No.
xB| )
16 8 || good| 4| 50 good 6|75 good 3|38 13 0.5 54.2
fair| 4| 50 fair 2125 fair 3|38 9 0.4 18.8 A
poor |0 © poor 0|l 0| poor |2|25 2 0.1 | 0.0 a
(A/(axb))x100
(A/(axb))x75
(A/(axb))x50
8| 100 81100 81100 24 1.0 | 72.9 72.6 (A/(axb))x25
X (E/e (A/(axb))x0
o xH () B
17(T1QC C
4 d c
(C/(cxd))x100
(C/(cxd))x66
(C/(cxd))x33
(C/(cxd))x0
D
(E/e E
- xD| () 3 f e
(about right) (E/(exf))x100
18 (too long, too short (E/(exf))x0
F
G
3 h g
(G/(gxh))x100
(G/(gxh))x50
@ (G/(gxh))x0
e
No.,
xH| )
(Bxb+Dxd+Fxf+Hxh)/(b+d+f+h)
19 11 || good | 9(81.8 good 10] 91 good 7|64 26 0.8 | 78.8
fair|2[18.2 fair 119.1] fair |4]36 7 0.2 | 10.6
poor|0] O poor 0]0 poor 0f o0 0 0.0 0.0
11{ 100 11100 11{100) 33 1.0 | 89.4 86.4




1218

1995

(A/a
0 0 0
No. % / % / % / % % % % % X b)
1 very good [O0]| O [very good|Of O |very good|{O| O | very good|1|11.1)very good| 2 [22.2|very good| 2 |22.2|very good| 4 |44_.4] very good |4 |44.4|very good| 1]11.1 14 0.2 | 17.3
good 8188.9 good 5155.6 good 3133.3 good 6166.7] good 3133.3] good 5155.6] good 4 |44 .4 good 4144.4( good 666.7 44 0.5 | 40.7
fair 1]11.1 fair 41444 fair 5155.6 fair 2122.2] fair 3133.3] fair 2122.2| fair 1]11.1 fair 1111.1 fair 2122.2 21 0.3 | 13.0
poor 0] 0 poor 0| 0 poor 1]11.1 poor 0| 0 poor 1(11.1] poor of o poor of o poor o o poor 0] o 0.0 | 0.6
very poor | 0| O |very poor|0| O |very poor{0| O | very poor |Of O |very poor] 0] O |very poor] 0| O |very poorf 0| 0 | very poor |0| O |very poor|0| O 0.0 | 0.0
9] 100 9] 100 9100 9] 100 9199.9 9 | 100 9 {99.9 9199.9 9] 100 81 1.0 | 71.6
(A/a
0 0 0 0 0
No | % / % / % / % % % % % X b)
2 very good | 2] 25 |very good| 1|12.5|very good| 3|37.5| very good | 1 [12.5|very good| 3 |37.5|very good| 3 [37.5|very good| 5 |62.5| very good |3|37.5|very good| 2| 25 23 0.3 |31.9
good 3137.5] good 5162.5| good 1]12.5] good 3137.5] good 41 50 good 3137.5| good 3137.5 good 5162.5 good 6] 75 33 0.5 |34.4
fair 2| 25 fair 1]12.5] fair 3137.5 fair 2| 25 fair 1|12.5] fair 1(12.5| fair of o0 fair o o fair 0] 0 10 0.1 | 6.9
poor o[ O poor 1112.5 poor 1(12.5 poor 2] 25 poor o O poor 1[12.5 poor 0] O poor 0] O poor o[ O 0.1 | 1.7
very poor | 0| O |very poor{0| O [very poor|{Of O | very poor|0O| O |very poor]O| O |very poor] Of O |very poorj 0| O very poor |0 O |very poor|0O] O 0.0 | 0.0
7187.5 8] 100 8| 100 8] 100 8] 100 8 | 100 8 | 100 8| 100 8] 100 71 1.0 | 75.0
(A/a
0 0 0
No. % / % / % / % % % % % X b)
3 very good [O0]| O [very good|O| O |very good|1]16.7| very good| 0| O |very good| 116.7|very good| 1 |16.7|very good] 3 | 50 | very good | 1|16.7|very good| 1]16.7 8 0.1 | 14.8
good 4166.7| good 2133.3 good 2133.3 good 3] 50 good 4166.7] good 5183.3] good 1116.7 good 5183.3| good 3] 50 29 0.5 | 40.3
fair 1]16.7 fair 3] 50 fair 3| 50 fair 2133.3] fair 1]16.7| fair 0] 0 fair 2 133.3 fair 0] 0 fair 1]16.7 13 0.2 | 12.0
poor 0| 0 poor 1]16.7] poor o o poor 0| 0 poor 0] 0 poor of o poor of o poor o o poor 0| o 0.0 | 0.5
very poor | 0| O |very poor|0| O |very poor{0| O [very poor |Of O |very poor] 0] O |very poor] 0| O |very poorf 0| 0 | very poor |0| O |very poor|0] O 0.0 | 0.0
5(83.4 6] 100 6| 100 583.3 6] 100 6 | 100 6 | 100 6| 100 5(83.4 51 0.9 | 67.6
(A/a
0 0 0 0 0
No | % / % / % / % % % % % X b)
4 very good | 0] O |very good| 0| O |very good|2]22.2| very good [O| O ([very good| 2 |22.2|very good| 2 [22.2|very good| 2 |22.2| very good |4 |44.4|very good| 3{33.3 15 0.2 | 18.5
good 7177.8] good 6166.7] good 3133.3 good 3133.3] good 5155.6] good 6 166.7| good 6 166.7 good 5155.6| good 6166.7 47 0.6 | 43.5
fair 2122.2] fair 2122.2) fair 2122.2 fair 4144.4 fair 1(11.1] fair 1[11.1] fair 1[11.1] fair o o fair 0] 0 13 0.2 | 8.0
poor 1(11.1 poor 1(11.1 poor 2122.2 poor 1]11.1f poor 111.1] poor 0] O poor 0] O poor 0] O poor o[ O 6 0.1 | 1.9
very poor | 0| O |very poor{0| O [very poor|{Of O | very poor|1]1l.1jvery poor]0| O |very poor] Of O |very poorj 0| O very poor |0 O |very poor|0O] O 1 0.0 | 0.0
10] 111 9] 100 9199.9 9199.9 9] 100 9 | 100 9 | 100 9| 100 9] 100 82 1.0 | 71.9
(A/a
0 0 0
No. % / % / % / % % % % % X b)
5 very good | 1]11.1fvery good| 2 [22.2| very good| 2]22.2| very good | 2 |22.2|very good| 5 [55.6|very good| 4 |44.4|very good| 5 |55.6| very good | 6|66.7|very good| 4 |44.4 31 0.4 | 38.3
good 41444 good 5155.6 good 3133.3 good 3133.3] good 3(33.3] good 3133.3] good 2 122.2 good 2122.2| good 3133.3 28 0.3 | 25.9
fair 3133.3 fair 1]11.1 fair 4144.4 fair 41444 fair 1]11.1 fair 2122.2| fair 1(11.1 fair 1111.1 fair 2122.7 19 0.2 | 11.7
poor 0| 0 poor 1]11.1] poor o o poor 0| 0 poor 0] 0 poor of o poor of o poor o o poor 0| o 0.0 | 0.3
very poor | 0| O |very poor|0| O |very poor{0| O |very poor |Of O |very poor] 0] O |very poor] 0| O |very poorf 0| 0 | very poor |0| O |very poor|0| O 0.0 | 0.0
8(88.8 9] 100 9199.9 9199.9 9] 100 9 {99.9 8 [88.9 9100 9199.9 79 1.0 | 76.2




GST

1995

(C/c|4 (E/e| 3
0 0 0
No. % x d) % % % % X ) )
1 fully met (0| O 0 0.0 | 0.0 too long | 1(11.1] leisurely |O| O | too broad 44 .4] too advanced 0 too deep 0 5 0.1 0.0
mostly met | 9| 100 9 1.0 |66.0 ||about right| 6]66.7|about right| 7|77.8|about right 55.6| about right 100| about right | 8]88.9 35 0.8 | 77.8
somewhat met| 0| O 0 0.0 | 0.0 too short |2]22.2[ too hard |2]22.2| too narrow 0 |too elementary 0 |not deep enough 11.1 5 0.1 0.0
no met 0] O 0 0.0 | 0.0
9| 100 9 1.0 |66.0 9| 100 9100 100 100 100 45 1.0 | 77.8
(C/c|4 0 0 (C/c|3
No | % x d) % % % % x d) )
2 fully met |1]12.5 1 0.1 |12.5 too long |1[12.5( leisurely |0O| O | too broad 25 | too advanced 12.5 too deep 12.§ 5 0.1 0.0
mostly met | 4| 50 4 0.5 |33.0 ||about right|5|62.5(about right] 7|87.5|about right 75 | about right 75 about right |5][62.5 29 0.7 | 72.5
somewhat met | 3 [37.5 3 0.4 |12.4 || too short (2| 25 | too hard |1]12.5| too narrow 0 [too elementary 12.5|not deep enough 25 6 0.2 0.0
no met o O 0 0.0 | 0.0
0
8] 100 8 1.0 |57.9 8| 100 8| 100 100 100 100 40 1.0 | 72.5
(C/c|4 (C/c| 3
No. % x d) % % % % x d) )
3 fully met | 1]16.7 1 0.2 [16.7 too long |0 O | leisurely |O| O | too broad 0 | too advanced 0 too deep 0 0 0.0 0.0
mostly met | 3| 50 3 0.5 [33.0 |[about right]5|83.3Jabout right] 6| 100 |about right 100| about right | 5|83.3] about right |2]33.3 24 0.8 | 80.0
somewhat met | 2 33.3] 2 0.3 [11.0 || too short |1|16.7] too hard |0| O | too narrow 0 |too elementary| 16.7|not deep enough 66.7 6 0.2 0.0
no met o O 0 0.0 | 0.0
6] 100 6 1.0 |60.7 6 100 6| 100 100 100 100 30 1.0 [ 80.0
(C/c|4 0 0 (C/c|3
No | % x d) % % % % x d) )
4 fully met |1]11.1 1 0.1 J11.1 too long |333.3| leisurely | 1]|11.1] too broad | 1]11.1] too advanced 0 too deep 0 5 0.1 0.0
mostly met | 4|44.4 4 0.4 |29.3 ||about right| 6|66.7[about right] 888.9|about right| 8|88.9| about right 88.9] about right 66.7] 36 0.8 | 80.0
somewhat met | 4 [44.4 4 0.4 |14.7 || too short (O] O too hard |0| O | too narrow 0 |[too elementary 11.1jnot deep enough| 3 |33.3 4 0.1 0.0
no met o O 0 0.0 | 0.0
9199.9 9 1.0 |55.1 9| 100 9| 100 100 100 100 45 1.0 [ 80.0
(C/c|4 (C/c| 3
No. % X d) % % % % x d) )
5 fully met |2]22.2 2 0.2 |22.2 too long |1(11.1] leisurely | 1|11.1] too broad | 1|11.1] too advanced 11.1 too deep 1(11.9 5 0.1 0.0
mostly met |5(55.6 5 0.6 [36.7 ||about right|7|77.8Jabout right] 7|77.8|about right| 8|88.9| about right | 7|77.8] about right 55.4 34 0.8 | 75.6
somewhat met | 1[11.1] 1 0.1 | 3.7 too short |1]11.1 too hard |1]11.1f too narrow 0 |too elementary 11.1fnot deep enough 33.3 6 0.1 0.0
no met o O 0 0.0 | 0.0
8188.9 8 0.9 |62.6 9| 100 9100 100 100 100 45 1.0 | 75.6




9GT

1995

(G/g
No.
x| )
1 good | 4 |144.4 good 78 good 11 12 0.4 44.4
fair | 5(55.6 fair 22 fair 78 14 0.5 25.9 A
poor | 0| O poor 0 poor 11 1 0.0 0.0 a
(A/(axb))x100
(A/(axb))x75
(A/(axb))x50
9100 100 100} 27 1.0 | 70.4 72.8 (A/(axb))x25
\o (E/e (A/(axb))x0
’ x f B
)| ) ) 4
2 good | 4] 50 good 75| good 25 12 0.5 | 50.0 C
fair| 4| 50 fair 25 fair 63 11 0.5 22.9 4 ?C/(cxd))xlOO ¢
poor (0| O poor 0 poor 13 1 0.0 0.0 (C/(cxd))x66
(C/(cxd))x33
(C/(cxd))x0
8] 100 100 wd 22 [10] 720 (730, , D
(E/e E
No. x ) ) 3 f e
(about right) (E/(exf))x100
3 good | 4 166.7 good 50 good 50 10 0.6 55.6 (too |()|']gI too short (E/(exf))x()
fair|2(33.3 fair 50 fair 50 8 0.4 22.2 F
poor (0| O poor 0 poor 0 0 0.0 0.0 G
3 h g
(G/(gxh))x100
6] 100 100 1000 18 1.0 | 77.8 |f 72.4 (G/(gxh))x50
(G/(gxh))x0
(E/e
No.
xH| )
(Bxb+Dxd+Fxf+Hxh)/(b+d+f+h)
4 good | 5155.6 good 67 good 44 15 0.6 | 55.6
fair | 4[44.4 fair 33| fair |4|44 11 0.4 | 20.4
poor (0| O poor 0 poor 11 1 0.0 0.0
9| 100 100 100) 27 1.0 | 75.9 73.9
(E/e
No.
xB )
5 good | 7177.8 good 89 good 33 18 0.7 66.7
fair|2(22.2 fair 11 fair 4144 7 0.3 13.0
poor (0| O poor 0 poor 11 1 0.0 0.0
9100 100 89 26 1.0 | 79.6 75.9




LST

1995

(A/a
0 0 0
No. % / % / % / % % % % % X b)
6 very good [O]| O [very good|Of O |very good| 1]14.3| very good| 0| O |very good| O O |very good| 2 |28.6[very good| 4 |57.1|] very good |1]14.3|very good| 0| O 8 0.1 | 12.7
good 4 |57.1] good 4 |57.1] good 4157.1 good 4157.1] good 3(42.9] good 2 128.6] good 3142.9 good 1{14.3] good 4 157.1) 29 0.5 | 34.5
fair 3142.9 fair 2128.6 fair 2128.6 fair 1114.3| fair 2128.6| fair 1(14.3] fair 0] o0 fair 4157.1 fair 2128.4 17 0.3 | 13.5
poor 0| 0 poor 0] 0 poor o o poor 2128.6] poor |O] O poor 1[14.3] poor of o poor 1]14.3] poor 1(14.3 5 0.1 | 2.0
very poor | 0| O |very poor|114.3|very poor|{0| O | very poor |O0f 0 |very poor| 2|28.6|very poor] 0| O |very poorf 0| 0 | very poor |0| O |very poor|0| O 3 0.0 | 0.0
71100 71100 7100 71100 71100 6 (85.8 7 | 100 7100 71100 62 1.0 | 62.7
(A/a
0 0 0 0 0
No | % / % / % / % % % % % X b)
7 very good |0| O |very good|1|11.1jvery good|0O| O | very good|O| O [very good| 3|33.3|very good| 4 |44.4|very good| 4 |44.4] very good |5|55.6/very good| 1 [11.1 18 0.2 | 22.2
good 3133.3] good 3133.3] good 3133.3 good 2122.2] good 41444 good 2122.2| good 2122.2 good 2122.2| good 6166.7 27 0.3 ]25.0
fair 5155.6| fair 5155.6] fair 5155.6 fair 6166.7] fair 1(11.1] fair 3(33.3] fair 3(33.3 fair 222.2| fair 2122.2 32 0.4 | 19.8
poor 1(11.1 poor o[ O poor 1(11.1] poor 1[11.1] poor 111.1] poor 0] O poor 0] O poor 0] O poor o[ O 4 0.0 | 1.2
very poor | 0| O |very poor{0| O [very poor|{Of O | very poor|0O| O |very poor]O| O |very poor] Of O |very poorj 0| O very poor |0 O |very poor|0O] O 0 0.0 | 0.0
9 [ 100 9 [ 100 91100 9 [ 100 91]99.9 9 199.9 9199.9 91100 9 [ 100 81 1.0 | 68.2
(A/a
0 0 0
No. % / % / % / % % % % % X b)
8 very good | 0] O |very good|0| O |very good|O| O | very good|O| O [very good| 3|37.5|very good| 2 | 25 |very good| 5 |62.5] very good |4| 50 |very good| 1{12.5 15 0.2 | 20.8
good 7187.5 good 6] 75 good 6| 75 good 7187.5] good 4| 50 good 5162.5 good 3137.5 good 41 50 good 7187.9 49 0.7 | 51.0
fair 1]12.5 fair 2] 25 fair 1112.5] fair 1]12.5| fair 1]12.5| fair 1]12.5| fair 0] o0 fair oj o fair 0] 0 7 0.1 ] 4.9
poor 0] 0 poor 0| 0 poor 1112.5 poor 0| 0 poor |0] O poor of o poor of o poor o o poor 0| 0 1 0.0 | 0.3
very poor | 0| O |very poor|0| O |very poor{0| O | very poor |Of O |very poor] 0] O |very poor] 0| O |very poorf 0| 0 | very poor |0| O |very poor|0| O 0.0 | 0.0
81100 8] 100 8| 100 81100 8] 100 8 | 100 8 | 100 8| 100 8] 100 72 1.0 | 77.1
(A/a
0 0 0 0 0
No | % / % / % / % % % % % X b)
9 very good | 1]11.1)very good| 4 |44.4]very good|2|22.2| very good | 4 |44.4{very good| 2 [22.2|very good| 2 [22.2|very good| 4 |44.4] very good | 6|66.7|very good| 3{33.3 28 0.3 | 34.6
good 8188.9] good 4144.4 good 7177.8 good 4144.4 good 5155.6] good 6 166.7| good 4 1444 good 2122.2| good 4144.4 44 0.5 | 40.7
fair 0] 0 fair 1]11.1] fair o o fair 1]11.1] fair 2122.2] fair 1[11.1] fair 1(11.1 fair 1]11.1] fair 2122.2 9 0.1 | 5.6
poor o[ O poor o[ O poor 0] O poor o[ O poor o O poor 0] O poor 0] O poor 0] O poor o[ O 0 0.0 | 0.0
very poor | 0| O |very poor{0| O [very poor|{Of O | very poor|0O| O |very poor]0| O |very poor] Of O |very poorj 0| O very poor |0 O |very poor|0O] O 0 0.0 | 0.0
9 [ 100 9{99.9 91100 9{99.9 91100 9 |100 9 199.9 91100 9{99.9 81 1.0 | 80.9
(A/a
0 0 0
No. % / % / % / % % % % % X b)

10




8GT

1995

(C/c|4 (C/c| 3
0 0 0
No. % x d) % % % % ¢ |x d )
6 fully met (0| O 0 0.0 | 0.0 too long 0 | leisurely |0]| O | too broad 57.1] too advanced 0 too deep 0 4 0.1 0.0
mostly met | 3[42.9 8 0.4 [28.3 |[about right 71.4|about right] 5|71.4|about right 42.9| about right | 685.7| about right |5(71.4 24 0.7 | 68.6
somewhat met | 4 |57.1] 4 0.6 [18.9 || too short 28.6] too hard |2]28.6| too narrow 0 |too elementary 14 .3|not deep enough 28.4 7 0.2 0.0
no met 0] O 0 0.0 | 0.0
7] 100 7 1.0 |47.1 100 7100 100 100 100 35 1.0 | 68.6
(C/c|4 0 0 (C/c|3
No | % x d) % % % % clx a )
7 fully met |1]11.1 1 0.1 J11.1 too long 33.3| leisurely | 1]|11.1] too broad 33.3| too advanced 0 too deep 22.2 9 0.2 0.0
mostly met | 6|66.7 6 0.7 |44.0 ||about right 55_6[about right] 888.9|about right| 6 |66.7| about right 66.7| about right |[6[66.7 31 0.7 | 68.9
somewhat met | 2[22.2 2 0.2 7.3 too short 11.1| too hard (0| O | too narrow 0 [too elementary 33.3|not deep enough| 1|11. 5 0.1 0.0
no met o O 0 0.0 | 0.0
9| 100 9 1.0 |62.4 100 9| 100 100 100 100 45 1.0 | 68.9
(C/c|4 (C/c| 3
No. % x d) % % % % ¢|x d )
8 fully met | 1]12.5 1 0.1 |12.5 too long 12.5] leisurely |0 O | too broad 0 | too advanced 0 too deep 0 1 0.0 0.0
mostly met | 7|87.5 7 0.9 [57.8 |[about right 87.5|about right] 8| 100 [about right 100| about right 100| about right |5]62.5 36 0.9 | 90.0
somewhat met| 0| O 0 0.0 | 0.0 too short 0 too hard (0| O | too narrow 0 |too elementary| 0 |not deep enough 37.5 8 0.1 0.0
no met o O 0 0.0 | 0.0
8] 100 8 1.0 |70.3 100 8| 100 100 100 100 40 1.0 [ 90.0
(C/c|4 0 0 (C/c|3
No | % x d) % % % % clx dy )
9 fully met |1]11.1 1 0.1 J11.1 too long 11.1| leisurely (0] 0 | too broad 11.1] too advanced 11.1 too deep 1]11.9 4 0.1 0.0
mostly met | 8|88.9 8 0.9 |58.7 |labout right 77.8labout right] 9| 100 |about right| 8|88.9| about right 88.9] about right 66.7] 38 0.8 | 84.4
somewhat met (0| O 0 0.0 | 0.0 too short 11.1| too hard (0| O | too narrow 0 [too elementary 0 [not deep enough| 2 ]22.7 3 0.1 0.0
no met o O 0 0.0 | 0.0
9| 100 9 1.0 |69.8 100 9| 100 100 100 100 45 1.0 | 84.4
(C/c|4 (C/c| 3
No. % X d) % % % % ¢|x d )

10




1995

6GT

(E/e|3
L2k ElxH| ()
6 7 || good | 3]42.9 good 4|57 good 1|14 8 0.4 38.1
fair | 3(42.9 fair 3143 fair 2129 8 0.4 19.0 A
poor | 1{14.3|  poor 0| 0| poor |4|57 5 0.2 | 0.0 a
(A/(axb))x100
(A/(axb))x75
(A/(axb))x50
71100 7 {100 71100 21 1.0 | 57.1 62.5 (A/(axb))x25
\o (el 3 (A/(axb))x0
’ E|lx f B
)| ) ) 4
7 9 |l good | 2[22.2 good 2122 good 3|33 7 0.3 | 25.9 C
fair | 7(77.8 fair 7(78| fair |6|67 20 0.7 | 37.0 4 ?C/(cxd))xloo ¢
poor (0| O poor 0[O poor 0] o 0 0.0 0.0 (C/(cxd))x66
(C/(cxd))x33
(C/(cxd))x0
9] 100 9100 olidl 27 10 les0 [[er2] |, , D
(E/e |3 E
No. Elx F) ) 3 f e
(about right) (E/(exf))x100
8 8 || good | 5]62.5 good 8100 good 4150 17 0.7 70.8 (too long, too short (E/(exf))x0
fair [3]37.5( fair oo fair |4(50 7 0.3 | 14.6 F
poor (0| O poor 0| o0 poor 0] o 0 0.0 0.0 G
3 h g
(G/(gxh))x100
8] 100 8 |100 8l100] 24 1.0 | 85.4 |f 81.7 (G/(gxh))x50
(G/(gxh))x0
No (E/e|3
] ElxH| )
(Bxb+Dxd+Fxf+Hxh)/(b+d+f+h)
9 9 |l good | 5[55.6| good 8189| good 7|78 20 0.7 | 74.1
fair | 4[44.4 fair 111 fair |2|22 7 0.3 | 13.0
poor | 3133.3 poor 0[O0 poor 0] o 3 0.1 0.0
12| 133 9 {100 91100 30 1.1 | 87.0 82.3
(E/e|3
L2k ElxH| ()
10
11




09T

1995

(A/a
0 0 0
No. % % % % 0 0% 0 % X b)
11 T
No. % % % % % % % % e
x b)
12
(A/a
0 0 0
No. % % % % 0 0% 0 % X b)
13
No. % % % % % % % % e
x b)
14
(A/a
0 0 0
No. % % % % 0 0% 0 % X b)
15




19T

1995

(C/c (c/c|3
0 0 0
No. ) D % % % % clxol )
11 11

(C/c 7 . (C/c| 3
No. % X d) % % % % clx | ¢ )
12

(c/c (c/c|3
No. % x d) % % % % c|x dy )
13

(C/c 7 . (C/c| 3
No. % X d) % % % % clxal )
14

(C/c (c/c|3
No. % x d) % % % % ¢|x o )
15




91

1995

(E/e
No. x F)
11 11
A
a
(A/(axb))x100
(A/(axb))x75
(A/(axb))x50
(A/(axb))x25
No (E/e (A/(axb))x0
] x ) B
2 4
12 Cc
4 d c
(C/(cxd))x100
(C/(cxd))x66
(C/(cxd))x33
(C/(cxd))x0
D
3 3
E/e E
o, >(< ) 3 f e
(about right) (E/(exf))x100
13 (too long, too short (E/(exf))x0
F
G
3 h g
(G/(gxh))x100
(G/(gxh))x50
e (G/(gxh))x0
No., x )
14 (Bxb+Dxd+Fxf+Hxh)/(b+d+f+h)
(E/e
No | % )
15




€91

1995

(A/a
0 0 0
No. % / % / % / % % % % % X b)
16 8 very good | 2| 25 |very good| 3|37.5|very good| 3|37.5| very good | 1 [12.5very good| 4| 50 |very good| 4 [ 50 |very good 4| 50 | very good | 6| 75 |very good| 2| 25 29 0.4 | 40.3
good 5162.5 good 4 50 good 5162.5 good 4 50 good 2| 25 good 2|25 good 41 50 good 1{12.5| good 6] 75 33 0.5 | 34.4
fair 1]12.5 fair 1]12.5 fair oj o fair 2] 25 fair 2| 25 fair 1]12.5| fair 0] o0 fair 1|12.51 fair 0] 0 8 0.1 ] 5.6
poor 0| 0 poor 0] 0 poor o o poor 1]12.5 poor |O] O poor 1(12.5| poor of o poor o o poor 0| 0 2 0.0 | 0.7
very poor | 0| O |very poor|0| O |very poor{0| O | very poor |Of O |very poor] 0] O |very poor] 0| O |very poorf 0| 0 | very poor |0| O |very poor|0] O 0.0 | 0.0
81100 8] 100 8| 100 81100 8] 100 8 | 100 8 | 100 8| 100 8] 100 72 1.0 | 80.9
(A/a
0 0 0 0
No | % / % / % / % % % % % X b)
17|TQC 13 very good | 2]15.4] very good| 4]30.8| very good| 4]30.8| very good | 2 |15.4fvery good| 8 |61.5]very good| 6 46.2|very good| 7 |53.8| very good |5|38.5|very good| 5 {38.5 43 0.4 | 36.8
good 11|84.6] good 7153.8] good 9169.2 good 10[76.9] good 4130.8] good 7153.8] good 5138.5 good 7153.8] good 8161.9 68 0.6 | 43.6
fair 2115.4] fair 2115.4] fair o o fair 1|7.7] fair 1(7.7] fair of o fair 1(7.7 fair 117.7 fair 0] 0 8 0.1 | 3.4
poor o[ O poor o[ O poor 0] O poor o[ O poor o O poor 0] O poor 0] O poor 0] O poor o[ O 0 0.0 | 0.0
very poor | 0| O |very poor{0| O [very poor|{Of O | very poor|0O| O |very poor]O| O |very poor] Of O |very poorj 0| O very poor |0 O |very poor|0O] O 0 0.0 | 0.0
15| 115 13] 100 13| 100 13] 100 13| 100 13] 100 13] 100 13| 100 13] 100 119 1.0 | 83.8
(A/a
0 0 0
No. % / % / % / % % % % % X b)
18
(A/a
0 0 0 0
No | % / % / % / % % % % % X b)
19 11 very good | 3]27.3|very good| 3]27.3|very good| 3]27.3| very good | 4 [36.4{very good| 4 |36.4|very good| 6 [54.5|very good| 7 |63.6] very good [10[90.9|very good| 7 [63.§ 47 0.5 | 47.5
good 6154.5| good 7163.6] good 4136.4 good 4136.4] good 7163.6] good 5145.5 good 41364 good 119.1 good 3127.3 41 0.4 |31.1
fair 1]19.1 fair 1]19.1 fair 4136.4 fair 3127.3] fair 0] 0 fair of o fair of o0 fair o o fair 0] 0 9 0.1 | 4.5
poor o[ O poor o[ O poor 0] O poor o[ O poor o O poor 0] O poor 0] O poor 0] O poor 119.1 1 0.0 | 0.3
very poor | 0| O |very poor{0| O [very poor|{Of O | very poor|0O| O |very poor]0| O |very poor] Of O |very poorj 0| O very poor |0 O |very poor|0O] O 0.0 | 0.0
10]90.9 11] 100 11f 100 0 11] 100 0 11} 100 0 11] 100 0 11] 100 0 11f 100 0 11] 100 98 1.0 | 83.3




¥91

1995

(C/c|4 (C/c
0 0 0
No. % x d) % % % % x d) )
16 8 fully met |1]12.5 1 0.1 [12.5 too long | 1(12.5| leisurely | 1{12.5| too broad [ 0| O | too advanced | 0| O too deep o O 2 0.1 0.0
mostly met | 6| 75 6 0.8 [49.5 ||about right|5|62.5]about right] 7|87.5|about right| 8 |100| about right | 7|87.5 about right | 337.5 30 0.8 | 75.0
somewhat met | 1[12.5 1 0.1 | 4.1 too short |[2]| 25 | too hard [0] O | too narrow|O| O |too elementary| 1|12.5/not deep enough| 5 |62.H 8 0.2 0.0
no met 0] O 0 0.0 | 0.0
8] 100 8 1.0 |66.1 8| 100 8| 100 8] 100 8] 100 8] 100 40 1.0 [ 75.0
(C/c|4 (C/c
No | % x d) % % % % x d) )
17|TQC 13 fully met |1]7.7 1 0.11]7.7 too long (0| O | leisurely |O| O | too broad | 2]15.4] too advanced | 2 [15.4 too deep 117.7 5 0.1 0.0
mostly met [11|84.6| 11 0.8 |55.8 ||about right|10]{76.9|about right] 7 |53.8|about right|10]|76.9| about right [10{76.9| about right |8]61.§ 45 0.7 | 69.2
somewhat met (0| O 0 0.0 | 0.0 too short |3]23.1] too hard |6|46.2| too narrow| 0| O |too elementary] 0| O |not deep enough| 4|30.8 13 0.2 0.0
no met o O 0 0.0 | 0.0
12]92.3] 12 0.9 |63.5 13{ 100 13{ 100 12192.3 12]92.3 13] 100 63 1.0 | 69.2
(C/c|4 (C/c
0 0 0
No. % x d) % % % % x d) )
18
(C/c|4 0 0 (C/c|3
No | % x d) % % % % x d) )
19 11 fully met |1]9.1 1 0.1 ]9.1 too long (0| O | leisurely |1]9.1| too broad [0] O | too advanced | 0| O too deep o O 1 0.0 0.0
mostly met | 9]81.8] 9 0.8 |54.0 ||about right| 8|72.7[about right]10/90.9|about right|10]|90.9| about right [10{90.9| about right |10]/90.9 48 0.9 | 87.3
somewhat met|1]9.1 1 0.1 ]3.0 too short |2]18.2| too hard [0| O | too narrow|1]9.1|too elementary| 1]9.1|not deep enough| 1|9.1 5 0.1 0.0
no met o O 0 0.0 | 0.0
11{ 100 11 1.0 |66.1 10]90.9 11} 100 11] 100 11] 100 11{ 100 54 1.0 87.3




S9T

1995

(E/e
No.
xB| )
16 8 || good|2]| 25 good 7188 good 3|38 12 0.5 50.0
fair|5(62.5 fair 1113 fair 4150 10 0.4 20.8 A
poor | 1{12.5|  poor 0|l 0| poor |1f13 2 0.1 | 0.0 a
(A/(axb))x100
(A/(axb))x75
(A/(axb))x50
8| 100 81100 81100 24 1.0 | 70.8 76.8 (A/(axb))x25
N (E/e|3 (A/(axb))x0
o xH () B
17(T1QC 13 || good | 6 |46.2, good 111 85| good |4]31 21 0.5 | 53.8 C
fair | 7(53.8 fair 2|15| fair |8]62 17 0.4 | 21.8 4 ?C/(cxd))xloo ¢
poor (0| O poor 0[O poor 117.7) 1 0.0 0.0 (C/(cxd))x66
(C/(cxd))x33
(C/(cxd))x0
13| 100 13]100! 131100 39 1.0 75.6 77.2 D
(E/e |3 E
No. x ) ) 3 f e
(about right) (E/(exf))x100
18 (too long, too short (E/(exf))x0
F
G
3 h g
(G/(gxh))x100
(G/(gxh))x50
(G/(gxh))x0
No (E/e|3
] xH| )
(Bxb+Dxd+Fxf+Hxh)/(b+d+f+h)
19 11 || good | 7 |63.6 good 8]|73| good 5| 46 20 0.6 | 60.6
fair | 4(36.4 fair 3|27| fair |6]|55 13 0.4 | 19.7
poor (0| O poor 0[O0 poor 0] 0 0 0.0 0.0
11{ 100 11100 11{100) 33 1.0 | 80.3 83.0




991

1996

(A/a
0 0 0 0
No. % / % / % / % % % % % X b)
1 very good | 2]22.2|very good| 3]33.3|very good|2]22.2| very good | 2 |22.2[very good| 5 [55.6|very good| 5 [55.6[very good 5 |55.6] very good |6|66.7|very good| 4 |44.4 34 0.4 | 42.0
good 666.7 good 5155.6 good 3133.3 good 5155.6] good 2(22.2] good 3133.3] good 3133.3 good 3133.3| good 2122.72 32 0.4 | 29.6
fair 1]11.1 fair 1]11.1 fair 3133.3 fair 1]11.1f fair 212221 fair 1(11.1] fair 1(11.1 fair ol o fair 3133.3 13 0.2 | 8.0
poor 0] 0 poor 0| 0 poor 1]11.1 poor 1]11.1] poor 0] 0 poor of o poor of o poor o o poor 0] 0 0.0 | 0.6
very poor | 0| O |very poor|Of O |very poor{0| O |very poor{O| O |very poor|]Of O |very poor] 0| O |very poor] 0| O | very poor [0 O [very poor[O| O 0.0 | 0.0
9] 100 9] 100 9199.9 9] 100 9] 100 9 | 100 9 | 100 9| 100 9199.9 81 1.0 | 80.2
(A/a
0 0 0 0
No | % / % / % / % % % % % X b)
2 very good | 555.6|very good| 4 |44.4] very good|5|55.6| very good | 4 |44.4{very good| 7 |77.8|very good| 6 |66.7|very good| 7 |77.8| very good |8|88.9|very good| 5 |55.6 51 0.6 | 63.0
good 4144.4 good 5155.6] good 3133.3 good 5155.6] good 1]11.1] good 3133.3] good 2122.2 good 1111.1] good 3133.3 27 0.3 ]25.0
fair 0] 0 fair 0] 0 fair o o fair 0] 0 fair 1(11.1] fair of o fair of o fair ol o fair 1]11.9 2 0.0 | 1.2
poor o[ O poor o[ O poor 0] O poor o[ O poor o O poor 0] O poor 0] O poor 0] 0 poor o[ O 0 0.0 | 0.0
very poor | 0| O |very poor{0| O [very poor|{Of O | very poor|0O| O |very poor]O| O |very poor] Of O |very poorj 0| O very poor |0f O |Jvery poor{0O] O 0 0.0 | 0.0
9] 100 9] 100 8188.9 9] 100 9] 100 9 | 100 9 | 100 9| 100 9] 100 80 1.0 | 89.2
(A/a
0 0 0 0
No. % / % / % / % % % % % X b)
3 very good (O] O [very good|O| O |very good|2] 25 | very good | 0| O |very good| 3[37.5{very good| 5 |62.5|very good| 2 | 25 | very good |3|37.5(very good| 2| 25 17 0.2 | 23.6
good 5162.5 good 4 50 good 2| 25 good 5162.5] good 4| 50 good 1[12.5 good 6| 75 good 41 50 good 4 50 35 0.5 | 36.5
fair 3137.5 fair 3137.5 fair 41 50 fair 3137.5] fair 1]12.5| fair 1(12.5| fair 0] o0 fair 1112.5| fair 1]12.9 17 0.2 | 11.8
poor 0| 0 poor 1]12.5| poor o o poor 0| 0 poor 0] 0 poor of o poor of o poor o o poor 1]12.9 0.0 | 0.7
very poor | 0| O |very poor|Of O |very poor{0| O |very poor{O| O |very poor|]Of O |very poor] 0| O |very poor] 0| O | very poor [0 O [very poor[O| O 0.0 | 0.0
81100 8] 100 8| 100 81100 8] 100 7 {87.5 8 | 100 8| 100 8] 100 71 1.0 | 72.6
(A/a
0 0 0 0
No | % / % / % / % % % % % X b)
4 very good | 3]37.5|very good| 0| O |very good|1|12.5| very good | 2| 25 [very good| 1 [12.5|very good| 2 | 25 |very good| 4| 50 | very good | 6| 75 |very good| 3{37.5 22 0.3 | 30.6
good 41 50 good 7187.5] good 6| 75 good 5162.5] good 5162.5 good 5162.5 good 41 50 good 2| 25 good 5162.9 43 0.6 | 44.8
fair 1]12.5] fair 1]12.5] fair 1112.5 fair 1|12.5| fair 2|25 fair 1[12.5 fair of o fair o o fair 0] 0 7 0.1 | 4.9
poor o[ O poor o[ O poor 0] O poor o[ O poor o 0 poor 0] O poor 0] O poor 0] 0 poor o[ O 0 0.0 | 0.0
very poor | 0| O |very poor{0| O [very poor|{Of O | very poor|0O| O |very poor]O| O |very poorj Of O |very poorj 0| O very poor |0f O |Jvery poor{O] O 0 0.0 | 0.0
8] 100 8] 100 8| 100 8] 100 8] 100 8 | 100 8 | 100 8| 100 8] 100 72 1.0 | 80.2
(A/a
0 0 0 0
No. % / % / % / % % % % % X b)
5 very good | 3]37.5|very good| 1(12.5| very good| 1]12.5| very good | 0| O |very good| 7 [87.5{very good| 5 |62.5|very good| 6 | 75 | very good | 8] 100 |very good| 4| 50 35 0.5 | 48.6
good 3137.5 good 7187.5 good 41 50 good 5162.5] good 112.5 good 3137.5 good 2125 good 0] 0 good 3137.§ 28 0.4 | 29.2
fair 2] 25 fair 0] 0 fair 3137.5 fair 3137.5] fair 0| O fair 0] o0 fair 0] o0 fair ol o fair 0] 0 8 0.1 ] 5.6
poor 0| 0 poor 0] 0 poor o o poor 0] 0 poor 0] 0 poor of o poor of o poor o o poor 0] 0 0 0.0 | 0.0
very poor | 0| O |very poor|Of O |very poor{0| O |very poor{O| O |very poor|Of O |very poor] 0| O |very poor] 0| O | very poor [0 O [very poor[O| O 0 0.0 | 0.0
81100 8] 100 8| 100 8] 100 8] 100 8 | 100 8 | 100 8| 100 7187.9 71 1.0 | 83.3




191

1996

(C/c|4 0 0 (E/e] 3
No. % x d) % % % % x ) )
1 fully met |2]22.2 2 0.2 |22.2 too long |O| O | leisurely |1|11.1] too broad 11.1| too advanced 11.1 too deep 1]11. 4 0.1 0.0
mostly met |5(55.4 5 0.6 |36.7 ||about right]| 9| 100 |about right] 8 |88.9]about right 66.7| about right | 7|77.8| about right |7|77. 37 0.8 | 82.2
somewhat met | 2 (22.2 2 0.2 | 7.3 too short (0] O too hard |0| O | too narrow 22.2|too elementary 11.1|not deep enough| 1 |11. 4 0.1 0.0
no met 0f O 0 0.0 | 0.0
9] 100 9 1.0 166.2 9] 100 9] 100 100 100 9] 100 45 1.0 | 82.2
(C/c|4 (C/c|3
No | % x d) % % % % x d) ()
2 fully met |2]22.7 2 0.2 |22.2 too long |1(11.1f leisurely |[0] O | too broad 22.2| too advanced 33.3] too deep 1]11. 7 0.2 0.0
mostly met | 6[66.7 6 0.7 |44.0 |labout right| 8]88.9]about right| 888.9]about right| 7|77.8] about right 66.7| about right |7(77. 36 0.8 | 80.0
somewhat met | 1{11.1 1 0.1 ]3.7 too short |0| O | too hard |1|11.1| too narrow 0 [too elementary 0 [not deep enough| 1 [11. 2 0.0 0.0
no met o O 0 0.0 | 0.0
0
9] 100 9 1.0 169.9 9| 100 9| 100 100 100 9] 100 45 1.0 | 80.0
(C/c|4 0 0 (C/c| 3
No. % x d) % % % % x d) )
3 fully met [0] O 0 0.0 | 0.0 too long |1(12.5] leisurely | 2| 25 | too broad 0 | too advanced 0 too deep o o0 3 0.1 0.0
mostly met |5(62.9 5 0.6 |41.3 ||about right| 7 |87.5)about right] 6| 75 |about right| 6| 75 | about right | 7 |87.5 about right |6| 75 32 0.8 | 80.0
somewhat met | 3 |37.5 3 0.4 |12.4 || too short |O| O too hard |0| O | too narrow 12_5|too elementary 12_5|not deep enough| 2| 25 4 0.1 0.0
no met o O 0 0.0 | 0.0
8] 100 8 1.0 |53.6 81100 8] 100 87.5 100 8] 100 39 1.0 | 80.0
(C/c|4 (C/c|3
0 0 0
No | % x d) % % % % x d) ()
4 fully met |1]12.§ 1 0.1 |12.5 too long | 2| 25 | leisurely | 1]12.5| too broad 12.5| too advanced 12.5 too deep 0| 0 5 0.1 0.0
mostly met | 6| 75 6 0.8 |49.5 |labout right| 6] 75 |about right] 7|87.5|about right| 7187.5| about right 75 about right | 6| 75 32 0.8 | 80.0
somewhat met | 1{12.5 1 0.1 4.1 too short |0O| O | too hard |0 O | too narrow 0 [too elementary 12.5|not deep enough| 2| 25 3 0.1 0.0
no met o O 0 0.0 | 0.0
8] 100 8 1.0 |66.1 8] 100 8] 100 100 100 8] 100 40 1.0 | 80.0
(C/c|4 (C/c| 3
No. % x d) % % % % x d) )
5 fully met |1]12.5 1 0.1 |12.5 too long |O| O | leisurely |0 O | too broad 12.5| too advanced 0 too deep 1]12.5 2 0.1 0.0
mostly met | 7(87.§ 7 0.9 |57.8 ||about right]| 8| 100 |about right] 8| 100 |about right| 7 |87.5( about right 75 about right |5(62.5 34 0.9 | 85.0
somewhat met | 0| O 0 0.0 | 0.0 too short (0] O too hard |0| O | too narrow 0 |too elementary 25 [not deep enough| 2| 25 4 0.1 0.0
no met o O 0 0.0 | 0.0
81100 8 1.0 |70.3 81100 8] 100 100 100 8] 100 40 1.0 | 85.0




891

1996

(G/g
No.
x| )
1 good 66.7 good 56 good 4144 15 0.6 55.6
fair 33.3 fair 44 fair 56 12 0.4 22.2 A
poor 0 poor 0 poor 0 0 0.0 0.0 a
(A/(axb))x100
(A/(axb))x75
(A/(axb))x50
100 100 100) 27 1.0 | 77.8 79.6 (A/(axb))x25
(E/e (A/(axb))x0
No. x ) ) B
2 4
2 good 88.9 good 89 good 78 23 0.9 85.2 C
fair[1[11.1]  fair 1| fair 2 4 foa1| 7.4 4 ?C/(cxd))xlOO c
poor 0 poor 0 poor 0 0 0.0 0.0 (C/(cxd))x66
(C/(cxd))x33
(C/(cxd))x0
100 100 100 27 1.0 | 92.6 || 86.L - D
(E/e E
No. x ) () 3 f e
(about right) (E/(exf))x100
3 good 50 good 50 good 50 12 0.5 50.0 (too long, too short (E/(exf))x0
fair 50 fair 38 fair 50 11 0.5 22.9 F
poor 0 poor 0 poor 0 0 0.0 0.0 G
3 h g
(G/(gxh))x100
100 88 1000 23 1.0 | 72.9 |f 73.6 (G/(gxh))x50
(G/(gxh))x0
(E/e
No.
xBH| )
(Bxb+Dxd+Fxf+Hxh)/(b+d+f+h)
4 good 75 good 100 good 88 21 0.9 | 87.5
fair 25 fair 0 fair 13 3 0.1 6.3
poor 0 poor 0 poor 0 0 0.0 0.0
100 100 100) 24 1.0 | 93.8 81.6
(E/e
No.
xB| )
5 good 87.5 good 88 good 63 19 0.8 79.2
fair 12.5 fair 13 fair 38 5 0.2 10.4
poor 0 poor 0 poor 0 0 0.0 0.0
100 100 100) 24 1.0 | 89.6 84.1




69T

1996

(A/a
0 0 0 0
No. % / % / % / % % % % % X b)
6 very good | 0] O |very good|0| O |very good|O| O | very good|O| O [very good| 1|16.7|very good| 1 [16.7|very good] 3| 50 | very good |1|16.7|very good| 1{16.7 7 0.1 | 13.0
good 6| 100 good 5183.3 good 3] 50 good 5183.3] good 2(33.3] good 4 166.7] good 3] 50 good 5183.3| good 4166.7 37 0.7 | 51.4
fair 0] 0 fair 1116.7 fair 3| 50 fair 1]16.7] fair 3| 50 fair 1]16.7 fair 0] 0 fair 0] 0 fair 1]16.7 10 0.2 | 9.3
poor 0] 0 poor 0| 0 poor o o poor 0] 0 poor 0] 0 poor of o poor of o poor o o poor 0] 0 0 0.0 | 0.0
very poor | 0| O |very poor|Of O |very poor{0| O |very poor{O| O |very poor|]Of O |very poor] 0| O |very poor] 0| O | very poor [0 O [very poor[O| O 0 0.0 | 0.0
6] 100 6] 100 6| 100 6] 100 6] 100 6 | 100 6 | 100 6 100 6] 100 54 1.0 | 73.6
(A/a
0 0 0 0
No | % / % / % / % % % % % X b)
7 very good | 2] 25 |very good|1]|12.5|very good|1]12.5| very good | 1 [12.5|very good| 5 |62.5|very good| 3 [37.5|very good| 5 |62.5| very good | 7|87.5|very good| 1{12.5 26 0.4 ]136.1
good 6] 75 good 6] 75 good 5162.5 good 5162.5] good 3137.5 good 5162.5 good 3137.5 good 1112.5| good 6] 75 40 0.6 | 41.7
fair 0] 0 fair 1]12.5] fair 1112.5 fair 2| 25 fair 0] 0 fair of o fair of o fair ol o fair 1]12.9 5 0.1 | 3.5
poor o[ O poor o[ O poor 1(12.5 poor ol O poor o O poor 0] O poor 0] O poor 0] 0 poor o[ O 1 0.0 | 0.3
very poor | 0| O |very poor{0| O [very poor|{Of O | very poor|0O| O |very poor]O| O |very poor] Of O |very poorj 0| O very poor |0f O |Jvery poor{0O] O 0.0 | 0.0
8] 100 8] 100 8| 100 8] 100 8] 100 8 | 100 8 | 100 8| 100 8] 100 72 1.0 | 81.6
(A/a
0 0 0 0
No. % / % / % / % % % % % X b)
8 very good [O]| O |very good|1(12.5|very good| 1]12.5| very good | 1 |12.5|very good| 4| 50 |[very good| 3 |37.5|very good| 4 | 50 | very good |3|37.5(very good| 2| 25 19 0.3 | 26.4
good 7187.5 good 7187.5 good 41 50 good 4 50 good 4| 50 good 4| 50 good 4 50 good 5162.5| good 6] 75 45 0.6 | 46.9
fair 1]12.5 fair 0] 0 fair 2| 25 fair 3137.5| fair 0|l O fair 1]12.5| fair 0] o0 fair ol o fair 0] 0 7 0.1 ] 4.9
poor 0] 0 poor 0| 0 poor 1112.5 poor 0| 0 poor 0] 0 poor of o poor of o poor o o poor 0] 0 1 0.0 | 0.3
very poor | 0| O |very poor|Of O |very poor{0| O |very poor[O| O |very poor|Of O |very poor] 0| O |very poor] 0| O | very poor [0 O [very poor[O| O 0.0 | 0.0
81100 8] 100 8| 100 81100 8] 100 8 | 100 8 | 100 8| 100 8] 100 72 1.0 | 78.5
(A/a
0 0 0 0
No | % / % / % / % % % % % X b)
9 very good | 0| O |very good|0| O |very good|0| O | very good | 1|12.5{very good| 1 [12.5]very good| 3 [37.5|very good 6 | 75 | very good | 4| 50 |very good| 4| 50 19 0.3 ] 26.4
good 5162.5| good 5162.5| good 5162.5 good 41 50 good 41 50 good 5162.5 good 2] 25 good 4| 50 good 41 50 38 0.5 | 39.6
fair 3137.5] fair 3137.5] fair 3137.5 fair 3137.5] fair 3137.5 fair of o fair of o fair ol o fair 0] 0 15 0.2 | 10.4
poor o[ O poor o[ O poor 0] O poor o[ O poor o O poor 0] O poor 0] O poor 0] 0 poor o[ O 0 0.0 | 0.0
very poor | 0| O |very poor{0| O [very poor|{Of O | very poor|0O| O |very poor]0| O |very poor] Of O |very poorj 0| O very poor |0f O |Jvery poor{O] O 0 0.0 | 0.0
8] 100 8] 100 8| 100 8] 100 8] 100 8 | 100 8 | 100 8| 100 8] 100 72 1.0 | 76.4
(A/a
0 0 0 0
No. % / % / % / % % % % % X b)
10 very good | 0] O |very good|1]|16.7|very good|0O| O | very good|O| O [very good| 1[16.7|very goodf O [ O [very good 1]16.7| very good |3| 50 |very good| 1[16.7 7 0.1 | 13.0
11 good 5183.3 good 4166.7| good 3] 50 good 6| 100 good 2133.3] good 5183.3] good 5183.3 good 3] 50 good 3] 50 36 0.7 | 50.0
fair 2133.3 fair 1116.7 fair 3| 50 fair 0] 0 fair 3| 50 fair 1]16.7 fair 0] o0 fair ol o fair 2133.3 12 0.2 |11.1
poor 0] 0 poor 0| 0 poor o o poor 0] 0 poor 0] 0 poor of o poor of o poor o o poor 0] 0 0 0.0 | 0.0
very poor | 0| O |very poor|Of O |very poor{0| O |very poor{O| O |very poor|Of O |very poor] 0| O |very poor] 0| O | very poor [0 O [very poor[O| O 0 0.0 | 0.0
71117 6] 100 6| 100 6] 100 6] 100 6 | 100 6 | 100 6 100 6] 100 55 1.0 | 74.1




0T

1996

(C/c|4 0 0 (C/c| 3
No. % x d) % % % % x d) )
6 fully met |1]16.7 1 0.2 |16.7 too long |1(16.7| leisurely |0| O | too broad 33.3| too advanced 0 too deep o o0 3 0.1 0.0
mostly met | 4(66.7 4 0.7 |44.0 ||about right]| 4 |66.7]about right] 6| 100 |about right 50 | about right 100| about right | 5]83.3 24 0.8 | 80.0
somewhat met | 1[16.7 1 0.2 | 5.5 too short [1]16.7| too hard [0| O | too narrow 16.7|too elementary 0 |not deep enough| 1]16.7 3 0.1 0.0
no met 0f O 0 0.0 | 0.0
6] 100 6 1.0 166.2 6] 100 6] 100 100 100 6] 100 30 1.0 | 80.0
(C/c|4 (C/c|3
No | % x d) % % % % x d) ()
7 fully met |0] O 0 0.0 | 0.0 too long [Of O | leisurely |0] O | too broad | 3|37.5 too advanced 12.5 too deep 1]12.5 5 0.1 0.0
mostly met | 6| 75 6 0.8 |49.5 |labout right| 4] 50 |about right] 7|87.5]about right| 4] 50 | about right 87.5 about right |6 75 28 0.7 | 70.0
somewhat met | 2| 25 2 0.3 8.3 too short | 4| 50 | too hard |1|12.5| too narrow | 1|12.5/too elementary| 0 [not deep enough| 1[12.5 7 0.2 0.0
no met o O 0 0.0 | 0.0
8] 100 8 1.0 |57.8 8] 100 8| 100 100 100 8] 100 40 1.0 | 70.0
(C/c|4 0 0 (C/c| 3
No. % x d) % % % % x d) )
8 fully met | 3]37.5 3 0.4 |37.5 too long |3|37.5| leisurely | 2| 25 | too broad 37.5| too advanced 0 too deep o o0 8 0.2 0.0
mostly met |5(62.9 5} 0.6 |41.3 ||about right|5|62.5)about right] 6| 75 |about right| 5|62.5| about right | 7|87.5 about right |5]62.5 28 0.7 | 70.0
somewhat met | 0| O 0 0.0 | 0.0 too short (0] O too hard |0| O | too narrow 0 |too elementary 12_5|not deep enough| 3 (37.5 4 0.1 0.0
no met o O 0 0.0 | 0.0
8] 100 8 1.0 |78.8 8] 100 8] 100 100 100 8] 100 40 1.0 | 70.0
(C/c|4 (C/c|3
0 0 0
No | % x d) % % % % x d) ()
9 fully met |2]| 25 2 0.3 |25.0 too long | 2| 25 | leisurely | 1]12.5| too broad 0 | too advanced 0 too deep 0| O 3 0.1 0.0
mostly met |5]62.5 5 0.6 |41.3 |labout right| 6] 75 |about right] 7 |87.5|about right| 8]100| about right 100| about right |5]62.5 34 0.9 | 85.0
somewhat met | 1{12.5 1 0.1 4.1 too short |0O| O | too hard |0 O | too narrow 0 [too elementary 0 [not deep enough| 337.5 3 0.1 0.0
no met o O 0 0.0 | 0.0
8] 100 8 1.0 |70.4 8] 100 8| 100 100 100 8] 100 40 1.0 | 85.0
(C/c|4 (C/c| 3
No. % x d) % % % % x d) )
10 fully met [0] O 0 0.0 | 0.0 too long |O| O | leisurely |0 O | too broad 0 | too advanced 0 too deep o o0 0 0.0 0.0
11 mostly met |5(83.3 5} 0.8 |55.0 ||about right] 6| 100 |about right] 6 | 100 |about right| 6 | 100 about right 100| about right | 6] 100 30 1.0 | 100.0
somewhat met | 1[16.7 1 0.2 | 5.5 too short (0] O too hard |0| O | too narrow 0 |too elementary 0 |not deep enough{ 0| O 0 0.0 0.0
no met o O 0 0.0 | 0.0
6] 100 6 1.0 |160.5 6] 100 6] 100 100 100 6] 100 30 1.0 | 100.0




1996

T.T

(E/e|3
s Elx | ()
6 6 || good|5]83.3 good 6 (100 good 5|83 16 0.9 88.9
fair|1]16.7 fair 0] o0 fair 1|17 2 0.1 5.6 A
poor 0| O poor 0| o poor |0| O 0 0.0 0.0 a
(A/(axb))x100
(A/(axb))x75
(A/(axb))x50
6 100 61100 61100 18 1.0 | 94.4 78.4 (A/(axb))x25
\o (el 3 (A/(axb))x0
i E|x f B
)| C) ) 4
7 8 |l good|7]87.5 good 7188| good 3|38 17 0.7 | 70.8 C
fair | 1]12.5 fair 1|13| fair |4]50 6 0.3 | 12.5 4 ?C/(cxd))xloo ¢
poor (0| O poor 0[O0 poor 1]13 1 0.0 0.0 (C/(cxd))x66
(C/(cxd))x33
(C/(cxd))x0
8| 100 8 (100 8100} 24 1.0 83.3 77.3 3 3 D
(E/e| 3 E
No. Elx F) () 3 f e
(about right) (E/(exf))x100
8 8 good [ 6] 75 good 7188 good 5|63 18 0.8 75.0 (too |()|']gI too short (E/(exf))x()
fair| 2| 25 fair 1113 fair 3|38 6 0.3 12.5 F
poor (0| O poor 0[O poor 0] o 0 0.0 0.0 G
3 h g
(G/(gxh))x100
8] 100 8 |100 8lw00| 24 1.0 | 87.5 |f 77.6 (G/(gxh))x50
(G/(gxh))x0
No (E/e|3
] ElxH| )
(Bxb+Dxd+Fxf+Hxh)/(b+d+f+h)
9 8 |l good|1]12.5 good 4150| good 3|38 8 0.3 | 33.3
fair | 7(87.5 fair 4150| fair |5|63 16 0.7 | 33.3
poor (0| O poor o0 poor 0] 0 0 0.0 0.0
8| 100 81100 81100 24 1.0 | 66.7 76.8
(E/e|3
s ElxD| ()
10 6 || good | 2]33.3 good 4|67 good 3|50 9 0.5 50.0
1 fair|4(66.7 fair 2|33] fair |3]|50 9 0.5 | 25.0
poor (0| O poor oo poor 0|0 0 0.0 0.0
6| 100 61100 61100 18 1.0 | 75.0 80.7




(A}

1996

(A/a
0 0 0 0
No. % / % / % / % % % % % X b)
11 11 very good [O]| O |very good|1(16.7|very good| 1]16.7| very good | 2 |33.3|very good| 2 [33.3|very good| 1 |16.7|very good| 3 | 50 | very good |5]83.3|very good| 3| 50 18 0.3 | 33.3
good 5183.3 good 5183.3 good 4166.7 good 4166.7] good 4166.7] good 2133.3] good 3| 50 good 1116.7| good 2133.3 30 0.6 | 41.7
fair 1]16.7 fair 0] 0 fair 1116.7| fair 0] 0 fair 0| O fair 2133.3] fair 0] o0 fair ol O fair 1116.7 5 0.1 ] 4.6
poor 0| 0 poor 0] 0 poor o o poor 0] 0 poor |0] O poor of o poor of o poor o o poor 0] 0 0 0.0 | 0.0
very poor | 0| O |very poor|Of O |very poor{0| O |very poor[O| O |very poor|]Of O |very poor] 0| O |very poor] 0| O | very poor [0 O [very poor[O| O 0 0.0 | 0.0
6] 100 6] 100 6| 100 6] 100 6] 100 5 (83.3 6 | 100 6 100 6] 100 53 1.0 | 79.6
(A/a
0 0 0 0
No | % / % / % / % % % % % X b)
12 very good | 0| O |very good|1]|11.1]very good|2]22.2| very good | 1 |11.1fvery good| 2 [22.2|very good| 2 [22.2|very good| 4 |44.4] very good |4 |44.4|very good| 3{33.3 19 0.2 | 23.5
good 91100 good 5155.6] good 4144.4 good 6166.7] good 5155.6] good 6166.7| good 5 155.6 good 41444 good 4144.4 48 0.6 | 44.4
fair 0] 0 fair 3133.3] fair 3133.3 fair 2122.2] fair 2122.2] fair 1[11.1] fair of o fair 1111.1] fair 2122.2 14 0.2 | 8.6
poor o[ O poor o[ O poor 0] O poor o[ O poor o 0 poor 0] O poor 0] O poor 0] 0 poor o[ O 0 0.0 | 0.0
very poor | 0| O |very poor{0| O [very poor|{Of O | very poor|0O| O |very poor]O| O |very poorj Of O |very poorj 0| O very poor |0f O |Jvery poor{0O] O 0 0.0 | 0.0
9 [ 100 9 [ 100 9199.9 9 [ 100 91100 9 |100 9 |100 9199.9 9{99.9 81 1.0 | 76.5
(A/a
0 0 0 0
No. % / % / % / % % % % % X b)
13 very good |2]| 25 |very good| 2| 25 | very good| 1]12.5| very good | 2| 25 |very good| 4 | 50 |very good| 3 |37.5|very good| 7 |87.5| very good |6| 75 |very good| 1]12.5 28 0.4 | 38.9
good 4 50 good 5162.5 good 6| 75 good 6] 75 good 3|37.5] good 5162.5 good 1112.5 good 2] 25 good 6] 75 38 0.5 | 39.6
fair 2] 25 fair 1]12.5 fair 1112.5] fair 0] 0 fair 1]12.5| fair 0] o0 fair 0] o0 fair ol o fair 1]12.9 6 0.1 ] 4.2
poor 1]12.5] poor 0| 0 poor o o poor 0| 0 poor |0] O poor of o poor of o poor o o poor 0] 0 1 0.0 | 0.3
very poor | 0| O |very poor|Of O |very poor{0| O |very poor[O| O |very poor|Of O |very poor] 0| O |very poor] 0| O | very poor [0 O [very poor[O| O 0.0 | 0.0
9113 8] 100 8| 100 81100 8] 100 8 | 100 8 | 100 8| 100 8] 100 73 1.0 | 83.0
(A/a
0 0 0 0
No | % / % / % / % % % % % X b)
14 very good |0]| O |very good| 0| O |very good|0| O | very good | 1[12.5(very good| 3 |37.5|very good| 3 [37.5|very good 0| O | very good |3|37.5|very good| 1{12.5 11 0.2 | 15.3
good 7187.5] good 6] 75 good 41 50 good 5162.5] good 5162.5 good 41 50 good 8] 100 good 4| 50 good 6] 75 49 0.7 | 51.0
fair 1]12.5] fair 2| 25 fair 41 50 fair 1]12.5] fair 0] 0 fair of o fair of o fair 1112.5| fair 1]12.9 10 0.1 | 6.9
poor o[ O poor o[ O poor 0] O poor 112.5] poor o O poor 1]12.5 poor 0] O poor 0] 0 poor 0ol O 0.0 | 0.7
very poor | 0| O |very poor{0| O [very poor|{Of O | very poor|0O| O |very poor]O| O |very poorj Of O |very poorj 0| O very poor |0f O |Jvery poor{O] O 0.0 | 0.0
8 | 100 8 | 100 81100 8 | 100 8] 100 8 | 100 8 | 100 8| 100 8 | 100 72 1.0 | 74.0
(A/a
0 0 0 0
No. % / % / % / % % % % % X b)
15




€LT

1996

(C/c|4 0 0 (C/c
No. % x d) % % % % x d) )
11 11 fully met |3] 50 3 0.5 |50.0 too long |2(33.3| leisurely |0| O | too broad 0 | too advanced 0 too deep o o0 2 0.1 0.0
mostly met | 3| 50 3 0.5 |33.0 ||about right]| 3| 50 |about right] 6| 100 |about right 83.3| about right 100| about right |5]83.3 25 0.8 | 83.3
somewhat met | 0| O 0 0.0 | 0.0 too short [1]16.7| too hard [0| O | too narrow 16.7|too elementary 0 |not deep enough| 1]16.7 3 0.1 0.0
no met 0f O 0 0.0 | 0.0
6] 100 6 1.0 183.0 6] 100 6] 100 100 100 6] 100 30 1.0 | 83.3
(C/c|4 (C/c
0 0
No | % x d) % % % % x d) ()
12 fully met |2]22.7 2 0.2 |22.2 too long |[Of O | leisurely | 1]11.1] too broad 0 | too advanced 11.1 too deep ol 0 2 0.0 0.0
mostly met | 4|44.4 4 0.4 |29.3 ||about right| 7|77.8labout right| 888.9]about right 100| about right 88.9| about right |8(88.9 40 0.9 | 88.9
somewhat met | 3133.3 3 0.3 |11.0 || too short |2]22.2| too hard |0| O | too narrow 0 [too elementary 0 |not deep enough| 1]11.Y 3 0.1 0.0
no met 0] 0 0 0.0 | 0.0
9199.9 9 1.0 |162.6 9| 100 9| 100 100 100 9] 100 45 1.0 | 88.9
(C/c|4 (C/c
No. % x d) % % % % x d) )
13 fully met |1]12.5 1 0.1 |12.5 too long |O| O | leisurely |0| O | too broad 0 | too advanced 0 too deep 1]12.5 1 0.0 0.0
mostly met | 6| 75 6 0.8 |49.5 ||about right] 8| 100 |about right] 8| 100 |about right 100| about right 100| about right | 7]87.5 39 1.0 | 97.5
somewhat met | 1[12.5 1 0.1 | 4.1 too short (0] O too hard |0| O | too narrow 12.5|too elementary 0 |not deep enough| 1[12.5 2 0.1 0.0
no met o O 0 0.0 | 0.0
8] 100 8 1.0 166.1 8] 100 8] 100 113 100 9] 113 42 1.1 | 97.5
(C/c|4 (C/c|3
0 0 0
No | % x d) % % % % x d) ()
14 fully met |2]| 25 2 0.3 |25.0 too long |[Of O | leisurely |0] O | too broad 0 | too advanced 12.5 too deep ol 0 1 0.0 0.0
mostly met | 4| 50 4 0.5 |33.0 |[about right| 8] 100 |about right] 7 |87.5|about right| 7187.5| about right 75 about right | 7(87.5 35 0.9 | 87.5
somewhat met | 2| 25 2 0.3 8.3 too short |0| O | too hard |1|12.5| too narrow 12.5|too elementary 12.5|not deep enough| 1[12.5 4 0.1 0.0
no met o O 0 0.0 | 0.0
8] 100 8 1.0 |166.3 8] 100 8| 100 100 100 8] 100 40 1.0 | 87.5
(C/c|4 (C/c| 3
No. % x d) % % % % x d) )
15




1996

7R}

(E/e|3
L2k ElxH| ()
11 11| 6 |fgood|4(66.7 good 5]83 good 5|83 14 0.8 77.8
fair|2(33.3 fair 1|17 fair 1117 4 0.2 11.1 A
poor 0| O poor 0| o poor |0| O 0 0.0 0.0 a
(A/(axb))x100
(A/(axb))x75
(A/(axb))x50
6 100 61100 61100 18 1.0 | 88.9 82.4 (A/(axb))x25
\o (el 3 (A/(axb))x0
’ E|lx f B
)| C) ) 4
12 9 |l good|6|66.7 good 7]178| good 2|22 15 0.6 | 55.6 C
fair | 3(33.3 fair 2|22 fair |7]|78 12 0.4 | 22.2 4 ?C/(cxd))xloo ¢
poor (0| O poor 0[O0 poor 0] 0 0 0.0 0.0 (C/(cxd))x66
(C/(cxd))x33
(C/(cxd))x0
91 100 9 {100 9]100) 27 1.0 77.8 79.4 3 3 D
(E/e| 3 E
No. Elx F) () 3 f e
(about right) (E/(exf))x100
13 8 || good|6] 75 good 8100 good 2|25 16 0.7 66.7 (too long, too short (E/(exf))x0
fair| 2| 25 fair oo fair 6|75 8 0.3 16.7 F
poor (0| O poor 0[O poor 0] o 0 0.0 0.0 G
3 h g
(G/(gxh))x100
8] 100 8 |100 8l100] 24 1.0 | 83.3 |f 86.1 (G/(gxh))x50
(G/(gxh))x0
No (E/e|3
i E|x f) )
(Bxb+Dxd+Fxf+Hxh)/(b+d+f+h)
14 8 |l good|5]62.5 good 6|75 good |4]50 15 0.6 | 62.5
fair | 3[37.5 fair 2|25| fair |3]38 8 0.3 | 16.7
poor (0| O poor o0 poor 1]13 1 0.0 0.0
8| 100 81100 81100 24 1.0 | 79.2 78.2
(E/e|3
L2k ElxH| ()
15




ST

1996

(A/a
0 0 0 0
No. % / % / % / % % % % % X b)
16 7 very good |5]71.4|very good| 5 |71.4| very good| 5]71.4| very good | 6 |85.7|very good| 3 [42.9|very good| 5 |71.4|very good| 6 |85.7| very good | 6|85.7|very good| 3]42.9 44 0.7 | 69.8
good 2128.6 good 2128.6 good 2128.6 good 1]14.3] good 4157.1 good 2128.6] good 1114.3 good 1114.3] good 2128.4 17 0.3 | 20.2
fair 0] 0 fair 0] 0 fair o| o fair 0] 0 fair 0| O fair 0] o0 fair 0] o0 fair ol o fair 2128.4 2 0.0 | 1.6
poor 0| 0 poor 0] 0 poor o o poor 0] 0 poor 0] 0 poor of o poor of o poor o o poor 0] 0 0 0.0 | 0.0
very poor | 0| O |very poor|Of O |very poor{0| O |very poor[O| O |very poor|]Of O |very poor] 0| O |very poor] 0| O | very poor [0 O [very poor[O| O 0 0.0 | 0.0
71100 71100 7100 71100 71100 7 | 100 7 | 100 7100 71100 63 1.0 | 91.7
(A/a
0 0 0 0
No | % / % / % / % % % % % X b)
17(TQC
(A/a
0 0 0 0
No. % / % / % / % % % % % X b)
18 6 very good | 2]33.3|very good| 2|33.3]|very good|2]33.3| very good | 2 [33.3|very good] 3| 50 |very good| 3 [ 50 [very good| 2 |33.3| very good |3| 50 |very good| 2 {33.3 21 0.4 | 38.9
good 4166.7| good 2133.3 good 2133.3 good 2133.3] good 3| 50 good 3] 50 good 4166.7 good 1(16.7] good 3] 50 24 0.4 | 33.3
fair 0] 0 fair 2133.3 fair 1116.7| fair 1]16.7] fair 0| O fair 0] o0 fair 0] o0 fair 2133.3| fair 1116.7 7 0.1 ] 6.5
poor 0] 0 poor 0| 0 poor 1116.7, poor 1116.7] poor 0] 0 poor of o poor of o poor o o poor 0] 0 2 0.0 | 0.9
very poor | 0| O |very poor|Of O |very poor{0| O |very poor[O| O |very poor|Of O |very poor] 0| O |very poor] 0| O | very poor [0 O [very poor[O| O 0.0 | 0.0
6] 100 6199.9 6| 100 6] 100 6] 100 6 | 100 6 | 100 6 100 6] 100 54 1.0 | 79.6
(A/a
0 0 0 0
No | % / % / % / % % % % % X b)
19 10 very good | 4] 40 |very good| 5| 50 |very good|5]| 50 | very good [ 5| 50 [very good| 6 | 60 |very good| 8 [ 80 |very good| 7| 70 | very good |5| 50 |very good| 4| 40 49 0.5 | 54.4
good 6] 60 good 5] 50 good 5| 50 good 3] 30 good 41 40 good 2] 20 good 3] 30 good 5| 50 good 3] 30 36 0.4 | 30.0
fair 0] 0 fair 0| 0 fair o o fair 2| 20 fair 0] 0 fair of o fair of o fair ol o fair 3] 30 5 0.1 ] 2.8
poor o[ O poor o[ O poor 0] O poor o[ O poor o O poor 0] O poor 0] O poor 0] 0 poor o[ O 0 0.0 | 0.0
very poor | 0| O |very poor{0| O [very poor|{Of O | very poor|0O| O |very poor]0| O |very poor] Of O |very poorj 0| O very poor |0f O |Jvery poor{O] O 0 0.0 | 0.0
10] 100 10] 100 10{ 100 0 10] 100 0 10| 100 0 10| 100 0 10| 100 0 10{ 100 0 10] 100 90 1.0 | 87.2




9.1

1996

(C/c|4 0 0 (C/c
No. % x d) % % % % x d) )
16 7 fully met |5]71.4 5 0.7 |71.4 too long |O| O | leisurely | 1|14.3| too broad | 1|14.3| too advanced | 2 |28.6| too deep 228.4 6 0.2 0.0
mostly met | 2|28.4 2 0.3 |18.9 ||about right]| 7| 100 |about right] 6 (85.7|about right| 6 |85.7| about right | 5[71.4] about right |5]|71.4 29 0.8 | 82.9
somewhat met | 0| O 0 0.0 | 0.0 too short (0] O too hard |0| O | too narrow|O| O [too elementary| 0| O [not deep enough| 0| O 0 0.0 0.0
no met 0f O 0 0.0 | 0.0
71100 7 1.0 190.3 71100 71100 71100 7| 100 71100 85 1.0 | 82.9
(C/c|4 (C/c
No | % x d) % % % % x d) ()
17(T1QC
(C/c|4 0 0 (C/c| 3
No. % x d) % % % % x d) )
18 6 fully met [0] O 0 0.0 | 0.0 too long |1(16.7| leisurely |0 O | too broad | 1]16.7| too advanced | 1 |16.7 too deep o o0 3 0.1 0.0
mostly met | 6| 100 6 1.0 |66.0 ||about right| 4|66.7|about right]| 6| 100 |about right| 4]66.7| about right | 5]83.3] about right |6 100 25 0.8 | 83.3
somewhat met | 0| O 0 0.0 | 0.0 too short [1]16.7| too hard [0| O | too narrow| 1|16.7|too elementary| 0| O [not deep enough| 0| O 2 0.1 0.0
no met o O 0 0.0 | 0.0
6] 100 6 1.0 |166.0 6] 100 6] 100 6] 100 6| 100 6] 100 30 1.0 | 83.3
(C/c|4 (C/c|3
0 0 0
No | % x d) % % % % x d) ()
19 10 fully met |3] 30 3 0.3 |30.0 too long |1 10 | leisurely |[0] O | too broad [ 1| 10 | too advanced | 1| 10 too deep 2| 20 5 0.1 0.0
mostly met | 6| 60 6 0.6 |39.6 ||about right| 4] 40 |about right]10| 100 |about right| 9| 90 | about right | 9] 90 about right | 7] 70 39 0.8 | 78.0
somewhat met | 1| 10 1 0.1 ]3.3 too short | 5| 50 | too hard |0 O | too narrow|O| O |too elementary| 0| O |not deep enough| 1| 10 6 0.1 0.0
no met o O 0 0.0 | 0.0
10] 100 10 1.0 |72.9 10{ 100 10{ 100 10] 100 10{ 100 10| 100 50 1.0 | 78.0




LLT

1996

(E/e
No.
xB| )
16 7 || good|4]57.1 good 6|86 good 6|86 16 0.8 76.2
fair|3[42.9 fair 1|14 fair 1|14 5 0.2 11.9 A
poor 0| O poor 0| o poor |0| O 0 0.0 0.0 a
(A/(axb))x100
(A/(axb))x75
(A/(axb))x50
7100 71100 71100 21 1.0 | 88.1 88.5 (A/(axb))x25
(E/e (A/(axb))x0
No. B
xBH| )
17(T1QC C
4 d c
(C/(cxd))x100
(C/(cxd))x66
(C/(cxd))x33
(C/(cxd))x0
D
(E/e| 3 E
ok x| () 3 f e
(about right) (E/(exf))x100
18 6 || good|4]66.7 good 4|67 good 3|50 11 0.6 61.1 (too long, too short (E/(exf))x0
fair|2]33.3 fair 2133 fair 3|50 7 0.4 19.4 F
poor (0| O poor oo poor 0 0 0.0 0.0 G
3 h g
(G/(gxh))x100
6] 100 6 |100 6100 18 1.0 | 80.6 |f 80.1 (G/(gxh))x50
(G/(gxh))x0
No (E/e|3
] xBH| )
(Bxb+Dxd+Fxf+Hxh)/(b+d+f+h)
19 10 || good |10] 100 good 9]90| good 6| 60 25 0.8 | 83.3
fair (0| 0 fair 1|10| fair |4]40 5 0.2 8.3
poor (0| O poor o0 poor 0] 0 0 0.0 0.0
10{ 100 10100 10{100} 30 1.0 | 91.7 84.6




8.1

1997

(A/a
0 0 0 0
No. % / % / % / % % % % % X b)

1 very good (0| O |very good|1(11.1|very good| 1]11.1f very good | 2 |22.2|very good| 3 |33.3|very good| 2 [22.2|very good| 5 |55.6| very good | 3|33.3|very good| 2|22.2 19 0.2 | 23.5
good 666.7 good 3133.3 good 6166.7 good 4144.4] good 6166.7] good 6166.7| good 2122.2 good 4144.4( good 4144.4 41 0.5 | 38.0
fair 3133.3 fair 41444 fair 1111.1] fair 2122.2| fair ol O fair 1]11.1 fair 2122.2 fair 2122.2| fair 3133.3 18 0.2 |11.1
poor 0| 0 poor 1]11.1] poor 1]11.1 poor 1|11.1] poor 0] 0 poor of o poor of o poor o o poor 0] 0 0.0 | 0.9

very poor | 0| O |very poor|Of O |very poor{0| O |very poor{O| O fvery poor]Of O |very poor] 0| O |very poor] O 0 | very poor [0| O [very poor[O| O 0.0 | 0.0
9] 100 9199.9 9| 100 9199.9 9] 100 9 | 100 9 | 100 9199.9 9199.9 81 1.0 | 73.5
(A/a
0 0 0 0
No | % / % / % / % % % % % X b)

2 very good | 2] 25 |very good| 2| 25 |very good|1|12.5| very good | 1 |12.5|very good] 6 | 75 |very good| 5 [62.5|very good| 4 | 50 | very good |5|62.5/very good| 3{37.5 29 0.4 | 40.3
good 6] 75 good 5162.5| good 7187.5 good 7187.5] good 2| 25 good 3137.5| good 41 50 good 3137.5 good 5162.9 42 0.6 | 43.8
fair 0] 0 fair 1]12.5] fair o o fair 0| o fair 0] 0 fair of o fair of o fair o o fair 0] 0 1 0.0 | 0.7
poor o[ O poor o[ O poor 0] O poor 0 O poor of O poor 0] O poor 0] O poor 0] O poor o[ O 0 0.0 | 0.0

very poor | 0| O |very poor{0| O [very poor{Of O | very poor|Of O |very poorJ]O| O |very poor] 0| O |very pooj 0| O very poor |0 O |very poor|0O] O 0 0.0 | 0.0
8] 100 8] 100 8| 100 8] 100 8] 100 8 | 100 8 | 100 8| 100 8] 100 72 1.0 | 84.7
(A/a
0 0 0 0
No. % / % / % / % % % % % X b)

3 very good (0| O |very good| 2| 25 |very good| 1]12.5| very good | 2| 25 |very good| 1 |12.5|very good| 5 |62.5|very good| 6 | 75 | very good |5|62.5|very good| 3]37.5 25 0.3 | 34.7
good 7187.5 good 4 50 good 41 50 good 4| 50 good 3|37.5] good 2125 good 1112.5 good 3137.5 good 4 50 32 0.4 | 33.3
fair 1]12.5 fair 2] 25 fair 1112.5] fair 21 25 fair 41 50 fair 1]12.5 fair 1]12.5 fair o| o fair 1]12.9 13 0.2 | 9.0
poor 0| 0 poor 0| 0 poor 2| 25 poor 0| o poor 0] 0 poor of o poor of o poor o o poor 0| 0 0.0 | 0.7

very poor | 0| O |very poor|Of O |very poor{0| O |very poor[{O| O [very poor|Of O |very poor] 0| O |very poor] O 0 | very poor [0| O [very poor[O| O 0.0 | 0.0
8] 100 8] 100 8| 100 8] 100 8] 100 8 | 100 8 | 100 8| 100 8] 100 72 1.0 | 77.8
(A/a
0 0 0 0
No | % / % / % / % % % % % X b)

4 very good | 0| O |very good|1]|14.3|very good|1|14.3| very good | 1 |14.3|very good| 1 |14.3|very good| 3 [42.9|very good| 1 |14.3| very good |3|42.9|very good| 3 [42.9 14 0.2 | 22.2
good 71100 good 4157.1] good 4157.1 good 3142.9] good 6185.7] good 4157.1] good 6 185.7 good 4157.1f good 4157.1 42 0.7 | 50.0
fair 0] 0 fair 2128.6] fair 1114.3 fair 3142.9] fair 0] 0 fair of o fair of o fair o o fair 0] 0 6 0.1 | 4.8
poor o[ O poor o[ O poor 0] O poor 0 O poor o O poor 0] O poor 0] O poor 0] O poor ol O 0.0 | 0.0

very poor | 0] O |very poor{0| O [very poor|1[14.3]| very poor|0] O |very poor]O0| O |very poor] 0| O |very pooj 0| O very poor |0 O |very poor|0O] O 0.0 | 0.0
7] 100 7] 100 7100 7] 100 71100 7 | 100 7 | 100 7| 100 7] 100 63 1.0 | 77.0
(A/a
0 0 0 0
No. % / % / % / % % % % % X b)

5 very good | 0] O |very good|1]|11.1]very good|2]22.2| very good | 1|11.1|very good| 3 |33.3|very good| 4 |44.4|very good| 4 |44.4] very good |5|55.6/very good| 5 [55.4 25 0.3 | 30.9
good 8(88.9 good 7177.8 good 7177.8 good 7177.8] good 6(66.7] good 555.6] good 5 155.6 good 4144.4) good 2122.72 51 0.6 | 47.2
fair 1]11.1 fair 1]11.1 fair o| o fair 1]11.1] fair 0| O fair 0] o0 fair 0] o0 fair o| o fair 1 11.ﬂ 4 0.0 | 2.5
poor 0| 0 poor 0] 0 poor o o poor 0| o poor 0] 0 poor of o poor of o poor o o poor 1]11. 1 0.0 | 0.3

very poor | 0| O |very poor|Of O |very poor{0| O |very poor{O| O fvery poor{Of O |very poor] 0| O |very poor] O O | very poor [0| O [very poor[O| O 0 0.0 | 0.0
9] 100 9] 100 9100 9| 100 9] 100 9 | 100 9 | 100 9100 9] 100 81 1.0 | 80.9




6.1

1997

(C/c|4 0 0 (E/e] 3
No. % x d) % % % % x ) )
1 fully met |1]11.1 1 0.1 |11.1 too long |1|11.1] leisurely | 1|11.1] too broad 33.3| too advanced 0 too deep o o0 5 0.1 0.0
mostly met |5(55.4 5 0.6 |36.7 ||about right]| 8|88.9)about right] 8 |88.9]about right 66.7| about right | 8]88.9| about right |7(77.8 37 0.8 | 82.2
somewhat met | 3 (33.3 3 0.3 [11.0 || too short |O| O too hard |0| O | too narrow 0 |too elementary 11.1|not deep enough| 2 (22.2 3 0.1 0.0
no met 0f O 0 0.0 | 0.0
9] 100 9 1.0 |58.8 9] 100 9] 100 100 100 9] 100 45 1.0 | 82.2
(C/c|4 (E/e| 3
No | % x d) % % % % x ) ()
2 fully met |0] O 0 0.0 | 0.0 too long | 2| 25 | leisurely |[0] O | too broad 37.5| too advanced 25 too deep 0| 0 7 0.2 0.0
mostly met | 8| 100 8 1.0 |66.0 [|about right| 6| 75 [about right] 8| 100 [about right| 5[62.5| about right |5 (62.5 about right |7]87.5 31 0.8 | 77.5
somewhat met [ 0| O 0 0.0 | 0.0 too short |0| O | too hard |0 O | too narrow 0 [too elementary 12.5|not deep enough| 1[12.5 2 0.1 0.0
no met o O 0 0.0 | 0.0
0
8] 100 8 1.0 |166.0 8] 100 8] 100 100 100 8] 100 40 1.0 | 77.5
(C/c|4 0 0 (E/e] 3
No. % x d) % % % % x ) )
3 fully met |1]12.5 1 0.1 |12.5 too long |3|37.5| leisurely |0| O | too broad 12.5| too advanced 12.5 too deep 1]12.5 6 0.2 0.0
mostly met |5(62.9 5 0.6 |41.3 ||about right]5|62.5)about right] 7 |87.5]about right 87.5| about right 50 about right |5(62.5 28 0.7 | 70.0
somewhat met | 0| O 0 0.0 | 0.0 too short (0] O too hard | 1[12.5| too narrow 0 |too elementary 12_5|not deep enough| 2| 25 4 0.1 0.0
no met o O 0 0.0 | 0.0
6| 75 6 0.8 |53.8 8] 100 8] 100 100 75 8] 100 38 1.0 | 70.0
(C/c|4 (E/e| 3
0 0 0
No | % x d) % % % % x ) ()
4 fully met |1]14.3 1 0.1 |14.3 too long |1(14.3| leisurely |[0] O | too broad 42.9| too advanced 14.3 too deep 1]14.3 6 0.2 0.0
mostly met |5(71.4 5 0.7 |47.1 ||about right| 6]85.7|about right] 7| 100 |about right| 4]57.1] about right 85.7| about right |5(71.4 28 0.8 | 80.0
somewhat met | 1{14.3 1 0.1 4.7 too short |0O| O | too hard |0 O | too narrow 0 [too elementary 0 [not deep enough| 1[14.3 1 0.0 0.0
no met o O 0 0.0 | 0.0
71100 7 1.0 |66.1 71100 7] 100 100 100 71100 35 1.0 | 80.0
(C/c|4 (E/e| 3
No. % x d) % % % % x ) )
5 fully met [O0] O 0 0.0 | 0.0 too long |3(33.3| leisurely |0 O | too broad 0 | too advanced 0 too deep o o0 3 0.1 0.0
mostly met | 8(88.9 8 0.9 |58.7 ||about right] 6 |66.7)]about right] 9| 100 |about right| 9| 100| about right 77.8| about right |7]77.8 38 0.8 | 84.4
somewhat met | 1[11.1) 1 0.1 | 3.7 too short (0] O too hard |0| O | too narrow 0 |too elementary 22.2|not deep enough| 2 |22.2 4 0.1 0.0
no met o O 0 0.0 | 0.0
9] 100 9 1.0 162.3 9] 100 9] 100 100 100 9] 100 45 1.0 | 84.4




08T

1997

(G/g
No.
x| )
1 good 33.3 good 78 good 33 13 0.5 48.1
fair 66.7 fair 22 fair 56 13 0.5 24.1 A
poor 0 poor 0 poor 11 1 0.0 0.0 a
(A/(axb))x100
(A/(axb))x75
(A/(axb))x50
100 100 100} 27 1.0 | 72.2 74.9 (A/(axb))x25
(A/(axb))x0
No. )((Gﬁg); ) B
2 4
2 good 75 good 75| good 75 18 0.8 | 75.0 C
fair|2| 25 | fair 25| fair s 6 |03 | 125 4 ?C/(cxd))xlOO c
poor 0 poor 0 poor 0 0 0.0 0.0 (C/(cxd))x66
(C/(cxd))x33
(C/(cxd))x0
100 100 100 24 1.0 | 87.5 || s2.1 - D
(G/g E
No. x h) ) 3 f e
(about right) (E/(exf))x100
3 good 50 good 63 good 63 14 0.6 58.3 (too long, too short (E/(exf))x0
fair | 1]12.5( fair 38| fair 38 7 0.3 | 14.6 F
poor 25 poor 0 poor 0 2 0.1 0.0 G
3 h g
(G/(gxh))x100
87.5 100 1000 23 1.0 | 72.9 |f 73.5 (G/(gxh))x50
(G/(gxh))x0
(6/g
No.
x| )
(Bxb+Dxd+Fxf+Hxh)/(b+d+f+h)
4 good 71.4] good 86| good |4|57 15 0.7 | 71.4
fair 28.6 fair 14 fair 3|43 6 0.3 14.3
poor 0 poor 0 poor 0 0 0.0 0.0
100 100 100) 21 1.0 | 85.7 78.7
(G/g
No.
x| )
5 good 100 good 67 good 67 21 0.8 77.8
fair 0 fair 33 fair 33 6 0.2 11.1
poor 0 poor 0 poor 0 0 0.0 0.0
100 100 100) 27 1.0 | 88.9 82.2




181

1997

(A/a
0 0 0 0
No. % / % / % / % % % % % X b)

6 very good (O] O [very good|O| O |very good|1]14.3| very good| 0| O |very good| 0| O |very good] 0| O [very good| 2 |28.6| very good |4|57.1fvery good| 0| O 7 0.1 |11.1
good 4 |57.1] good 4 |57.1] good 2128.6 good 3142.9] good 457.1 good 4 |57.1 good 0] O good 3142.9| good 4 157.1) 28 0.4 | 33.3
fair 1]14.3 fair 2128.6 fair 3142.9 fair 3142.9] fair 2128.6| fair 3142.9] fair 0] o0 fair oj o fair 31429 17 0.3 | 13.5
poor 1|14.3] poor 0| 0 poor o o poor 0| o poor 1(14.3] poor of o poor of o poor o o poor 0] 0 0.0 | 0.8

very poor | 0| O |very poor|Of O |very poor{0| O |very poor{O| O fvery poor]Of O |very poor] 0| O |very poor] O 0 | very poor [0| O [very poor[O| O 0.0 | 0.0
6(85.7 6185.7 6185.8 6185.8 71100 7 | 100 2 [28.6 7100 71100 54 0.9 | 58.7
(A/a
0 0 0 0
No | % / % / % / % % % % % X b)

7 very good | 2] 25 |very good| 1]12.5|very good| 4| 50 | very good | 3 |37.5|very good| 3 |37.5|very good| 4 | 50 |very good| 6 | 75 | very good |5|62.5/very good| 5 |62.5 33 0.5 | 45.8
good 41 50 good 5162.5| good 3137.5 good 5162.5] good 5162.5 good 2] 25 good 1]12.5 good 2| 25 good 2] 25 29 0.4 ]30.2
fair 2| 25 fair 2| 25 fair 1112.5 fair 0| o fair 0] 0 fair 2| 25 fair 1(12.5 fair 1]12.5| fair 1]12.9 10 0.1 | 6.9
poor o[ O poor o[ O poor 0] O poor 0 O poor of O poor 0] O poor 0] O poor 0] O poor o[ O 0 0.0 | 0.0

very poor | 0| O |very poor{0| O [very poor{Of O | very poor|Of O |very poorJ]O| O |very poor] 0| O |very pooj 0| O very poor |0 O |very poor|0O] O 0 0.0 | 0.0
8] 100 8] 100 8| 100 8] 100 8] 100 8 | 100 8 | 100 8| 100 8] 100 72 1.0 | 83.0
(A/a
0 0 0 0
No. % / % / % / % % % % % X b)

8 very good | 1]16.7|very good| O| O |very good{0O| O | very good|O| O |very good| 3| 50 |very good| 2 |33.3|very good| 3| 50 | very good |3| 50 [very good| 0| O 12 0.2 | 22.2
good 3] 50 good 6| 100 good 2133.3 good 4166.7| good 233.3] good 3] 50 good 3] 50 good 2133.3| good 3] 50 28 0.5 | 38.9
fair 2133.3 fair 0] 0 fair 3| 50 fair 1116.7| fair 1]16.7| fair 1]16.7 fair 0] o0 fair 1116.7| fair 3] 50 12 0.2 |11.1
poor 0| 0 poor 0| 0 poor 1116.7, poor 1|16.7] poor 0] 0 poor of o poor of o poor o o poor 0] 0 0.0 | 0.9

very poor | 0| O |very poor|Of O |very poor{0| O |very poor{O| O fvery poor]Of O |very poor] 0| O |very poor] O 0 | very poor [0| O [very poor[O| O 0.0 | 0.0
6] 100 6] 100 6| 100 6| 100 6] 100 6 | 100 6 | 100 6| 100 6] 100 54 1.0 | 73.1
(A/a
0 0 0 0
No | % / % / % / % % % % % X b)

9 very good | 4]57.1) very good| 4 |57.1] very good| 4|57.1] very good | 3 |42.9|very good| 4 |57.1|very good| 3 [42.9|very good| 4 |57.1] very good |4|57.1|very good| 3|42.9 33 0.5 | 52.4
good 1]14.3] good 0] 0 good o| o good 4157.1 good 3142.9] good 3142.9] good 3142.9 good 2128.6| good 3142.9 19 0.3 | 22.6
fair 2128.6] fair 3142.9] fair 3142.9 fair 1(14.3| fair 0] 0 fair 1(14.3] fair of o fair 1114.3] fair 1]14.3 12 0.2 | 9.5
poor o[ O poor o[ O poor 0] O poor 0 O poor o O poor 0] O poor 0] O poor 0] O poor ol O 0 0.0 | 0.0

very poor | 0| O |very poor{0| O [very poor{Of O | very poor|O] O |very poorJ]O| O |very poor] 0| O |very poorj 0| O very poor |0 O |very poor|0O] O 0 0.0 | 0.0
7] 100 7] 100 7100 8]114 71100 7 | 100 7 | 100 7| 100 7] 100 64 1.0 | 84.5

(A/a

0 0 0 0

No. % / % / % / % % % % % X b)
10 very good | 1]16.7|very good| 1]16.7|very good| 0| O | very good|O| O [very good| 1|16.7|very goodf O O [very good 1]16.7| very good |4|66.7|very good| 1[16.7 9 0.2 | 16.7
11 good 4166.7| good 5183.3 good 2133.3 good 5183.3] good 5(83.3] good 5183.3] good 5183.3 good 2133.3| good 4166.7 37 0.7 | 51.4
fair 1]16.7 fair 0] 0 fair 2133.3 fair 1116.7| fair 1]16.7| fair 1]16.7 fair 0] 0 fair oj o fair 1116.7 7 0.1 ] 6.5
poor 0| 0 poor 0] 0 poor 1116.7, poor 0| o poor 0] 0 poor of o poor of o poor o o poor 0| 0 1 0.0 | 0.5
very poor | 0| O |very poor|Of O |very poor{0| O |very poor[{O| O [very poor]Of O |very poor] 0| O |very poor] O 0 | very poor [0| O [very poor[O| O 0.0 | 0.0
6] 100 6] 100 5183.3 6] 100 71117 6 | 100 6 | 100 6| 100 6] 100 54 1.0 | 75.0




Z81

1997

(C/c|4 0 0 (E/e] 3
No. % x d) % % % % x ) )
6 fully met [0] O 0 0.0 | 0.0 too long |3[42.9] leisurely | 1|14.3| too broad | 3]42.9| too advanced 0 too deep o o0 7 0.2 0.0
mostly met | 3(42.9 3 0.4 |28.3 ||about right]| 3|42.9)about right] 6 (85.7|about right| 4 |57.1| about right 57.1] about right |5]|71.4 22 0.6 | 62.9
somewhat met | 4 [57.1) 4 0.6 |18.9 || too short | 1|14.3] too hard |0| O | too narrow 0 |too elementary 42.9|not deep enough| 2 |28.6 6 0.2 0.0
no met 0f O 0 0.0 | 0.0
71100 7 1.0 147.1 71100 71100 100 100 71100 85 1.0 | 62.9
(C/c|4 (E/e| 3
No | % x d) % % % % x ) ()
7 fully met |3]37.§ 3 0.4 |37.5 too long |[Of O | leisurely |0] O | too broad 50 | too advanced 12.5 too deep 2| 25 7 0.2 0.0
mostly met | 3|37.5 3 0.4 |24.8 ||about right| 6] 75 |about right| 8 100 |about right 50 | about right 75 about right |5][62.5 29 0.7 | 72.5
somewhat met | 2| 25 2 0.3 8.3 too short | 2| 25| too hard |0 O | too narrow 0 [too elementary 12.5|not deep enough| 1[12.5 4 0.1 0.0
no met o O 0 0.0 | 0.0
8] 100 8 1.0 |70.5 8] 100 8| 100 100 100 8] 100 40 1.0 | 72.5
(C/c|4 0 0 (E/e| 3
No. % x d) % % % % x ) )
8 fully met [0] O 0 0.0 | 0.0 too long | 3| 50 | leisurely | 1|16.7| too broad 0 | too advanced 0 too deep 1116.7 5 0.2 0.0
mostly met | 4(66.7 4 0.7 |44.0 ||about right]| 3| 50 |about right] 5(83.3|about right| 6| 100 about right 100| about right | 4]66.7 24 0.8 | 80.0
somewhat met | 2 [33.3 2 0.3 |11.0 || too short |O| O too hard |0| O | too narrow 0 |too elementary 0 |not deep enough| 1[16.7 1 0.0 0.0
no met o O 0 0.0 | 0.0
6] 100 6 1.0 |55.0 6] 100 6] 100 100 100 6] 100 30 1.0 | 80.0
(C/c|4 (E/e| 3
0 0 0
No | % x d) % % % % x ) ()
9 fully met |2]28.4 2 0.3 |28.6 too long |[Of O | leisurely |0] O | too broad 0 | too advanced 0 too deep ol 0 0 0.0 0.0
mostly met | 4]57.1 4 0.6 |37.7 ||about right| 6]85.7|about right] 7| 100 |about right| 7] 100| about right 100| about right | 7] 100 34 1.0 97.1
somewhat met 0| O 0 0.0 | 0.0 too short | 1|14.3] too hard |0 O | too narrow 0 [too elementary 0 [not deep enough| 0| O 1 0.0 0.0
no met o O 0 0.0 | 0.0
6 (85.7 6 0.9 |66.3 71100 7] 100 100 100 71100 35 1.0 | 97.1
(C/c|4 (E/e| 3
No. % x d) % % % % x ) )
10 fully met |1]16.7 1 0.2 |16.7 too long |2(33.3| leisurely |0 O | too broad 16.7| too advanced 0 too deep o o0 3 0.1 0.0
11 mostly met | 4(66.7 4 0.7 |44.0 ||about right]| 3| 50 |about right] 6 | 100 |about right 83.3| about right 100| about right | 6] 100 26 0.9 | 86.7
somewhat met | 1[16.7 1 0.2 | 5.5 too short [1]16.7| too hard [0| O | too narrow 0 |too elementary 0 |not deep enough{ 0| O 1 0.0 0.0
no met o O 0 0.0 | 0.0
6] 100 6 1.0 166.2 6] 100 6] 100 100 100 6] 100 30 1.0 | 86.7




1997

€81

G/g|3
i slxm| ()
6 7 || good|1]14.3 good 2129 good 2129 5 0.2 23.8
fair | 6(85.7 fair 4157 fair 4157 14 0.7 33.3 A
poor |0 © poor 1]|14| poor |1|14 2 0.1 | 0.0 a
(A/(axb))x100
(A/(axb))x75
(A/(axb))x50
7100 71100 71100 21 1.0 | 57.1 59.0 (A/(axb))x25
\o /9|3 (A/(axb))x0
’ G[xh B
)| ) ) 4
7 8 |l good|4]| 50 good 4150| good 5|63 13 0.5 | 54.2 C
fair 4] 50 fair 4150| fair |3]38 11 0.5 | 22.9 4 ?C/(cxd))xloo ¢
poor (0| O poor 0[O poor 0] o 0 0.0 0.0 (C/(cxd))x66
(C/(cxd))x33
(C/(cxd))x0
8] 100 8 {100 8100} 24 1.0 77.1 78.4 3 3 D
G/g|3 E
ok cslxn| ) 3 f e
(about right) (E/(exf))x100
8 6 good | 1]16.7 good 3|50 good 1|17 5 0.3 27.8 (too |()|']gI too short (E/(exf))x()
fair | 4(66.7 fair 2133 fair 5|83 11 0.6 30.6 F
poor | 1]16.7 poor 1117 poor 0] o 2 0.1 0.0 G
3 h g
(G/(gxh))x100
6] 100 6 |100 6]100] 18 1.0 | 58.3 |f 71.6 (G/(gxh))x50
(G/(gxh))x0
(/g3
No. 6| x h) )
(Bxb+Dxd+Fxf+Hxh)/(b+d+f+h)
9 7 |l good | 6(85.7 good 6]86| good 5(71 17 0.8 | 81.0
fair | 1]14.3 fair 1114 fair 2|29 4 0.2 9.5
poor (0| O poor 0[O0 poor 0] o 0 0.0 0.0
7100 71100 71100 21 1.0 | 90.5 88.0
(G/g|3
At slxm| )
10 6 || good | 5]83.3 good 6 (100 good 6 |100} 17 0.9 94.4
11 fair|1[16.7 fair 0[O fair 0] o 1 0.1 2.8
poor (0| O poor 0[O0 poor 0] o 0 0.0 0.0
6| 100 61100 61100 18 1.0 | 97.2 81.5




¥81

1997

(A/a
0 0 0 0
No. % / % / % / % % % % % X b)
11 1| 5 very good (O] O [very good|O| O |very good{O| O | very good|O| O |very good| 1| 20 |very good| 2 | 40 |very good| 1| 20 | very good |1| 20 |(very good| 0| O 5 0.1 |11.1
good 3] 60 good 4 80 good 3| 60 good 4| 80 good 41 80 good 3] 60 good 3] 60 good 3| 60 good 51100 32 0.7 | 53.3
fair 2] 40 fair 0] 0 fair 2| 40 fair 1] 20 fair 0| O fair 0] o0 fair 1] 20 fair 11 20 fair 0] 0 7 0.2 ] 7.8
poor 0| 0 poor 0| 0 poor o o poor 0| o poor 0] 0 poor of o poor of o poor o o poor 0| 0 0 0.0 | 0.0
very poor | 0| O |very poor|Of O |very poor{0| O |very poor{O| O fvery poor]Of O |very poor] 0| O |very poor] O 0 | very poor [0| O [very poor[O| O 0 0.0 | 0.0
51100 4] 80 5| 100 5] 100 5] 100 5 | 100 5 | 100 5100 51100 44 1.0 | 72.2
(A/a
0 0 0 0
No | % / % / % / % % % % % X b)
12 8 very good | 0| O |very good| 2| 25 |very good|2]| 25 | very good [ 2| 25 |very good| 2| 25 |very good| 2 | 25 |very good| 2 | 25 | very good | 6| 75 |very good| 2| 25 20 0.3 | 27.8
good 7187.5] good 41 50 good 3137.5 good 41 50 good 41 50 good 6] 75 good 5162.5 good 2| 25 good 5162.9 40 0.6 | 41.7
fair 1]12.5] fair 2| 25 fair 1112.5 fair 2| 25 fair 2|25 fair of o fair 1(12.5 fair o o fair 1]12.9 10 0.1 | 6.9
poor o[ O poor o[ O poor 2] 25 poor 0 O poor o O poor 0] O poor 0] O poor 0] O poor o[ O 0.0 | 0.7
very poor | 0| O |very poor{0| O [very poor{Of O | very poor|Of O |very poorJ]O| O |very poor] 0| O |very pooj 0| O very poor |0 O |very poor|0O] O 0.0 | 0.0
8] 100 8] 100 8| 100 8] 100 8] 100 8 | 100 8 | 100 8| 100 8] 100 72 1.0 | 77.1
(A/a
0 0 0 0
No. % / % / % / % % % % % X b)
13 7 very good | 1]14.3|very good| 1[14.3|very good|{ 0| O | very good| 0| O |very good| 2[28.6|very good| 3 |42.9|very good| 3 |42.9| very good | 1|14.3[very good| 0| O 11 0.2 | 17.5
good 3142.9 good 5171.4] good 2128.6 good 3142.9] good 2(28.6] good 2 128.6] good 3142.9 good 4157.11 good 4 157.1) 28 0.4 | 33.3
fair 1]14.3 fair 1]14.3 fair 4157.1 fair 3142.9] fair 342.9] fair 2128.6| fair 1]14.3 fair 2128.6| fair 2128.4 19 0.3 ]15.1
poor 2128.6] poor 0| 0 poor 1114.3 poor 1|14.3] poor 0] 0 poor of o poor of o poor o o poor 1(14.3 0.1 | 2.0
very poor | 0| O |very poor|Of O |very poor{0| O |very poor{O| O fvery poor]Of O |very poor] 0| O |very poor] O 0 | very poor [0| O [very poor[O| O 0.0 | 0.0
71100 71100 7100 7] 100 71100 7 | 100 7 | 100 7100 71100 63 1.0 | 67.9
(A/a
0 0 0 0
No | % / % / % / % % % % % X b)
14 10 very good | 4] 40 |very good| 3| 30 |very good|3]| 30 | very good [ 4| 40 [very good] 5| 50 |very good| 3 | 30 |very good 4| 40 | very good | 3| 30 |very good| 4| 40 33 0.4 | 36.7
good 6] 60 good 1] 10 good 2| 20 good 41 40 good 41 40 good 6] 60 good 41 40 good 5| 50 good 5] 50 37 0.4 | 30.8
fair 2| 20 fair 5| 50 fair 41 40 fair 2] 20 fair 1| 10 fair 1|10 fair 2|20 fair 2| 20 fair 1] 10 20 0.2 | 11.1
poor o[ O poor o[ O poor 1| 10 poor 0 O poor o O poor 0] O poor 0] O poor 0] O poor o[ O 0.0 | 0.3
very poor | 0] O |very poor{0| O [very poor{Of O | very poor|O] O |very poorJ]O| O |very poor] 0| O |very poorj 0| O very poor |0 O |very poor|0O] O 0.0 | 0.0
12] 120 9] 90 10{ 100 10] 100 10| 100 10| 100 10| 100 10{ 100 10] 100 91 1.0 | 78.9
(A/a
0 0 0 0
No. % / % / % / % % % % % X b)
15 8 very good | 3]37.5|very good| 3 [37.5| very good| 2| 25 | very good | 4| 50 |very good| 2| 25 |very good| 4 | 50 |very good| 5 |62.5| very good |5]62.5(very good| 0| O 28 0.4 | 38.9
good 4 50 good 3137.5 good 41 50 good 4| 50 good 6| 75 good 2|25 good 3137.5 good 3137.5 good 7187.§ 36 0.5 | 37.5
fair 1]12.5 fair 2] 25 fair 1112.5] fair 0] 0 fair 0|l O fair 1]12.5 fair 0] o0 fair oj o fair 0] 0 5 0.1 ] 3.5
poor 0| 0 poor 0] 0 poor o o poor 0| o poor 0] 0 poor of o poor of o poor o o poor 0| 0 0 0.0 | 0.0
very poor | 0| O |very poor|Of O |very poor{0| O |very poor[{O| O [very poor]Of O |very poor] 0| O |very poor] O 0 | very poor [0| O [very poor[O| O 0 0.0 | 0.0
8] 100 8] 100 7187.5 8] 100 8] 100 7 {87.5 8 | 100 8| 100 7187.9 69 1.0 | 79.9




G8T

1997

(C/c|4 0 0 (E/e
No. % x d) % % % % x ) )
11 Il 5 fully met [0] O 0 0.0 | 0.0 too long |O| O | leisurely |O| O | too broad [0] O | too advanced [0]| O too deep o o0 0 0.0 0.0
mostly met | 5| 100 5 1.0 |66.0 ||about right| 5] 100 |about right] 4| 80 |about right| 4| 80 | about right | 4] 80 about right |4| 80 21 0.8 | 84.0
somewhat met | 0| O 0 0.0 | 0.0 too short (0] O too hard |0| O | too narrow|O| O [too elementary| 0| O [not deep enough| 0| O 0 0.0 0.0
no met 0f O 0 0.0 | 0.0
51100 5 1.0 |166.0 5] 100 4| 80 4] 80 4] 80 4] 80 21 0.8 | 84.0
(C/c|4 (E/e
No | % x d) % % % % x ) ()
12 8 fully met |2] 25 2 0.3 |25.0 too long |[Of O | leisurely |0] O | too broad | 1[12.5 too advanced | 1 [12.5 too deep ol 0 2 0.1 0.0
mostly met | 6| 75 6 0.8 |49.5 |labout right| 8] 100 |about right] 8 100 |about right| 7|87.5| about right | 6] 75 about right | 6| 75 35 0.9 | 87.5
somewhat met [ 0| O 0 0.0 | 0.0 too short |0O| O | too hard |0 O | too narrow|O| O |too elementary| 1[12.5|/not deep enough| 2 | 25 3 0.1 0.0
no met o O 0 0.0 | 0.0
8] 100 8 1.0 |74.5 8] 100 8| 100 8] 100 8| 100 8] 100 40 1.0 | 87.5
(C/c|4 0 0 (E/e
No. % x d) % % % % x ) )
13 7 fully met [0] O 0 0.0 | 0.0 too long |2(28.6| leisurely | 2|28.6] too broad | 3]42.9| too advanced [ 0| O too deep o o0 7 0.2 0.0
mostly met | 4]57.9 4 0.6 |37.7 ||about right|5|71.4)about right] 5(71.4]about right| 4|57.1] about right | 6(85.7] about right |4|57.1 24 0.7 | 68.6
somewhat met | 3 (42.9 3 0.4 |14.1 || too short |O| O too hard |0| O | too narrow | 0| O |too elementary| 2 |28.6|not deep enough| 3 (42.9 5 0.1 0.0
no met o O 0 0.0 | 0.0
71100 7 1.0 |51.9 71100 71100 71100 8| 114 71100 36 1.0 | 68.6
(C/c|4 (E/e| 3
0 0 0
No | % x d) % % % % x ) ()
14 10 fully met |3] 30 3 0.3 |30.0 too long |3 30 | leisurely [0] O | too broad [ 2| 20 | too advanced | 2| 20 too deep 1] 10 8 0.2 0.0
mostly met | 6| 60 6 0.6 |39.6 ||about right| 7] 70 |about right]10| 100 |about right| 8| 80 | about right | 8] 80 about right | 9] 90 42 0.8 | 84.0
somewhat met 0| O 0 0.0 | 0.0 too short |0| O | too hard |0 O | too narrow|O| O |too elementary| 0| O |not deep enough| O O 0 0.0 0.0
no met 1] 10 1 0.1 ]0.0
10] 100 10 1.0 |169.6 10{ 100 10{ 100 10] 100 10{ 100 10| 100 50 1.0 | 84.0
(C/c|4 (E/e| 3
No. % x d) % % % % x ) )
15 8 fully met |[2] 25 2 0.3 |25.0 too long |O| O | leisurely |0 O | too broad | 1]12.5| too advanced | 1 |12.5 too deep o 0 2 0.1 0.0
mostly met |5(62.9 5 0.6 |41.3 ||about right| 6| 75 |about right] 7 87.5]about right| 7|87.5| about right | 7|87.5 about right |7]87.5 34 0.9 | 85.0
somewhat met | 1(12.5 1 0.1 | 4.1 too short 2| 25 | too hard |1[12.5| too narrow|[O| O [too elementary| 0| O |[not deep enough| 1(12.5 4 0.1 0.0
no met o O 0 0.0 | 0.0
81100 8 1.0 |70.4 81100 8] 100 81100 8| 100 8] 100 40 1.0 | 85.0




981

1997

(G/g
No.
x| )
11 11l 5 |[good|3]| 60 good 4180 good 4180 11 0.7 73.3
fair| 2| 40 fair 1120 fair 1|20 4 0.3 13.3 A
poor | 0| O poor 0| o poor |0| O 0 0.0 0.0 a
(A/(axb))x100
(A/(axb))x75
(A/(axb))x50
5| 100 51100 51100 15 1.0 | 86.7 77.6 (A/(axb))x25
\o (/g (A/(axb))x0
i x h B
)| ) ) 4
12 8 |lgood| 6| 75 good 7188| good 3|38 16 0.7 | 66.7 C
fair 2] 25 fair 1|13| fair |4]50 7 0.3 14.6 4 ?C/(cxd))xlOO ¢
poor (0| O poor 0[O poor 1]13 1 0.0 0.0 (C/(cxd))x66
(C/(cxd))x33
(C/(cxd))x0
8] 100 8 {100 8100} 24 1.0 81.3 80.5 3 3 D
(G/g E
No. x h) ) 3 f e
(about right) (E/(exf))x100
13 7 || good | 4]57.1 good 6|86 good 2129 12 0.6 57.1 (too long, too short (E/(exf))x0
fair [3]42.9( fair 1|14 fair |4|57 8 0.4 | 19.0 F
poor (0| O poor 0| o0 poor 1|14 1 0.0 0.0 G
3 h g
(G/(gxh))x100
7] 100 7 |100 7]100] 21 1.0 | 76.2 | 68.6 (G/(gxh))x50
(G/(gxh))x0
(6/g
No.,
x| )
(Bxb+Dxd+Fxf+Hxh)/(b+d+f+h)
14 10 |[ good | 5| 50 good 7]170| good 7|70 19 0.6 | 63.3
fair 4] 40 fair 3|30| fair |3]30 10 0.3 | 16.7
poor (1] 10 poor 0[O0 poor 0] o 1 0.0 0.0
10{ 100 10100 10{100} 30 1.0 | 80.0 80.0
(G/g
No.
x| )
15 8 || good| 4| 50 good 6|75 good 6|75 16 0.7 66.7
fair | 4| 50 fair 2125 fair 2|25 8 0.3 16.7
poor (0| O poor 0[O0 poor 0] o 0 0.0 0.0
8| 100 81100 81100 24 1.0 | 83.3 81.3




181

1997

(A/a
0 0 0 0
No. % / % / % / % % % % % X b)
16 7 very good | 3]42.9|very good| 1{14.3| very good| 2]28.6[ very good | 1 |14.3|very good| 5 |71.4|very good| 2 |28.6[very good| 4 |57.1| very good |5|71.4|very good| 4]57.1 27 0.4 | 42.9
good 4 |57.1] good 6(85.7 good 5171.4 good 6185.7] good 1]14.3] good 4157.1 good 3 142.9 good 2128.6| good 3142.9 34 0.5 | 40.5
fair 0] 0 fair 0] 0 fair oj o fair 0] 0 fair 1]14.3] fair 1]14.3] fair 0] o0 fair o| o fair 0] 0 2 0.0 | 1.6
poor 0| 0 poor 0| 0 poor o o poor 0| o poor 0] 0 poor of o poor of o poor o o poor 0| 0 0 0.0 | 0.0
very poor | 0| O |very poor|Of O |very poor{0| O |very poor{O| O fvery poor]Of O |very poor] 0| O |very poor] O 0 | very poor [0| O [very poor[O| O 0 0.0 | 0.0
71100 71100 7100 7] 100 71100 7 | 100 7 | 100 7100 71100 63 1.0 | 84.9
(A/a
0 0 0
No | % / % / % / % % % % % X b)
17{T1QC
(A/a
0 0 0 0
No. % / % / % / % % % % % X b)
18 6 very good (O] O [very good| O O |very good|2]33.3| very good| 0| O |very good| 0| O |very goodf 0| O |very good O| O very good | 1(16.7|very good| 1|16.7 4 0.1 | 7.4
good 6| 100 good 3] 50 good 3] 50 good 3] 50 good 6| 100 good 6 | 100 good 6 | 100 good 4166.7| good 4166.7 41 0.8 | 56.9
fair 0] 0 fair 2133.3 fair 1116.7| fair 3] 50 fair 0|l O fair 0] o0 fair 0] o0 fair 1116.7| fair 1116.7 0.1] 7.4
poor 0| 0 poor 0| 0 poor o o poor 0| o poor 0] 0 poor of o poor of o poor o o poor 0| 0 0.0 | 0.0
very poor | 0| O |very poor|116.7|very poor{0| O |very poor[{O0| O [very poor]Of O |very poor] 0| O |very poor] O O | very poor [0| O [very poor[O| O 0.0 | 0.0
6] 100 6] 100 6| 100 6| 100 6] 100 6 | 100 6 | 100 6| 100 6] 100 54 1.0 | 71.8
(A/a
0 0 0
No | % / % / % / % % % % % X b)
19 12 very good | 7]58.3|very good| 6| 50 |very good|4]33.3| very good [ 6| 50 |very good|11|91.7|very good| 8 |66.7|very good| 9| 75 | very good | 9| 75 |very good| 8 |66.7 68 0.6 | 63.0
good 5141.7) good 3] 25 good 8166.7 good 6] 50 good 1]18.3| good 4133.3] good 3] 25 good 3| 25 good 4133.3 37 0.3 | 25.7
fair 0] 0 fair 2116.7) fair o o fair 0| o fair 0] 0 fair of o fair of o fair o o fair 0] 0 2 0.0 | 0.9
poor o[ O poor o[ O poor 0] O poor 0 O poor o O poor 0] O poor 0] O poor 0] O poor ol O 0 0.0 | 0.0
very poor | 0| O |very poor{0| O [very poor{Of O | very poor|O] O |very poorJ]O| O |very poor] 0| O |very poorj 0| O very poor |0 O |very poor|0O] O 0 0.0 | 0.0
12] 100 11]91.7| 12{ 100 12] 100 12| 100 12| 100 12| 100 12{ 100 12] 100 107 1.0 | 89.6




881

1997

(C/c|4 0 0 (E/e
No. % x d) % % % % x ) )
16 7 fully met |3]42.9 3 0.4 |42.9 too long |O| O | leisurely | 2|28.6] too broad | 3]42.9| too advanced [ 0| O too deep o o0 5 0.1 0.0
mostly met | 4]57.1 4 0.6 |37.7 ||about right]|5|71.4)about right| 4 (57.1]about right| 3 |42.9] about right | 7[100| about right | 7]100 26 0.7 | 74.3
somewhat met | 0| O 0 0.0 | 0.0 too short |1|14.3| too hard [0| O | too narrow|[O| O |too elementary| 0| O [not deep enough| 0| O 1 0.0 0.0
no met 0f O 0 0.0 | 0.0
71100 7 1.0 180.6 6185.7 6]85.7 6(85.8 7| 100 71100 32 0.9 | 74.3
(C/c|4 (E/e| 3
No | % x d) % % % % x ) ()
17(T1QC
(C/c|4 0 0 (E/e| 3
No. % x d) % % % % x ) )
18 6 fully met |1]16.7 1 0.2 |16.7 too long |O| O | leisurely |0 O | too broad [0]| O | too advanced | 1]16.7 too deep o o0 1 0.0 0.0
mostly met | 3| 50 3 0.5 |33.0 ||about right]| 6| 100 |about right] 6| 100 |about right| 5|83.3| about right | 5(83.3] about right |5]83.3 27 0.9 | 90.0
somewhat met | 2 [33.3 2 0.3 [11.0 || too short |O| O too hard |0| O | too narrow| 1]16.7|too elementary| 0| O |not deep enough| 1 (16.7 2 0.1 0.0
no met o O 0 0.0 | 0.0
6] 100 6 1.0 160.7 6] 100 6] 100 6] 100 6| 100 6] 100 30 1.0 | 90.0
(C/c|4 (E/e| 3
0 0 0
No | % x d) % % % % x ) ()
19 12 fully met |3] 25 3 0.3 |25.0 too long |[Of O | leisurely |2]16.7| too broad | 3| 25 | too advanced | 1|8.3 too deep 216.7 8 0.1 0.0
mostly met | 8]66.7 8 0.7 |44.0 |labout right|11]|91.7|about right| 9| 75 |about right| 9| 75 | about right |10|83.3| about right | 7[58.3 46 0.8 | 76.7
somewhat met [ 0| O 0 0.0 | 0.0 too short | 1]|8.3]| too hard |0 O | too narrow|O| O |[too elementary| 1|8.3|not deep enough| O O 2 0.0 0.0
no met o O 0 0.0 | 0.0
11]91.7 11 0.9 |69.0 12| 100 11{91.7 12] 100 12{99.9 9] 75 56 0.9 | 76.7




68T

1997

G/g|3
No.
x| )
16 7 || good | 6]85.7 good 71100 good 5|71 18 0.9 85.7
fair|1(14.3 fair 0| o0 fair 2129 8 0.1 7.1 A
poor | 0| O poor 0| o poor |0| O 0 0.0 0.0 a
(A/(axb))x100
(A/(axb))x75
(A/(axb))x50
7100 71100 71100 21 1.0 | 92.9 83.0 (A/(axb))x25
X /9|3 (A/(axb))x0
o x| () B
17(T1QC C
4 d c
(C/(cxd))x100
(C/(cxd))x66
(C/(cxd))x33
(C/(cxd))x0
D
(G/g|3 E
No. x h) () 3 f e
(about right) (E/(exf))x100
18 6 || good | 4166.7 good 6 (100 good 4167 14 0.8 77.8 (too long, too short (E/(exf))x0
fair(2033.3[ fair oo fair |2(33 4 0.2 | 111 F
poor (0| O poor 0[O0 poor 0] o 0 0.0 0.0 G
3 h g
(G/(gxh))x100
6] 100 6 |100 6100 18 1.0 | 88.9 |f 79.1 (G/(gxh))x50
(G/(gxh))x0
(/g3
No.
x| )
(Bxb+Dxd+Fxf+Hxh)/(b+d+f+h)
19 12 || good [11]91.7| good 10/ 83| good |6]50 27 0.8 | 75.0
fair|1(8.3 fair 2117 fair |[4(33 7 0.2 9.7
poor (0| O poor 0[O0 poor 0] 0 0 0.0 0.0
12{ 100 12100 10 83 34 0.9 | 84.7 84.0




06T

1998

(A/a
0 0 0
No. % / % / % / % % % % % X b)
1 8 very good [O0]| O [very good|Of O |very good|2]| 25 | very good | 2| 25 |very good| 4| 50 |very good| 3 |37.5|very good| 2 | 25 | very good |5][62.5|very good| 1]12.5 19 0.3 | 26.4
good 7187.5 good 7187.5 good 41 50 good 5162.5] good 4| 50 good 5162.5 good 5162.5 good 3137.5 good 5162.§ 45 0.6 | 46.9
fair 1]12.5 fair 1]12.5 fair 2| 25 fair 1]12.5| fair 0| O fair 0] o0 fair 1]12.5 fair o| o fair 2] 25 8 0.1 ] 5.6
poor 0| 0 poor 0| o poor o o poor 0] 0 poor 0] 0 poor of o poor of o poor o o poor 0] 0 0 0.0 | 0.0
very poor | 0| O |very poor|O0f O |very poor{0| O |very poor 0| O [very poor]Of O |very poor] 0| O |very poor] 0| O | very poor [0| O [very poor[O| O 0 0.0 | 0.0
8] 100 8] 100 8| 100 8] 100 8] 100 8 | 100 8 | 100 8| 100 8] 100 72 1.0 | 78.8
(A/a
0 0 0 0 0
No | % / % / % / % % % % % X b)
2 8 very good | 2| 25 |very good| 3|37.5|very good|2]| 25 | very good | 3 [37.5|very good| 4| 50 |very good| 4 [ 50 |very good| 3 |37.5| very good |6| 75 |very good[O| O 27 0.4 | 37.5
good 5162.5| good 3137.5] good 6| 75 good 5162.5] good 3137.5 good 3137.5| good 5162.5 good 1112.5| good 7187.9 38 0.5 | 39.6
fair 1]12.5] fair 2] 25 fair o o fair 0] 0 fair 0] 0 fair 1(12.5| fair o o fair 1]12.5| fair 1]12.9 6 0.1 | 4.2
poor o[ O poor 0 O poor 0] O poor o[ O poor 1112.5 poor 0] O poor 0l 0 poor 0] O poor o[ O 1 0.0 | 0.3
very poor | 0| O |very poor{0| O [very poor|Of O | very poor|0] O |very poor]O| O |very poor] 0| O |very poorj O] O very poor |0f O |very poor|0O] O 0.0 | 0.0
8] 100 8] 100 8| 100 8] 100 8] 100 8 | 100 8 | 100 8| 100 8] 100 72 1.0 | 81.6
(A/a
0 0 0
No. % / % / % / % % % % % X b)
3 6 very good | 1]16.7|very good| 1[16.7| very good| 2|33.3| very good | 2 |33.3|very good| 4 |66.7|very good] 0| O |[very good 3| 50 | very good |2]33.3[very good| 0] O 15 0.3 | 27.8
good 4166.7| good 3| 50 good 3] 50 good 3] 50 good 233.3] good 6 | 100 good 3] 50 good 4166.7| good 5183.3 33 0.6 | 45.8
fair 1]16.7 fair 1116.7 fair oj o fair 1]16.7] fair 0| O fair 0] o0 fair 0] 0 fair o| o fair 1116.7 0.1 ] 3.7
poor 0| 0 poor 1]16.7 poor 1116.7, poor 0] 0 poor 0] 0 poor of o poor of o poor o o poor 0] 0 0.0 | 0.9
very poor | 0| O |very poor|O0f O |very poor{0| O |very poor[O0| O [very poor{Of O |very poor] 0| O |very poorl 0| O | very poor [O| O [very poor[O| O 0.0 | 0.0
6] 100 6| 100 6| 100 6] 100 6] 100 6 | 100 6 | 100 6| 100 6] 100 54 1.0 | 78.2
(A/a
0 0 0 0 0
No | % / % / % / % % % % % X b)
4 8 very good | 1]12.5|very good| 2| 25 |very good|1]12.5| very good | 1 [12.5|very good| 2| 25 |very good| 2 | 25 |very good 4 | 50 | very good |3|37.5|very good| 2| 25 18 0.3 ]25.0
good 5162.5| good 41 50 good 5162.5 good 5162.5] good 41 50 good 3137.5| good 41 50 good 3137.5 good 3137.9 36 0.5 | 37.5
fair 1]12.5] fair 2| 25 fair 1112.5 fair 2| 25 fair 0] 0 fair 1(12.5| fair of o fair 1]12.5| fair 1]12.9 9 0.1 | 6.3
poor 1112.5 poor 0 O poor 0] O poor o[ O poor 1112.5 poor 1[12.5 poor 0l 0 poor 1{12.5] poor 21 25 6 0.1 | 2.1
very poor | 0| O |very poor{0| O |very poor|1{12.5] very poor| 0] O |very poor]O| O |very poor] 0| O |very poorj 0] O very poor |0 O |very poor|0O] O 1 0.0 | 0.0
8] 100 8] 100 8| 100 8] 100 7187.5] 7 (87.5 8 | 100 8| 100 8] 100 70 1.0 | 70.8
(A/a
0 0 0
No. % / % / % / % % % % % X b)
5 10 very good | 1] 10 |[very good| 2| 20 |very good|2| 20 | very good | 1| 10 |very good| 2| 20 |very good 2 | 20 |very good| 4 | 40 | very good |7| 70 |very good| 3| 30 24 0.3 | 26.7
good 8] 80 good 71 70 good 5] 50 good 6] 60 good 4| 40 good 7170 good 6| 60 good 3] 30 good 5] 50 51 0.6 | 42.5
fair 1] 10 fair 1] 10 fair 3] 30 fair 3] 30 fair 2| 20 fair 1] 10 fair 0] 0 fair oj o fair 2] 20 13 0.1] 7.2
poor 0| 0 poor 0| o poor o o poor 0] 0 poor 2] 20 poor of o poor of o poor o o poor 0] 0 0.0 | 0.6
very poor [ 0| O |very poor|O0f O |very poor{0| O |very poor 0| O [very poor{Of O |very poor] 0| O |very poor] 0| O | very poor [0| O [very poor[O| O 0.0 | 0.0
10] 100 10] 100 10{ 100 10] 100 10| 100 10| 100 10| 100 10{ 100 10] 100 90 1.0 | 76.9




T61

1998

(C/c| 4 0 (E/e| 3
No. % x d) % % % % X ) )
1 8 fully met |[2] 25 2 0.3 | 25.0 too long | 1(12.5| leisurely | 1{12.5 too broad | 4| 50 | too advanced | 0| O too deep 1(12.§ 7 0.2 0.0
mostly met | 6| 75 6 0.8 | 49.5 [|about right| 7|87.5[about right| 7|87.5/about right| 4| 50 | about right | 7|87.5 about right |5]62.5 30 0.8 | 75.0
somewhat met | 0| O 0 0.0 | 0.0 too short [0] O too hard (0| O | too narrow|O| O |too elementary| 1 |12.5/not deep enough| 2| 25 8 0.1 0.0
no met 0] 0 0 0.0 | 0.0
8] 100 8 1.0 | 74.5 8| 100 8| 100 8] 100 8] 100 8] 100 40 1.0 [ 75.0
(C/c| 4 (C/c|3
0 0 0 0
No | % x d) % % % % x d) )
2 8 fully met |0] O 0 0.0 | 0.0 too long |[1[12.5 leisurely |O| O | too broad | 1]12.5] too advanced | 1[12.5 too deep 0] 0 3 0.1 0.0
mostly met | 6| 75 6 0.8 | 49.5 |labout right|7|87.5|about right] 7|87.5/about right| 7|87.5 about right | 6] 75 about right |787.5 34 0.9 | 85.0
somewhat met | 1{12.5 1 0.1 ] 4.1 too short |0| O | too hard |[0| O | too narrow| 0| O |too elementary| 1|12.5|not deep enough| 1 |12.5 2 0.1 0.0
no met 0] 0 0 0.0 | 0.0
0
7187.9 7 0.9 | 53.6 8| 100 7187.5 8] 100 8] 100 8] 100 39 1.0 | 85.0
(C/c| 4 (C/c| 3
No. % x d) % % % % x d) )
3 6 fully met [O0] O 0 0.0 | 0.0 too long | 1(16.7] leisurely | 1|16.7|] too broad [ 0| O | too advanced | 1]16.7 too deep of o0 8 0.1 0.0
mostly met | 4(66.7 4 0.7 | 44.0 ||about right|5|83.3Jabout right| 5|83.3about right| 6 |100| about right | 4|66.7] about right |5]83.3 25 0.8 | 83.3
somewhat met | 1[16.7 1 0.2 | 5.5 too short [0] O too hard (0| O | too narrow|O| O |too elementary| 1 |16.7|not deep enough| 1|16.7 2 0.1 0.0
no met o O 0 0.0 | 0.0
5183.4 5 0.8 | 49.5 6| 100 6| 100 6] 100 6| 100 6] 100 30 1.0 | 83.3
(C/c| 4 (C/c|3
0 0 0 0
No | % x d) % % % % x d) )
4 8 fully met |1]12.§ 1 0.1 | 12.5 too long | 2| 25 | leisurely | 3]|37.5| too broad [0] O | too advanced | 1[12.5 too deep o O 6 0.2 0.0
mostly met | 4| 50 4 0.5 | 33.0 |labout right|6]| 75 |about right] 562.5/about right| 7|87.5 about right | 5[62.5] about right |4]| 50 27 0.7 | 67.5
somewhat met | 3137.5 3 0.4 |112.4 too short |0| O | too hard [O| O | too narrow | 1[12.5/too elementary| 2| 25 |not deep enough| 4| 50 7 0.2 0.0
no met o O 0 0.0 | 0.0
8] 100 8 1.0 | 57.9 8| 100 8| 100 8] 100 8] 100 8] 100 40 1.0 | 67.5
(C/c| 4 (C/c| 3
No. % x d) % % % % x d) )
5 10 fully met |[1] 10 1 0.1 | 10.0 too long | 3| 30 | leisurely |0 O | too broad [ 3| 30 | too advanced | 1| 10 too deep 1] 10 8 0.2 0.0
mostly met | 8| 80 8 0.8 | 52.8 ||about right| 7| 70 |about right{10] 100 |about right| 7| 70 | about right | 8| 80 about right | 8| 80 40 0.8 | 80.0
somewhat met | 1| 10 1 0.1 | 3.3 too short [0] O too hard (0| O | too narrow|O| O |too elementary| 1| 10 [not deep enough| 1| 10 2 0.0 0.0
no met o O 0 0.0 | 0.0
10] 100 10 1.0 | 66.1 10{ 100 10{ 100 10| 100 10 100 10] 100 50 1.0 [ 80.0




¢61

1998

(G/g
No.
x| )
1 8 || good | 7]87.5 good 5] 63 good 6|75 18 0.8 75.0
fair|1|12.5 fair 3|38 fair 1113 5 0.2 10.4 A
poor 0| O poor 0| o poor |0| O 0 0.0 0.0 a
(A/(axb))x100
(A/(axb))x75
(A/(axb))x50
8| 100 8100 7]88 23 1.0 | 85.4 78.6 (A/(axb))x25
\o (E/e (A/(axb))x0
i x f B
)| C) ) 4
2 8 |l good|3]37.5 good 6|75 good 7|88 16 0.7 | 66.7 C
fair [ 5(62.5 fair 2|25| fair |1]13 8 0.3 | 16.7 4 ?C/(cxd))xloo ¢
poor (0| O poor 0[O0 poor 0 0 0.0 0.0 (C/(cxd))x66
(C/(cxd))x33
(C/(cxd))x0
8| 100 8 (100 8100} 24 1.0 83.3 81.3 3 3 D
(E/e E
No. x ) () 3 f e
(about right) (E/(exf))x100
3 6 || good| 3| 50 good 3|50 good 4167 10 0.6 55.6 (too long, too short (E/(exf))x0
fair| 3| 50 fair 3150 fair 2|33 8 0.4 22.2 F
poor (0| O poor 0[O poor 0] o 0 0.0 0.0 G
3 h g
(G/(gxh))x100
6] 100 6 |100 6100 18 J1.0 | 77.8 |f 78.0 (G/(gxh))x50
(G/(gxh))x0
(E/e
No.,
xBH| )
(Bxb+Dxd+Fxf+Hxh)/(b+d+f+h)
4 8 |l good|1]12.5 good 5]63| good 3|38 9 0.4 | 37.5
fair 6| 75 fair 3|38| fair |5|63 14 0.6 | 29.2
poor (0| O poor o0 poor 0 0 0.0 0.0
7187.5 81100 81100 23 1.0 | 66.7 68.5
(E/e
No.
xB| )
5 10 |[good | 9| 90 good 9190 good 9190 27 0.9 90.0
fair| 1| 10 fair 1]10 fair 1|10 3 0.1 5.0
poor (0| O poor oo poor 0 0 0.0 0.0
10{ 100 10100 10{100} 30 1.0 | 95.0 80.2




€61

1998

(A/a
0 0 0
No. % / % / % / % % % % % X b)
6 very good [O0]| O |very good|1|12.5|very good|O| O | very good|O| O |very good| 2| 25 |very good| 1 [12.5|very good] 4 | 50 | very good |1|12.5|very good| 2| 25 11 0.2 | 15.3
good 3137.5 good 2| 25 good 2| 25 good 4 50 good 5162.5 good 41 50 good 21 25 good 5162.5 good 2] 25 29 0.4 | 30.2
fair 41 50 fair 41 50 fair 5162.5 fair 3137.5| fair 0|l O fair 3137.5| fair 2125 fair 2| 25 fair 41 50 27 0.4 | 18.8
poor 1]12.5| poor 1]12.5 poor o o poor 1]12.5] poor 1(12.5/ poor of o poor of o poor o o poor 0] 0 4 0.1 1.4
very poor | 0| O |very poor|O0f O |very poor|1]12.5| very poor 0| O [very poor{Of O |very poor] 0| O |very poorl 0| O | very poor [0| O [very poor[O| O 1 0.0 | 0.0
8] 100 8] 100 8| 100 8] 100 8] 100 8 | 100 8 | 100 8| 100 8] 100 72 1.0 | 65.6
(A/a
0 0 0 0 0
No | % / % / % / % % % % % X b)
7 very good | 0| O |very good|2]22.2|very good| 0| O | very good |2 |22.2|very good| 4 [44_4|very good| 6 |66.7|very good| 4 |44.4] very good |8|88.9|very good| 3[33.3 29 0.4 | 35.8
good 7177.8] good 6166.7 good 5155.6 good 4144.4 good 5155.6] good 2122.2| good 5155.6 good 1111.1] good 6166.7 41 0.5 | 38.0
fair 2122.2] fair 1]11.1 fair 3133.3 fair 3133.3] fair 0] 0 fair 1(11.1] fair of o fair o o fair 0] 0 10 0.1 | 6.2
poor o[ O poor 0 O poor 1(11.1] poor o[ O poor o O poor 0] O poor 0l 0 poor 0] O poor o[ O 0.0 | 0.3
very poor | 0| O |very poor{0| O [very poor|Of O | very poor|0] O |very poor]O| O |very poor] 0| O |very poorj O] O very poor |0f O |very poor|0O] O 0.0 | 0.0
9] 100 9| 100 9| 100 9199.9 9] 100 9 | 100 9 | 100 9| 100 9] 100 81 1.0 | 80.2
(A/a
0 0 0
No. % / % / % / % % % % % X b)
8 very good |[O0]| O |very good| 1[14.3|very good| 3|42.9| very good | 3 |42.9|very good| 2 |28.6|very good| 3 [42.9|very good| 5|71.4| very good | 6[85.7|very good| 2|28.4 25 0.4 | 39.7
good 5171.4 good 4157.1 good 3142.9 good 3142.9] good 3(42.9] good 3142.9] good 1114.3 good 1{14.3] good 4 157.1) 27 0.4 | 32.1
fair 2128.6 fair 1114.3 fair 1114.3 fair 1]14.3] fair 2128.6| fair 1]14.3] fair 1114.3 fair 0] 0 fair 1114.3 10 0.2 | 7.9
poor 0| 0 poor 1]14.3 poor o o poor 0] 0 poor 0] 0 poor of o poor of o poor o o poor 0] 0 0.0 | 0.4
very poor | 0| O |very poor|O0f O |very poor{0| O |very poor[O0| O [very poor{Of O |very poor] 0| O |very poorl 0| O | very poor [O| O [very poor[O| O 0.0 | 0.0
71100 7] 100 7100 71100 71100 7 | 100 7 | 100 7100 71100 63 1.0 | 80.2
(A/a
0 0 0 0 0
No | % / % / % / % % % % % X b)
9 very good | 0| O |very good|0| O |very good|1]12.5| very good | 1[12.5|very good| 0| O |very good| 1 [12.5|very goodl 0| O | very good |1|12.5|very good| 2| 25 6 0.1 ] 8.3
good 41 50 good 5162.5] good 2| 25 good 2] 25 good 41 50 good 3137.5| good 6] 75 good 41 50 good 5162.9 35 0.5 | 36.5
fair 41 50 fair 2| 25 fair 41 50 fair 41 50 fair 1(12.5] fair 41 50 fair 2| 25 fair 1]12.5| fair 1]12.9 23 0.3 | 16.0
poor o[ O poor 112.5 poor 1(12.5 poor 112.5] poor 1112.5 poor 0] O poor 0l 0 poor 1{12.5] poor o[ O 5) 0.1 | 1.7
very poor | 0] O |very poor{0| O |very poor|Of O | very poor|0] O |very poor| 2| 25 |very poor] 0| O |very poorj O] O very poor | 1[12.5|very poor| 0] O 3 0.0 | 0.0
8] 100 8] 100 8| 100 8] 100 8] 100 8 | 100 8 | 100 8| 100 8] 100 72 1.0 | 62.5
(A/a
0 0 0
No. % / % / % / % % % % % X b)
10 very good | 3]42.9|very good| 2 [28.6| very good| 1|14.3| very good | 1 |14.3|very good| 5 |71.4|very good| 3 [42.9|very good| 3 |42.9| very good | 3[42.9|very good| 1]14.3 22 0.3 | 34.9
11 good 4 |57.1] good 5(71.4 good 5171.4 good 6185.7] good 2128.6] good 4157.1 good 4 157.1 good 4157.1f good 6(85.7 40 0.6 | 47.6
fair 0] 0 fair 0] 0 fair 1114.3 fair 0] 0 fair 0| O fair 0] o0 fair 0] 0 fair o| o fair 0] 0 1 0.0 | 0.8
poor 0| 0 poor 0| o poor o o poor 0] 0 poor 0] 0 poor of o poor of o poor o o poor 0] 0 0 0.0 | 0.0
very poor | 0| O |very poor|O0f O |very poor{0| O |very poor[O0| O [very poor]Of O |very poor] 0| O |very poorl 0| O | very poor [0| O [very poor[O| O 0 0.0 | 0.0
71100 7] 100 7100 71100 71100 7 | 100 7 | 100 7100 71100 63 1.0 | 83.3
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(C/c| 4 0 (C/c| 3
No. b X d) % % g . clxa| ()
6 fully met [0] O 0 0.0 | 0.0 too long | 1(12.5] leisurely | 2| 25 | too broad 50 | too advanced (0] O too deep 2] 25 9 0.2 0.0
mostly met |5(62.9 5 0.6 | 41.3 [|about right|5|62.5[about right| 5|62.5/about right 50 | about right | 6] 75 about right | 337.5 23 0.6 | 57.5
somewhat met | 2| 25 2 0.3 | 8.3 too short 2] 25 | too hard |1]12.5( too narrow 0 |too elementary| 2| 25 |not deep enough| 337.5 8 0.2 0.0
no met 1]12.9 1 0.1 ] 0.0
8] 100 8 1.0 | 49.5 8| 100 8| 100 100 8] 100 8] 100 40 1.0 | 57.5
(C/c| 4 (C/c|3
No | % x d) % % % % clx a )
7 fully met |0] O 0 0.0 | 0.0 too long |2(22.2| leisurely |0O| O | too broad 11.1] too advanced | 1 |11.1 too deep o O 4 0.1 0.0
mostly met | 8(88.9 8 0.9 | 58.7 |labout right]| 6]66.7|about right] 9| 100 |about right| 8|88.9| about right | 7|77.8] about right |7]77.8 37 0.8 | 82.2
somewhat met | 1{11.1 1 0.1 ] 3.7 too short | 1]|11.1] too hard [0| O | too narrow 0 |too elementary| 0| O |[not deep enough| 2 [22.2 3 0.1 0.0
no met o O 0 0.0 | 0.0
9] 100 9 1.0 | 62.3 9| 100 9| 100 100 8188.9 9] 100 44 1.0 | 82.2
(C/c| 4 0 (C/c| 3
No. % x d) % % % % ¢ |x d )
8 fully met |2]28.4 2 0.3 | 28.6 too long |1(14.3] leisurely |0 O | too broad 14_3| too advanced | 0] O too deep 1114.3 8 0.1 0.0
mostly met |5(71.4 5} 0.7 | 47.1 [|about right| 6|85.7[about right| 7| 100 |about right 85.7| about right | 7100 about right |4|57.1) 30 0.9 | 85.7
somewhat met | 0| O 0 0.0 | 0.0 too short [0] O too hard (0| O | too narrow 0 |too elementary|] 0| O |not deep enough| 2 |28.4§ 2 0.1 0.0
no met o O 0 0.0 | 0.0
71100 7 1.0 | 75.7 7100 7100 100 7] 100 71100 35 1.0 | 85.7
(C/c| 4 (C/c|3
0 0 0 0
No | % x d) % % % % clx dy )
9 fully met |1]12.§ 1 0.1 ]| 12.5 too long | 2| 25 | leisurely |O| O | too broad 0 | too advanced [ 0| O too deep o O 2 0.1 0.0
mostly met |5]62.5 5 0.6 | 41.3 |labout right| 6| 75 |about right] 7|87.5/about right 75 | about right | 7187.5| about right |6]| 75 32 0.8 | 80.0
somewhat met | 2| 25 2 0.3 | 8.3 too short |0| O | too hard |1]12.5| too narrow 25 |too elementary| 1|12.5|not deep enough| 2| 25 6 0.2 0.0
no met o O 0 0.0 | 0.0
8] 100 8 1.0 | 62.0 8| 100 8| 100 100 8] 100 8] 100 40 1.0 | 80.0
(C/c| 4 (C/c| 3
No. % x d) % % % % ¢|x d )
10 fully met [0] O 0 0.0 | 0.0 too long |1(14.3] leisurely |0 O | too broad 14_3| too advanced | 0] O too deep 1(14.3 8 0.1 0.0
11 mostly met | 7| 100 7 1.0 | 66.0 [[about right]| 6|85.7|about right] 7| 100 |about right 85.7| about right | 7100 about right |6 |85.7 32 0.9 | 91.4
somewhat met | 0| O 0 0.0 | 0.0 too short [0] O too hard (0| O | too narrow 0 |too elementary| 0| O |not deep enough| 0| O 0 0.0 0.0
no met o O 0 0.0 | 0.0
71100 7 1.0 | 66.0 7100 7| 100 100 7] 100 71100 35 1.0 | 91.4




1998

S61

(E/e|3
L2k ElxH| ()
6 8 || good| 4] 50 good 4150 good 2|25 10 0.4 41.7
fair| 4| 50 fair 4150 fair 5]63 13 0.5 27.1 A
poor |0| O poor 0|l 0| poor |1f13 1 0.0 | 0.0 a
(A/(axb))x100
(A/(axb))x75
(A/(axb))x50
8| 100 8100 81100 24 1.0 | 68.8 63.0 (A/(axb))x25
- . (Eée 3 (A/(axb))xé)
X
)| C) ) 4
7 9 |l good|6|66.7 good 5|56| good |4|44 15 0.6 | 55.6 C
fair | 3(33.3 fair 4144 fair |5]|56 12 0.4 | 22.2 4 ?C/(cxd))xloo ¢
poor (0| O poor 0[O0 poor 0] 0 0 0.0 0.0 (C/(cxd))x66
(C/(cxd))x33
(C/(cxd))x0
91 100 9 {100 9]100) 27 1.0 77.8 79.4 3 3 D
(E/e| 3 E
ok ElxH| ) 3 f e
(about right) (E/(exf))x100
8 7 good | 4157.1 good 6|86 good 4|57 14 0.7 66.7 (too |()|']gI too short (E/(exf))x()
fair (3]42.9| fair 1|14 fair |3[43 7 0.3 | 16.7 F
poor (0| O poor 0[O poor 0] o 0 0.0 0.0 G
3 h g
(G/(gxh))x100
7] 100 7 |100 7]100] 21 1.0 | 83.3 |f 82.0 (G/(gxh))x50
(G/(gxh))x0
No (E/e|3
] ElxH| )
(Bxb+Dxd+Fxf+Hxh)/(b+d+f+h)
9 8 |lgood|2]| 25 good 7188| good 3|38 12 0.5 | 50.0
fair [ 5(62.5 fair 1|13| fair |4]50 10 0.4 | 20.8
poor | 1]12.5 poor o0 poor 1]13 2 0.1 0.0
8| 100 81100 81100 24 1.0 | 70.8 68.7
(E/e|3
s ElxD| ()
10 7 || good|4]57.1 good 6|86 good 6|86 16 0.8 76.2
11 fair|2|28.6 fair 1114 fair 1|14 4 0.2 9.5
poor (0| O poor oo poor 0|0 0 0.0 0.0
6185.7 71100 71100 20 1.0 | 85.7 85.0
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1998

(A/a
0 0 0
No. % / % / % / % % % % % X b)
11 11 very good | 1]16.7|very good| 2|33.3|very good|1]16.7] very good (0| O [very good| 1|16.7|very good O [ O |very good 1|16.7| very good |3| 50 |very good| 1{16.7 10 0.2 | 18.5
good 5183.3 good 4166.7 good 2133.3 good 4166.7 good 5(83.3] good 5183.3] good 5183.3 good 3] 50 good 5183.3 38 0.7 | 52.8
fair 0] 0 fair 0] 0 fair 2133.3 fair 2133.3] fair 0| O fair 1]16.7 fair 0] 0 fair oj o fair 0] 0 5 0.1 ] 4.6
poor 0| 0 poor 0| o poor o o poor 0] 0 poor 0] 0 poor of o poor of o poor o o poor 0] 0 0 0.0 | 0.0
very poor | 0| O |very poor|O0f O |very poor{0| O |very poor[O0| O [very poor]Of O |very poor] 0| O |very poor] 0| O | very poor [0| O [very poor[O| O 0 0.0 | 0.0
6] 100 6| 100 5183.3 6] 100 6] 100 6 | 100 6 | 100 6| 100 6] 100 53 1.0 | 75.9
(A/a
0 0 0 0 0
No | % / % / % / % % % % % X b)
12 very good | 1]12.5|very good| 1]12.5|very good|1]12.5| very good | 1 [12.5|very good| 1 [12.5|very good| 3 [37.5|very good| 2 | 25 | very good |5|62.5|very good| 4| 50 19 0.3 | 26.4
good 5162.5| good 5162.5] good 1]12.5] good 2] 25 good 3137.5 good 1]12.5 good 5162.5 good 3137.5 good 3137.9 28 0.4 ]129.2
fair 2| 25 fair 2| 25 fair 3137.5 fair 41 50 fair 3137.5 fair 1(12.5| fair 1(12.5 fair o o fair 1]12.9 17 0.2 | 11.8
poor o[ O poor 0 O poor 1(12.5 poor 112.5] poor 1112.5 poor 2125 poor 0l 0 poor 0] O poor o[ O 5) 0.1 | 1.7
very poor | 0| O |very poor{0| O |very poor|2| 25 | very poor| 0] O |very poor] 0| O |very poor] 1 |12.5{very poorj O] O very poor |0f O |very poor|0O] O 3 0.0 | 0.0
8] 100 8] 100 8| 100 8] 100 8] 100 8 | 100 8 | 100 8| 100 8] 100 72 1.0 | 69.1
(A/a
0 0 0
No. % / % / % / % % % % % X b)
13 very good | 2]28.6[very good| 3 [42.9] very good| 2|28.6[ very good | 2 |28.6|very good| 2 |28.6|very good| 3 |42.9|very good| 3 |42.9| very good | 4[57.1fvery good| 4]57.1 25 0.4 | 39.7
good 5171.4 good 4157.1 good 4157.1 good 5171.4] good 5171.4 good 4157.1 good 4(57.1 good 3142.9| good 3142.9 37 0.6 | 44.0
fair 0] 0 fair 0] 0 fair 1114.3 fair 0] 0 fair 0| O fair 0] o0 fair 0] 0 fair o| o fair 0] 0 0.0 | 0.8
poor 0| 0 poor 0| o poor o o poor 0] 0 poor 0] 0 poor of o poor of o poor o o poor 0] 0 0.0 | 0.0
very poor | 0| O |very poor|O0f O |very poor{0| O |very poor[O0| O [very poor{Of O |very poor] 0| O |very poorl 0| O | very poor [O| O [very poor[O| O 0.0 | 0.0
71100 7] 100 7100 71100 71100 7 | 100 7 | 100 7100 71100 63 1.0 | 84.5
(A/a
0 0 0 0 0
No | % / % / % / % % % % % X b)
14 very good | 1]11.1)very good|1]11.1]very good|1]11.1] very good | 4 [44.4{very good| 1 [11.1|very good| 1 11.1|very good| 4 |44.4] very good |5|55.6|very good| 2 [22.2 20 0.2 | 24.7
good 8188.9] good 8188.9] good 5155.6 good 4144.4 good 8188.9] good 5155.6] good 4144.4 good 4144.4( good 5155.4 51 0.6 | 47.2
fair 0] 0 fair 0| o fair 3133.3 fair 1]11.1] fair 0] 0 fair 3(33.3] fair 1(11.1 fair o o fair 2122.2 10 0.1 | 6.2
poor o[ O poor 0 O poor 0] O poor o[ O poor o 0 poor 0] O poor 0l 0 poor 0] O poor o[ O 0 0.0 | 0.0
very poor | 0| O |very poor{0| O |very poor|Of O | very poor|0] O |very poor]O| O |very poor] 0| O |very poorj O] O very poor |0 O |very poor|0O] O 0 0.0 | 0.0
9] 100 9| 100 9| 100 9199.9 9] 100 9 | 100 9{99.9 9| 100 9] 100 81 1.0 | 78.1
(A/a
0 0 0
No. % / % / % / % % % % % X b)
15 very good | 4] 50 [very good| 3[37.5|very good|2| 25 | very good | 6| 75 |very good| 7 |87.5|very good| 7 |87.5|very good| 7 |87.5| very good |6]| 75 |very good| 5]62.5 47 0.7 | 65.3
good 4 50 good 3137.5 good 41 50 good 2] 25 good o o0 good 0] O good 0l 0 good 2] 25 good 3137.§ 18 0.3 | 18.8
fair 0] 0 fair 1]12.5 fair 1112.5] fair 0] 0 fair 1]12.5| fair 0] o0 fair 1]12.5 fair o| o fair 0] 0 4 0.1 ] 2.8
poor 0| 0 poor 0| o poor o o poor 0] 0 poor 0] 0 poor of o poor of o poor o o poor 0] 0 0 0.0 | 0.0
very poor | 0| O |very poor|O0f O |very poor{0| O |very poor[O0| O [very poor]Of O |very poor] 0| O |very poorl 0| O | very poor [0| O [very poor[O| O 0 0.0 | 0.0
8] 100 7187.5 7187.5 8] 100 8] 100 7 {87.5 8 | 100 8| 100 8] 100 69 1.0 | 86.8




161

1998

(C/c| 4 0 (C/c| 3
No. % x d) % % % % ¢ |x d )
11 11 fully met [0] O 0 0.0 | 0.0 too long |Of O | leisurely | 1|16.7|] too broad 16.7| too advanced | 0] O too deep 0 2 0.1 0.0
mostly met | 3| 50 3 0.5 | 33.0 [|about right|5|83.3labout right| 5|83.3|about right 83.3| about right | 6100 about right 83.3 26 0.9 | 86.7
somewhat met | 3| 50 3 0.5 | 16.5 too short [1]16.7| too hard [0]| O | too narrow 0 |too elementary| 0| O [not deep enough 16.7 2 0.1 0.0
no met 0] 0 0 0.0 | 0.0
6] 100 6 1.0 | 49.5 6| 100 6| 100 100 6| 100 100 30 1.0 | 86.7
(C/c| 4 (C/c|3
0 0 0 0
No | % x d) % % % % clx a )
12 fully met |1]12.§ 1 0.1 | 12.5 too long (0| O | leisurely |1]12.5| too broad 25 | too advanced | 3137.5 too deep 12.§ 7 0.2 0.0
mostly met | 6| 75 6 0.8 | 49.5 |labout right|5[62.5|about right] 7|87.5/about right 75 | about right | 5]62.5] about right 62.9 28 0.7 | 70.0
somewhat met | 1{12.5 1 0.1 ] 4.1 too short |3]37.5| too hard [0| O | too narrow 0 |too elementary| 0| O |not deep enough 25 5 0.1 0.0
no met 0] 0 0 0.0 | 0.0
8] 100 8 1.0 | 66.1 8| 100 8| 100 100 8] 100 100 40 1.0 | 70.0
(C/c| 4 (C/c| 3
No. % x d) % % % % ¢ |x d )
13 fully met |1]14.3 1 0.1 | 14.3 too long | 0| O | leisurely |2(28.6] too broad 28.6| too advanced |0 O too deep 0 4 0.1 0.0
mostly met |5(71.4 5} 0.7 | 47.1 [|about right| 7| 100 [about right| 5|71.4|about right 71.4] about right | 7]100( about right 85.7 30 0.9 | 85.7
somewhat met | 1{14.3 1 0.1 | 4.7 too short [0] O too hard (0| O | too narrow 0 |too elementary| 0| O |not deep enough 14.3 1 0.0 0.0
no met o O 0 0.0 | 0.0
71100 7 1.0 | 66.1 7100 7100 100 7] 100 100 35 1.0 | 85.7
(C/c| 4 (C/c|3
0 0 0 0
No | % x d) % % % % clx dy )
14 fully met |0] O 0 0.0 | 0.0 too long (0| O | leisurely |O| O | too broad 11.1] too advanced | 1 |11.1 too deep 11. 3 0.1 0.0
mostly met | 9| 100 9 1.0 | 66.0 [labout right| 9| 100 |about right] 9] 100 |about right| 8|88.9] about right | 8[88.9| about right 77. 41 0.9 | 91.1
somewhat met 0| O 0 0.0 | 0.0 too short |0| O | too hard [O| O | too narrow 0 [too elementary| 0| O [not deep enough| 1]11. 1 0.0 0.0
no met o O 0 0.0 | 0.0
9] 100 9 1.0 | 66.0 9| 100 9| 100 100 9| 100 100 45 1.0 [ 91.1
(C/c| 4 (C/c| 3
No. % x d) % % % % ¢|x d )
15 fully met | 8] 100 8 1.0 |100.0 too long |1(12.5] leisurely |0 O | too broad 12.5| too advanced | 1 |12.5 too deep 12.5 4 0.1 0.0
mostly met | 0| O 0 0.0 | 0.0 |[labout right| 7|87.5[about right| 7|87.5/about right 87.5| about right | 7|87.5 about right 87.5 35 0.9 | 87.5
somewhat met | 0| O 0 0.0 | 0.0 too short [0] O too hard (0| O | too narrow 0 |too elementary| 0| O |not deep enough 0 0 0.0 0.0
no met o O 0 0.0 | 0.0
81100 8 1.0 1100.0 8| 100 7187.5 100 8| 100 100 39 1.0 | 87.5
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1998

(E/e
No.
xB| )
11 11 good 100 good 67 good 4167 14 0.8 77.8
fair 0 fair 33 fair 33 4 0.2 11.1 A
poor 0 poor 0 poor 0 0 0.0 0.0 a
(A/(axb))x100
(A/(axb))x75
(A/(axb))x50
100 100 100) 18 1.0 | 88.9 79.6 (A/(axb))x25
No (E/e (A/(axb))x0
’ x f B
)| C) ) 4
12 good 25 good 50| good 38 9 0.4 | 37.5 C
fair 75 fair 50 fair 63 15 0.6 31.3 4 ?C/(cxd))xlOO ¢
poor 0 poor 0 poor 0 0 0.0 0.0 (C/(cxd))x66
(C/(cxd))x33
(C/(cxd))x0
100 100 100 24 1.0 | 68.8 || 69.1 - D
(E/e E
No. x ) () 3 f e
(about right) (E/(exf))x100
13 good 85.7 good 86 good 86 18 0.9 85.7 (too |()|']gI too short (E/(exf))x()
fair|1]14.3|  fair 14| fair 14 3 0.1 | 7.1 F
poor 0 poor 0 poor 0 0 0.0 0.0 G
3 h g
(G/(gxh))x100
100 100 1000 21 1.0 | 92.9 |f 85.2 (G/(gxh))x50
(G/(gxh))x0
(E/e
No.
xBH| )
(Bxb+Dxd+Fxf+Hxh)/(b+d+f+h)
14 good 77.8 good 78| good 89 22 0.8 | 81.5
fair 22.2 fair 22 fair 11 5 0.2 9.3
poor 0 poor 0 poor 0 0 0.0 0.0
100 100 100) 27 1.0 | 90.7 83.1
(E/e
No.
xB| )
15 good 75 good 88 good 75 19 0.8 79.2
fair 12.5 fair 13 fair 25 4 0.2 8.3
poor 12.5 poor 0 poor 0 1 0.0 0.0
100 100 100) 24 1.0 | 87.5 87.8
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1998

(A/a

0 0 0

No. % / % / % / % % % % % X b)

16 8 very good | 1]12.5|very good| 1]12.5|very good|2] 25 | very good (0| O [very good| 1[12.5|very good| 3 [37.5|very good 3 |37.5| very good |4| 50 |very good| 3[37.5 18 0.3 | 25.0
good 3137.5 good 3137.5 good 3137.5 good 5162.5] good 6| 75 good 4 50 good 4| 50 good 3137.5 good 4 50 35 0.5 | 36.5
fair 3137.5 fair 3137.5 fair 2| 25 fair 3137.5] fair 1]12.5| fair 1]12.5| fair 1]12.5 fair 1l12.51 fair 1]12.9 16 0.2 |11.1
poor 1]12.5| poor 1|12.5] poor 1]12.5 poor 0] 0 poor |0] O poor of o poor of o poor o o poor 0] 0 0.0 | 1.0

very poor | 0| O |very poor|O0f O |very poor{0| O |very poor[O0| O [very poor]Of O |very poor] 0| O |very poor] 0| O | very poor [0| O [very poor[O| O 0.0 | 0.0
8] 100 8] 100 8| 100 8] 100 8] 100 8 | 100 8 | 100 8| 100 8] 100 72 1.0 | 73.6
(A/a
0 0 0 0 0

No | % / % / % / % % % % % X b)

17|TQC 10 very good | 0| O |very good|5]| 50 |very good|7] 70 | very good | 6 | 60 |very good] 9| 90 |very good| 5| 50 |very good 6 | 60 | very good | 6| 60 |very good| 7| 70 51 0.6 | 56.7
good 7170 good 5] 50 good 3| 30 good 41 40 good 1] 10 good 41 40 good 41 40 good 41 40 good 2] 20 34 0.4 | 28.3
fair 3] 30 fair 0| o fair o o fair 0] 0 fair 0] 0 fair 1|10 fair of o fair o o fair 1] 10 5 0.1 ] 2.8
poor o[ O poor 0 O poor 0] O poor o[ O poor o O poor 0] O poor 0l 0 poor 0] O poor o[ O 0 0.0 | 0.0

very poor | 0| O |very poor{0| O [very poor|Of O | very poor|0] O |very poor]O| O |very poor] 0| O |very poorj O] O very poor |0f O |very poor|0O] O 0 0.0 | 0.0
10] 100 10] 100 10} 100 10] 100 10| 100 10] 100 10] 100 10} 100 10] 100 90 1.0 | 87.8
(A/a
0 0 0

No. % / % / % / % % % % % X b)

18 6 very good | 0] O |very good| 0| O |very good|1]16.7| very good|O| O [very goodl 0| O |very goodl 1 [16.7|very good| 2 |33.3| very good |5|83.3|very good[ 0| O 9 0.2 | 16.7
good 5183.3 good 5183.3 good 4166.7 good 4166.7 good 6| 100 good 4 166.7] good 3] 50 good 1(16.7 good 5183.3 37 0.7 | 51.4
fair 1]16.7 fair 0] 0 fair 1116.7| fair 1]16.7] fair 0| O fair 0] o0 fair 1]16.7 fair o| o fair 1116.7 0.1 ] 4.6
poor 0| 0 poor 0| o poor o o poor 0] 0 poor |0] O poor of o poor of o poor o o poor 0] 0 0.0 | 0.0

very poor | 0| O |very poor|O0f O |very poor|[0| O | very poor|1]16.7|very poor| O O |very poor] 0| O |very poorl 0| O | very poor [0| O [very poor[O| O 0.0 | 0.0
6] 100 5[83.3 6| 100 6] 100 6] 100 5 (83.4 6 | 100 6| 100 6] 100 52 1.0 | 72.7
(A/a
0 0 0 0 0

No | % / % / % / % % % % % X b)

19 12 very good | 2]16.7|very good| 4|33.3|very good|5]41.7| very good | 2 [16.7|very good| 7 |58.3|very good| 6 | 50 |very good| 7 |58.3| very good |9| 75 |very good| 6| 50 48 0.4 | 44.4
good 9] 75 good 7158.3] good 7158.3 good 9] 75 good 4133.3] good 5141.7| good 5141.7 good 3| 25 good 5141.7 54 0.5 | 37.5
fair 0] 0 fair 1]18.3 fair o o fair 0] 0 fair 1(8.3] fair 1(8.3| fair o o fair o o fair 1]8.3 0.0 | 1.9
poor o[ O poor 0 O poor 0] O poor 118.3 poor o O poor 0] O poor 0l 0 poor 0] O poor o[ O 0.0 | 0.2

very poor | 0| O |very poor{0| O |very poor|Of O | very poor|0] O |very poor]O| O |very poor] 0| O |very poorj O] O very poor |0 O |very poor|0O] O 0.0 | 0.0
11]91.7| 12]99.9 12| 100 0 12] 100 0 12]99.9 0 12] 100 0 12] 100 0 12| 100 0 12] 100 107 1.0 | 84.0




00¢

1998

(C/c| 4 0 (C/c| 3
No. % x d) % % % % ¢ |x d )
16 8 fully met |1]12.5 1 0.1 | 12.5 too long |4 50 | leisurely |0 O | too broad | 2| 25 | too advanced | 0| O too deep o O 6 0.2 0.0
mostly met | 4| 50 4 0.5 | 33.0 [|about right| 4] 50 [about right| 8| 100 |about right| 6| 75 | about right | 8 |100| about right |6 75 32 0.8 | 80.0
somewhat met | 3 |37.5 3 0.4 | 12.4 too short [0] O too hard (0| O | too narrow|O| O |too elementary| 0| O [not deep enough| 2| 25 2 0.1 0.0
no met 0] 0 0 0.0 | 0.0
8] 100 8 1.0 | 57.9 8| 100 8| 100 8] 100 8] 100 8] 100 40 1.0 [ 80.0
(C/c| 4 (C/c|3
No | % x d) % % % % clx dy )
17|TQC 10 fully met |5] 50 5 0.5 | 50.0 too long [0 O | leisurely |1]| 10 | too broad | 3| 30 | too advanced | 4| 40 too deep 41 40 12 0.2 0.0
mostly met | 5| 50 5 0.5 | 33.0 |labout right|9]| 90 |about right| 6| 60 |about right| 7| 70 | about right | 6| 60 about right |5]| 50 33 0.7 | 66.0
somewhat met [ 0| O 0 0.0 | 0.0 too short | 1] 10 | too hard [3| 30 | too narrow| 0| O |too elementary| 0| O |not deep enough| 1| 10 5 0.1 0.0
no met o O 0 0.0 | 0.0
10] 100 10 1.0 | 83.0 10{ 100 10{ 100 10| 100 10| 100 10] 100 50 1.0 | 66.0
(C/c| 4 0 (C/c| 3
No. % x d) % % % % ¢ |x d )
18 6 fully met |1]16.7 1 0.2 | 16.7 too long |Of O | leisurely |Of O | too broad [0| O | too advanced | 0| O too deep 1116.7 1 0.0 0.0
mostly met |5(83.3 5 0.8 | 55.0 [|about right| 3| 50 [about right|{ 6| 100 [about right|5|83.3| about right | 6 |100| about right |5]83.3 25 0.8 | 83.3
somewhat met| 0| O 0 0.0 | 0.0 too short 3] 50 | too hard [0] O | too narrow|1(16.7|too elementary| O O |not deep enough| 0| O 4 0.1 0.0
no met o O 0 0.0 | 0.0
6] 100 6 1.0 | 71.7 6| 100 6| 100 6] 100 6| 100 6] 100 30 1.0 [ 83.3
(C/c| 4 (C/c|3
0 0 0 0
No | % x d) % % % % clx dy )
19 12 fully met |1]8.3 1 0.1 ] 8.3 too long [1]8.3| leisurely |O| O | too broad |1]8.3| too advanced | 0| 0O too deep 2116.7 4 0.1 0.0
mostly met [10]83.3 10 0.8 | 55.0 |labout right]|8]66.7|about right/11|91.7|about right|10|83.3| about right |12|100| about right | 8(66.7 49 0.8 | 81.7
somewhat met | 1]8.3 1 0.1 ] 2.8 too short |2]16.7] too hard |1]|8.3| too narrow| 0| O |too elementary| 0| O |not deep enough| 2 |16.7 5 0.1 0.0
no met o O 0 0.0 | 0.0
12]99.9 12 1.0 | 66.1 11{91.7 12{ 100 11]91.6) 12| 100 12] 100 58 1.0 | 81.7




T0C

1998

(E/e
No.
xB| )
16 8 || good | 7]87.5 good 5] 63 good 1]13 13 0.5 54.2
fair|0f O fair 3]38 fair 6|75 9 0.4 18.8 A
poor |0| O poor 0|l 0| poor |1f13 1 0.0 | 0.0 a
(A/(axb))x100
(A/(axb))x75
(A/(axb))x50
7187.5 81100 81100 23 1.0 | 72.9 74.4 (A/(axb))x25
\o (E/e (A/(axb))x0
' x| () B
17(T1QC 10 || good [ 9] 90 good 10/100] good | 8] 80 27 0.9 | 90.0 C
fair| 1| 10 fair 0|0 fair 1|10 2 0.1 3.3 4 ?C/(cxd))xlOO ¢
poor (0| O poor o o0 poor 1]10 1 0.0 0.0 (C/(cxd))x66
(C/(cxd))x33
(C/(cxd))x0
10{ 100 10{100 10]100 30 1.0 93.3 82.4 D
(E/e E
No. x ) () 3 f e
(about right) (E/(exf))x100
18 6 good [ 3| 50 good 5|83 good 17 9 0.5 50.0 (too |()|']gI too short (E/(exf))x()
fair| 3| 50 fair 1117 fair 67 8 0.4 22.2 F
poor (0| O poor oo poor 17 1 0.1 0.0 G
3 h g
(G/(gxh))x100
6] 100 6 |100 6100 18 1.0 | 72.2 |f 75.5 (G/(gxh))x50
(G/(gxh))x0
(E/e
No.
xBH| )
(Bxb+Dxd+Fxf+Hxh)/(b+d+f+h)
19 12 || good | 9| 75 good 9]|75| good 8|67 26 0.7 | 72.2
fair 3| 25 fair 3|25| fair |4]33 10 0.3 | 13.9
poor (0| O poor o0 poor 0] 0 0 0.0 0.0
12{ 100 12100 12{100) 36 1.0 | 86.1 82.7




¢0¢

No
1 782 9 728 9 796 9 749 8 786
2 8 773 8 730 9 861 8 821 8 813
3 8 798 6 724 8 736 8 735 6 78.0
4 10 797 9 739 8 gle| 7 787 8 685
5 8 791 9 759 8 ga1 9 822 10 80.2
6 8 642 7 625 6 784 7 500 8 63.0
7 9 5271 9 672 8 773 8 784 9 794
8 7 779 8 817l 8 776 6 716 7 82.0
9 I 8 662 9 823 8 768 7 80| 8 68.7

10 I 6 807 6 g1s| 7 85.0

11 I 6 824 5 776 6 796

12 9 794 8 80s| 8 69.1

13 I 8 86l 7 686 7 85.2

14 I 8 782 10 800] 9 83.1

15 8 813 8 87.8

16 8 726 8 768 7 8gs| 7 830 8 744

17|TQc I 13 77.2 10 82.4)

18 6 g1 6 791 6 755

19 11 864 11 830] 10 gas| 12 80| 12 82.7




81.3

22 1

86.1

773

73.0

100

90

80

70

60

50

78.7

81.6

73

79.7

N 685

100

90

80

70

60

50

78.6

79.6

78.2

74.9

728

100

90

80

70

60

50

78.0

735

724

79.8

100

90

80

70

60

50
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V4

5. 6.

100 100

) )

84.1
i 82.2
80 791 / e —— 302 80
\/ 784
759 /\
70 70
64.2
59.0 63.0
60 60 62.5 N
50 50
7. 8.

100 100

90 90

5 773 784 s - 77.9 e — 716 o 820

/ ' - a7 716
70 67.2 70
60 60
52.7 /
50 ‘ 50




S0¢

9. 10. ]

100 100

90 90

85.0
823 A
80 N 80 —
V 80.7 815
76.8
70 / N 657 70
66.2
60 60
50 50
11 1] 12.

100 100

90 90

80.5
80 \ — Iy AC N 80
Ees o 794
77.6
60 60
50 50




14.

831
O

78.2

80.0

100

90

80

70

60

50

16.

885

83.0

76.8

744

72.6

100

90

80

70

60

50

13.

85.2

Qo 4
00. L

68.6

100

90

80

70

60

50

15.

87.8

813

100

90

80

70

60

50
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L0¢

17. TQC 18.
100 100
90 90
79.1
80 .—62—47 80 —-—
. 772 80.1 755
70 70
60 60
50 50
19.
100
90 86.4
—— o 840
80 830 827
70
60

50




80¢

1 (KITA) (KITA)
2 (KITA) (KITA)
3 (KITA) (KITA)
4 (KITA) (KITA)
5 (KITA) (KITA)
§ (KITA) (KITA)
7 (KITA) (KITA)
8 (KITA) (KITA)
9 (KITA) (KITA)

10 JICA

11

12

13

14

15 (KITA) (KITA)

16 (KITA) (KITA)

17(TQc

18

19
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=ea!
QUESTIONNAIRE TO GOVERNMENT OFFICE FOR HEAVY INDUSTRY
(To be submitted to JICA Office by 15th September, 1999)

Date to fill in the form :

Name and Position of the contact person for this questionnaire :

Name and Address of Organization :

This questionnaire is to find needs of the recipient countries for the training
courses ™' organized by JICA in the field of heavy industry. The answers to
the questions below will be of great help to us in improving the contents of the
course and its implementation. Please kindly fill in and submit this form to the
JICA Office no later than 15th of September, 1999. Your cooperation is very
much appreciated.

| Questions |

1.In the list of the training courses in ANNEX I, please number from 1 to 10
under the column "Priority”, according to the priorities of your country for
technical assistance together with the brief reasons for the those priorities.

2.In the list of the items in ANNEX II, please tick the appropriate columns to
indicate the level you desire for each item in your country. Also express the
target group, or the expected participants in the training courses for the each
item with the same way. Provide us with the comments, if any.

m JICA conducts such activities as training, dispatch of experts. provision of equipment and

so on. The training program for overseas participants is one of JICA's fundamental technical
cooperation activities for developing countries. It covers a wide variety of specialities from
agriculture to industry.
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ANNEX [-1

NO| COURSE TITLE PURPOSE b | REASON
Steel Property and | To provide participants with indispensable
[ts Applications  |knowledge and techniques in the usage of steel.
1 the selection of fabrication methods and
conditions appropriate to the properties of each
type of steel.
Mechanical Spare |To enable the participants to make out the
Parts for Plant plannings, designs or documnents necessary to
Maintenance order spare parts for the domestic manufacturer,
9 to develop their ability to instruct and control the
quality, cost or delivery for the domestic parts
manufacturer and to improve parts for
prolonging useful life or reclaim broken or
damaged parts.
Automatic Control |To provide the participants with basic theory
3 |(General and practice on automatic control, automatic
Introduction) control devices and related technology.
Machine To assist participants in their obtaining the skills|
Condition and knowledge ol machine inspection through
4 |Diagnosis practical training of condition based
Technique maintenance which is widely applied to machine

condition diagnosis.

Plant Maintenance

To provide participants with training on

5 Management effective and rationalized utilization of
management resotirces such as workers,
materials, equipment, information and funds.

Machine Contro! |To render the participants engaged in this field
in High-Tech the comprehensive knowledge and skills in such
Industries fields as mechanicals, electricals, electronics,

information etc. respectively.

Renovation of
Industrial
Equipment

To provide the participants with skills in
preparing purchase specifications of improved
equipment parts by learning the basic
knowledge of the utilization of existing
equipment and facilities effectively, to find out
the capability of the renovation, and to redesign
existing equipment.
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ANNEX I-2

NO

COURSE TITLE

PURPOSE

PRIO
RITY

REASON

Plant Maintenance
Engineering

To enhance the capability of maintenance
managers or engineers of continuous process
plants who intend to introduce a preventive
maintenance system in a plant, or have already
introduced the system but have problems in
carrying out the system smoothly.

Non-Destructive

To provide the indispensable principle and

Inspection techniques of non destructive inspection method
Technique II for quality assurance of industrial products,
9 . : i
e.g. non destructive testing of castings,
forgings, rolled steel products or weldments, so
as to develop their own industry.
Qualified Metal To provide with techniques and knowledge on
Casting problems of quality and productivity of metal
10 |Technology I1 castings; from sand control, modern molding

processes and casting design to melting control
of metals, especially ferrous metal castings.

Surface Finishing

To provide the participants with knowledge and

Technology for techniques on surface finishing technology for
11 |Materials II effective usage of materials to enable them to
improve quality of materials and products in
participating countries.
Heat Treatment To provide with techniques and knowledge on
Technology heat treatment to enable the participants to
12 contribute to promotion and modernization of
industries in their countries through upgrading
the reliability of machinery and metallic
. products.
High Technology |To provide with techniques and knowledge on
13 of Metal Works II |metal works engineering; die making and
design, precision measurement, metal working
and related technologies.
14 Welding To provide the theoretical and practical
Technology 11 knowledge of welding technology.
Senior To help participants understand that industrial
Management development can coexist with environmental
15 Seminar on |conservation.
Sustainable
Industrial
Development
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ANNEXI-3

NO| COURSE TITLE PURPOSE POl REASON
Production To provide the opportunities to understand
Management (Theory |technology and techniques accumulated in the

16 and Practice on Work |industrialized area and to acquire the
Improvement) knowledge on higher productivity through
- practical training and plant observations of
Japanese factories.
Implementation of To provide the-participants with the
TQC and knowledge on the necessity for TQC and
17 Standardization Standardization, as well as the related
|Activities II philosophy and techniques, as the foundation
for the development of manufacturing
industries.
Designing and To deepen the understanding on ways to
Improvement of design the production system, namely, the
Production System  |process of converting various inputs such as
18 human resources, machines, materials and
methods into products, and to conduct
continuous improvement to the elements by
comparing with experiences of Japanese
industries.
Productivity To upgrade the administrative and managerial
19 Management skills of persons who are currently engaged in

the administration or management of
production. or related job or position.
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ANNEX I-1

LEVEL TARGET GROUP

S I T T N N - —— = = -

No || ITEMS DEFINITION Foreman Administ- Others COMMENTS
: : Engineer [rative

or Worker Officer

Control |Basic level includes Sequence

| Control while intermediate level
focuses on such items as
Process Control. Advanced
level goes further to include
Digital Control.

Main- |Basic level includes Break
tenance |Down Maintenance while
intermediate level focuses on

2 such items as Preventive
Maintenance. Advanced level
goes further to include
Predictive Maintenance.
Welding | Basic level includes Welding of
Structure Steel while
intermediate level focuses on
such items as Welding of
Special Steel or Thin Steel Plate.
Advanced level goes further to
include Welding of Non-ferrous
Metal.

*These are the first ten items dealt with in the courses listed in ANNEX I.
*Level : 1 (Basic) -------------- 5 (Advance)
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ANNEX II-2

L I:EYELL_ I TARGET GROU_P .
No || ITEMS DEFINITION Foreman Administ- Others COMMENTS
11213145 "\r_ .,  |Engineer |rative .
or Worker Officer (Specify)
Basic level includes Statistical

Quality Control while
intermediate level focuses on

A Quality |such items as QC Seven Tools
Control |and QC New Seven Tools.
Advanced level goes further to
include (TQM) Total Quality
Management.

Basic level includes Diagnosis
on Balance of Rotating Machine
while intermediate level focuses
on such items as Diagnosis on
Bearing and Gear. Advanced
level goes further to include
Diagnosis on Electrical
Machinery and Static
Equipment.

Diag-
Nnosis

*These are the first ten items dealt with in the courses listed in ANNEX I.
*Level : 1 (Basic) -------------- 5 (Advance)
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ANNEX II-3

No

ITEMS

DEFINITION

LEVEL

Foreman
or Worker

TARGET

Engineer

GROUP

Administ-
rative
Officer

Others
(Specify)

COMMENTS

6

Reno-
vation

Basic level includes Renovation
Plan for Production
Management while intermediate
level focuses on such items as
Renovation Plan for Energy
Conservation and Quality
Improvement. Advanced level
goes further to include
Renovation Plan for Cost
Reduction.

-~

Casting
or
Found-
ing

Basic level includes
Countermeasures to casting
defects of Cast Iron while
intermediate level focuses on
such items as Countermeasures
to casting defects of Cast Steel.
Advanced level goes further to
include Countermeasures to
casting defect of Non-ferrous
Metal.

Machin-
ery

Basic level includes Equipment
of Bearing and Gear while
intermediate level focuses on
such items as Pump and
Blower. Advanced level goes
further to include Numerical
Control Machining Center.

*These are the first ten items dealt with in the courses listed in ANNEX T.

*Level : 1 (Basic) -------------- 5 (Advance)



ANNEX T1-4

o JLEVEL TARGETGROUP ____ ___
No || ITEMS DEFINITION Foreman Administ- |~ o COMMENTS
112131445 o |Engineer |rative .
or Worker Officer (Specify)

—L12—

Basic level includes Heat
Treatment of Structure Steel
while intermediate level focuses
on such items as Surface
Hardening. Advanced level
goes further to include Heat
Treatment of High Speed Steel
and Alloy Steel.
Basic level includes Productivity
Movement while intermediate
level focuses on such items as
JIT (Just in Time), Poka-Yoke
Produc- (th.e way to p[‘e\{enF simple
10 tivity mistakes) and Single
Arrangement. Advanced level
goes further to include TOM
(Total Quality Management)
Activity for Productivity
Improvement.

Heat
9 || Treat-

mernt

*These are the first ten items dealt with in the courses listed in ANNEX I.
*Level : 1 (Basic) -------------- 5 (Advance)
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No.

1 | 19 18 |9.09y |SVES
2 15 16 |8.08%
2 16 16 |8.08%
2 | 17 [Toc " 16 |8.08% |SVES
5 | 12 14 | 7.07%
SMEs
6 1 13 [6.57%
6 | 5 13 |6.57% SliEs
8 | 1n 1 12 | 6.06%
DIW"s Machines Registration Office
9 | 4 11 |5.56% ViES
9 8 11 |5.56%
9 | 13 1 11 |5.56%
12 | 18 9 |[4.55%
13 | 10 1 8 |4.04%
14 2 5 |2.53%
14 | 3 5 [2.53%
14 | 6 5 [2.53%
14 | 7 5 [2.53%
14 | 9 1 5 [2.53%
14 | 14 1 5 [2.53%
100%
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No.

1 15 19 | 12.34%

2 9 1 18 | 11.69%

3 17 |TQC 1 17 | 11.04%

4 7 16 | 10.39%
5 4 15 | 9.74%
6 10 1 14 | 9.09%
7 11 1 13 | 8.44%
8 16 12 | 7.79%
9 | 19 11 | 7.14%
10 | 18 10 | 6.49%
11 | 1 1 | 0.65%
11 | 2 1 | 0.65%
11 | 3 1 | 0.65%
11 | 5 1 | 0.65%
11 | 6 1 | 0.65%
11 | 8 1 | 0.65%
11 | 12 1 | 0.65%
11 | 13 1 1 | 0.65%
11 | 14 1 1 | 0.65%
154 | 100%
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Ministry of Industry,
Department of Industrial Policy & Promotion

No.
1 1 15 | 6.64%
1 3 15 [6.64%
1 6 15 [6.64%
1 14 11 15 | 6.64%
5 12 14 [6.19%
6 2 12 [5.31%
6 5 12 [5.31%
6 7 12 [5.31%
6 11 11 12 [5.31%
10 4 11 [4.87%
10 8 11 [4.87%
10 | 10 11 11 [4.87%
10 | 13 11 11 [4.87%
10 | 16 11 [4.87%
15 9 11 10 |[4.42%
15 | 15 10 [4.42%
15 | 17 |TQC 11 10 | 4.42%
15 | 18 10 |4.42%
19 | 19 9 |3.98%

226 | 100%
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Ministry of Industrial Development

No.

1 19 19 |12.34%
2 16 18 |11.69%
3 18 17 ]11.04%
4 17 |TQC 11 16 |10.39%
5 13 11 15 | 9.74%
6 12 14 | 9.09%
Light Engineering Sub Sector
Sub Sector
7 11 11 13 | 8.44%
8 10 11 12 | 7.79%
9 14 11 11 | 7.14%
10 | 15 10 |6.49%
11 1 1 |o0.65%
11 2 1 |0.65%
11 3 1 |o0.65%
11 4 1 |0.65%
11 5 1 |o0.65%
11 6 1 |o0.65%
11 7 1 |0.65%
11 8 1 |o0.65%
11 9 1 1 |o0.65%
154 | 100%
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Human Resource Development Department Pakistan Steel Mills Corporation Ltd. (H.R.D.)

Pak Swiss Training Centre (P.S))

Heavy Mechanical Co. Ltd. (HMC)
Pakistan Industrial Technical Assistance Centre (PITAC)

Ministry of Food, Agriculture & Livestock

No.
(H.R.D.)/
1 15 16 | 6.02% (HMC)/ (PITAC) ®-57
H.R.D
2 1 15 | 5.64% (.5.) HiC
PITAC
H.R.D.
2 | 3 15 |5.64% I P.S. (HIC)
(H.R.D.)
2 * 15 15048 (HNC) TP (PITAC) -5
H.R.D
2 6 15 |5.64% HMC PITAC s
H.R.D.
2 8 15 | 5.64% o1TAC P.S. HMC TPM
H.R.D.
2 | 12 15 | 5.64% PF;-Ti-C Hie
(H.R.D.)
2 16 15 | 5.64% . . (P.S.)
H.R.D.
9 5 14 | 5.26% HMC  TPM PITAC Pes:
H.R.D.
9 7 14 | 5.26% P.S. HMC PITAC
(H.R.D)
9 | 18 14 |5.26% o FITO) (¢.5.)
Pakistan Steel H.R.D
9 | 19 14 |[5.26% e o1TAC P.S.
(H.R.D.)/
= 2 13 | 4.89% (HMC)/ (PE’SI:I'Z\(/Z)
H.R.D
13 | 11 1 13 | 4.89% o1TAC P.S. HMC
(H.R.D.)/
13 13 n 13 | 4.80% (P.S.)/ (HMC)/ (PITAC)
H.R.D.
13 | 14 1 13 | 4.89% . P.S. HuC
1S0 9000/14000 (H.R.D)
13 17 (TQC 11 13 | 4.89%
TQC/ (P.S.)
TQC HNC (PITAC)
Officer H.R.D.
18 9 1 12 | 4.51% P.S. N.D.Test HMC
PITAC
H.R.D.
18 | 10 1 12 | 4.51% e o1TAC P.S.
266 | 100%
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Army Welfare Project (AWP)
Chhukha Hydro Power Co.(CHPC)

Bhutan Agro-Industry (BAI)
Lhaki Cement (PVT.) Ltd.(LCL)

No.
AWP
BAI
1 | 16 19 (10.38% cHee - LCL
TQC AWP BAI
2 | 17 |mqc " 18 | 9.84% CHPC LeL
AWP
BAI
2 18 18 |9.84% CHRC  LCL
(AWP)
CHPC
4 | 15 15 |8.20% LcL
(AWP BAI
5 | 19 14 |7.65% CHPC
AWP
AWP BAI
6 5 12 [6.56% CHPC LCL
BAI
CHPC CHPC
6 8 12 |6.56% oL
BAI
8 2 10 |5.46% CHPC Inventory Control LCL
CHPC CHPC
9 | 4 8 |4.37% LeL
BAI
9 | 6 8 |4.37% CHPC
LCL
9 ; 8 | a.3m CHPC CHPC
BAI
9 | 14 1 8 |[4.37%
LCL
13 | 3 7 |3.83% CHPC
ND CHPC
14 9 1 6 |3.28%
Metallic Seal, Nozzle Tips
14 | 12 6 |3.28%
16 | 1 4 [2.19%
16 | 11 1 4 [2.19%
18 | 10 1 3 [1.64%
18 | 13 1 3 [1.64%
183 | 100%
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Bangladesh Sugar & Food Industries Co.(BSFIC)  Bangladesh Steel & Engg. Co. (BSEC)
Bangladesh Chemical Industries Co. (BCIC)  Bangladesh Industrial Technical Assistant Centre (BITAC)
Bangladesh Standards and Testing Institution (BSTI)

No.
s
BSEC / BCI
1 | 17 |Tqc 1 14 |8.59% TQC BITAC /BSTI
BSTI
(BSFIC)
(BSEC)
2 | 12 13 17.98% | (geig) BITAC
(BITAC)
(BCIC) /
(BITAC) /
3 1 12 | 7.36% / BSTI
(BSTI)
BSFIC
BSEC BCIC
4 | 16 11 [6.78% | gyrac
BSEC BCIC
5 2 10 6.13% (BlTAC)
BSFIC
BSEC
5 5 10 |6.13% BCIC (BITAC)
BCIC Pressurg
Vessel
5 9 1 10 |6.13% BSTI
BSFIC
8 | 19 9 |5.52% BCIC BTl
BSFIC
9 7 8 |4.91% (BCIC)
(BITAC)
BSFIC
BCIC
9 8 8 |4.91% BITAC
BSEC
9 | 13 1 8 |4.91% Beic
BITAC
BSFIC
9 | 14 Tl 8 |4.91% BCIC
9 |15 8 |4.01% (BSFIC) BSEC et
BSEC
14 | 4 7 | 4.20 Beic
BSEC
15 | 3 6 |3.68% BCIC
BSEC
15 | 11 1 6 |3.68% |CBCIO)
BSFIC
15 | 18 6 |[3.68% BCIC
BCIC)
18 | 10 1 5 |3.07% (ITAC)
BCIC
19 | 6 4 |2.45%
163 | 100%
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No.

1 8 19 |(10.00%
2 2 18 |9.47%
3 3 17 | 8.95%
4 5 16 |8.42%
5 7 15 [7.89%
6 17 |TQC 11 14 | 7.37%
7 18 13 |6.84%
8 4 12 |6.32%
9 6 11 [5.79%
10 9 I 10 |5.26%
11 16 9 |[4.74%
12 11 I 8 |4.21%
13 12 7 [3.68%
14 13 I 6 |3.16%
15 10 I 5 [2.63%
16 14 11 4 |2.11%
17 1 3 |1.58%
18 19 2 [1.05%
19 15 1 |0.53%
190 | 100%
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State Planning Organization

No.

1 6 19 (12.34%
2 7 18 |[11.69%
3 3 17 ]11.04%
4 4 16 (10.39%
5 8 15 | 9.74%
6 9 I 14 | 9.09%
7 17 {TQC 1 13 |8.44%
8 13 1 12 | 7.79%
9 18 11 | 7.14%
10 | 5 10 | 6.49%
11 1 1 |0.65%
11 2 1 |o0.65%
11 | 10 I 1 |o0.65%
11 | 11 11 1 |0.65%
11 | 12 1 |o0.65%
11 | 14 1 1 |o0.65%
11 | 15 1 |0.65%
11 | 16 1 |0.65%
11 | 19 1 |o0.65%
154 | 100%
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Saline Water Conversion Corporation (SWCC)
Saudi Arabian Standards Organization (SASO)
Saudi Consolodated Elect Co.

No.
SE0)
1|9 " 17 |9.10% (SASO)
S
1 | 12 17 |9.10% SASO
S
1 | 17 |Toc " 17 |9.10% SASO
S
4 | 14 " 16 |8.65% SASO
S
5 3 13 | 7.03%
S
6 | 5 12 | 6.49%
S
6 | 6 12 | 6.49%
S
8 | 16 11 |5.95%
S
9 | 8 10 |5.41%
S
10 | 2 9 | a4.86%
S
11 | 4 7 | 3.78%
S
11 | 19 7 | 3.78%
S
13 | 11 " 6 |3.24%
S
13 | 15 6 |3.24%
S
13 | 18 6 |3.24%
S
16 | 1 5 |2.70%
S
16 | 7 5 |2.70%
S
16 | 13 " 5 |2.70%
S
19 | 10 " 4 |2.16%
185 | 100%
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National Youth Service (NYS) (TKP)
Kenya Industrial Estates Limited (KIEL)

No.

NYS
TKP
1 1 18 | 5.68% KIEL
Plant & Production Engineering TKP
1|2 18 |5.68% KIEL
TKP
1 | 17 [mqc 1] 18 | 5.68% KIEL
NYS
TKP
4 | 5 17 | 5.36% KIEL
NYS
TKP
4 | 8 17 |5.36% KIEL
NYS
TKP
4 | 10 1 17 | 5.36% KIEL
NYS
TKP
4 |12 17 | 5.36% CIEL
TKP
4 14 T 17 | 5.36% Micro Sector KIEL
TKP
4 15 17 |5.36% KIEL
TKP
4 | 16 17 |5.36% | gL
TKP
4 | 18 17 |5.36% KIEL
TKP
4 | 19 17 |5.36% KIEL
TKP
13 | 4 16 | 5.05% KIEL
TKP
13 | 7 16 |5.05% KIEL
NYS
TKP
13 | 9 1 16 | 5.05% KIEL
NYS
TKP
13 | 11 1 16 | 5.05% KIEL
NYS
TKP
13 | 13 1 16 | 5.05% KIEL
TKP
18 3 15 | 4.73% KIEL
TKP
18 | 6 15 |4.73% KIEL
317 | 100%
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No.

1 8 19 (12.34%
2 10 11 18 |[11.69%
3 15 17 ]11.04%
4 14 1 16 (10.39%
5 13 1 15 | 9.74%
6 19 14 | 9.09%
7 5 13 |8.44%
8 12 12 | 7.79%
9 18 11 | 7.14%
10 | 11 1 10 |6.49%
11 1 1 |0.65%
11 2 1 |o0.65%
11 3 1 |o0.65%
11 4 1 |0.65%
11 6 1 |o0.65%
11 7 1 |o0.65%
11 9 11 1 |0.65%
11 16 1 |0.65%
11 17 |TQC I 1 |o0.65%
154 | 100%
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No.

1 15 19 (12.34%
2 19 18 |[11.69%
3 17 {TQC 1 17 ]11.04%
4 12 16 (10.39%
5 13 1 15 | 9.74%
6 11 1 14 | 9.09%
7 10 1 13 |8.44%
8 6 12 | 7.79%
9 3 11 | 7.14%
10 9 I 10 |6.49%
11 1 1 |0.65%
11 2 1 |o0.65%
11 4 1 |o0.65%
11 5 1 |0.65%
11 7 1 |o0.65%
11 8 1 |o0.65%
11 14 11 1 |0.65%
11 16 1 |0.65%
11 18 1 |o0.65%
154 | 100%
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No.

1| 4 19 [12.34%
2 | 2 18 |11.69%
3 | s 17 |11.04%
4 | 8 16 |10.39%
5 | 16 15 |9.74%
6 | 15 14 | 9.09%
7|1 13 | 8.44%
8 | 7 12 | 7.79%
9 | 17 |Toc 1 11 | 7.14%
10 | 18 10 |6.49%
1 | 3 1 |0.65%
1 | 6 1 |0.65%
1 | 9 1 1 |o0.65%
11 | 10 1 1 |0.65%
1 | 1 T 1 |o0.65%
11 | 12 1 |0.65%
11 | 13 T 1 |0.65%
11 | 14 1 1 |0.65%
11 | 19 1 |0.65%

154 | 100%

232




National Society of Industries (SNI)
National Training Service for Industrial Work (SENATI)

SNI
1 6 17 |6.94% SENATI
SENATI
1 9 11 17 | 6.94%
SNI
3 |3 ] 16 |6.53% SENATI
AWS SNI
3 | 14 1" 16 |6.53% SENATI
SENATI
5 2 15 |6.12%
SNI
5 | 4 15 |6.12% SENATI
SNI
5 | 10 1" 15 [6.12% SENATI
SENATI
5 | 12 15 [6.12%
SNI
¢ 1 13 |5.31% SENATI
SNI
9 | 18 13 |5.31% SENATI
SENATI
11 | 7 12 | 4.90%
SNI
12 | 3 11 | 4.49% SENATI
SENATI
12 | 8 11 |4.49%
SENATI
12 | 11 11 11 | 4.49%
SNI
12 | 16 11 |4.49% SENATI
SENATI
12 | 17 |TQC 11 11 [4.49%
SENATI
17 | 19 10 | 4.08%
SNI
18 | 5 9 [3.67% SENATI
SNI
19 | 15 7 |2.86% SENATI
245 | 100%
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National Institute for Industrial Technology (INTI)

1 6 19 [12.34%
2 3 18 [11.69%
3 17 [TQC 11 17 [11.04%
4 15 16 (10.39%
5 18 15 | 9.74%
6 4 14 [ 9.09%
7 8 13 |8.44%
8 13 11 12 [7.79%
9 7 11 [ 7.14%
10 | 16 10 |6.49%
11 | 1 1 [0.65%
11 | 2 1 |0.65%
11 | 5 1 |0.65%
11 | 9 1 1 [0.65%
11 | 10 11 1 |0.65%
11 | 11 11 1 |0.65%
11 | 12 1 |0.65%
11 | 14 11 1 |0.65%
11 | 19 1 |0.65%
154 | 100%
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Centro de Productividad del Pacifico (CPP)

Fedemetal
No.
1 |14 1 16 | 7.05%
2 | 13 1 15 | 6.61%
3 |6 14 |6.17%
3 |11 1 14 |6.17%
5 1 13 |5.73%
5 3 13 |5.73%
7 |9 1 12 |5.29%
7 | 10 1 12 |5.29%
7 | 12 12 |5.29%
CPP
10 | 2 11 | 4.85%
CPP
10 | 4 11 [4.85%
CPP
10 | 8 11 [4.85%
CPP
10 | 15 11 |4.85%
CPP
10 | 17 |TQC 1 11 | 4.85%
CPP
10 | 19 11 [4.85%
CPP
16 | 5 10 |4.41%
CPP
16 | 7 10 |4.41%
CPP
16 | 16 10 |4.41%
CPP
16 | 18 10 |4.41%
227 | 100%
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1 6 19 |6.42%
2 3 18 [6.08%
2 | 15 18 |6.08%
2 16 18 |[6.08%
5 7 17 [5.74%
5 8 17 [5.74%
7 1 16 |5.41%
7 5 16 |5.41%
7 9 11 16 |5.41%
7 18 16 |5.41%
11 | 2 15 |5.07%
11 | 4 15 |5.07%
11 | 12 15 [5.07%
14 | 10 11 14 [4.73%
14 | 13 11 14 [4.73%
14 | 17 |TQC 11 14 [4.73%
17 11 11 13 [4.39%
17 | 19 13 |4.39%
19 | 14 11 12 [4.05%
296 | 100%

236




237



7% 9%

or

238

or




6%

0%

or

6% 14%

239

or




13%

13%

4%

4%

or

10%

15%

240

12%

10%

or

or




4%

or

241

0%

2%

or




9 o% 2

or

10.

242

or




243



or

Standard Officer

O 0O N P& Ui PN P

=
=]

Standard Officer

or

KO PO N O O th LW N P

-
-

244




Department of Industrial Policy & Promotion

Ministry of Industry,

or
1 (e
2 [e)
3 (e
4 (e (e
5 (e
6 o o
7 [e)
8 [e)
9 (e
10 ° °
Ministry of Industrial Development
or
1 (e
2 (e
3 (e
4 o)
5 (e
6 (e
7 (@]
8 (o)
9 (o)
10 °
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Human Resource Development Department Pakistan Steel Mills Corporation Ltd. (H.R.D.)
Pak Swiss Training Centre (P.S.)

Heavy Mechanical Co. Ltd. (HMC)

Pakistan Industrial Technical Assistance Centre (PITAC)

Ministry of Food, Agriculture & Livestock

3|45 o
1 (e (e o (e
2 (e o (e (e (e
3 (e (e (e (e
4 (e (e (e (e
5 (e (e (e (e [e)
6 (e (e (e (e (e [e)
7 (e (e (e (e [e)
8 (e (e (e (e
9 (e (e (e (e
10 (e (e (e (e (e
Army Welfare Project (AWP)  Bhutan Agro-Industry (BAI)
Chhukha Hydro Power Co.(CHPC)  Bhutan Ferro Alloys Ltd.(BFAL)
Lhaki Cement (PVT.) Ltd.(LCL)
3|45 o
1 (e (e (e
2 (e (e (e (e
3 (e (e (e (e
4 (e (e (e [e) (e
5 (e (e (e
6 (e [e) (e
7
8 [e) [e)
9 [e) [e) [e)
10 [e) [e) [e) [e) (e
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Bangladesh Sugar & Food Industries Co.(BSFIC) Bangladesh Steel & Engg. Co. (BSEC)
Bangladesh Chemical Industries Co. (BCIC)
Bangladesh Industrial Technical Assistant Centre (BITAC)

Bangladesh Standards and Testing Institution (BSTI)

3|4ls or
1 O O O O
2 O O O O O
3 O O O O O
4 O O O O O O
5 O O O O O
6 O O O O O
7 O O O O O
8 O O O O O
9 O O O O O
10 O O O O O
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10
State Planning Organization
or
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3
4 o
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6 o
7
8 o
9
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Saline Water Conversion Corporation (SWCC)
Saudi Arabian Standards Organization (SASO)
Saudi Consolodated Elect Co.

or
1 o
2 o o
3 o o
4 o
5 o
6 o
7 o
8 o o
9 o o
10 ° °
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National Youth Service (NYS)
The Kenya Polytechnic (TKP)
Kenya Industrial Estates Limited (KIEL)

or

1 o o
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7 o
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National Society of Industries (SNI)
National Training Service for Industrial Work (SENATI)

or
1 o
2 (e [e)
3 [e) [e)
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or
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Centro de Productividad del Pacifico (CPP)

Fedemetal
1l2]3]4]|s or
1 O O O O O
2 O O O O
3 O O O O
4 O O O O O
5 O O O O
6 O O O O
7 O O O O O O
8 O O O O
9 O O O O
10 O O O O O
1l2]3|4]|5 or
1 O O O
2 O O
3 O O O
4 o 0
5 O O
6 O O O
7 O O O O
8 O O
9 O O O
10 O O O O
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